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IDENTIFICATION

PRODUCT NAME: CNDUUAO DUV11 OFLNE TMG INTR
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.REM *
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SHOULD NOT BE CONSTRUED AS A COMMITMENT BY DIGITAL EQUIPMENT CORPORATION.
DIGITAL EQUIPMENT CORPORATION ASSUMES NO RESPONSIBILITY FOR ANY ERRORS
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DIGITAL EQUIPMENT CORPORATION ASSUMES NO RESPONSIBILITY FOR THE USE OF
RELIABILITY OF ITS SOFTWARE ON EQUIPMENT THAT |S NOT SUPPLIED BY DIGITAL.



CNDUU=A MACY11 30(1046) 14-DEC=82 10:02 PAGE 57-1

CNDUUY .M

2.2

10-DEC-82 13:51

.REM
GENERAL DESCRIPTION
THIS DIAGNOSTIC CAN CHAIN 16 DUVI1'S, THIS MEANS THAT
16 DEVICES CAN BE SEQUENTIALLY EXERCISED. THE DIAGNOSTIC
MAKES ONE PA>S BEFORE PROCEEDING TO THE NEXT DEVICE,
AND CONTINUES EXERCISING ALL DEVICES IN THIS FASHION UNTIL

HALTED.

THE DUV11 OFFLINE COMBINED TIMING AND INTERRUPT TESTS

VERIFY THAT THE TRANSMITTER AND RECEIVER CAN CORRECTLY
TALK TO EACH OTHER.INTERRUPT LOGIC AND PRIORITY LEVEL

/VECTOR ADDRESSES ARE ALSO VERIFIED

REQUIREMENTS

PDP=11/21 COMPUTER (LSI)

DUV11 SYNCRONOUS/ISOCRONOUS OPTION

ONE CONSOLE TELETYPE OR EQUIVALENT

STORAGE
THE PROGRAM LOADS INTO 4K OF MEMORY WITH BOOTSTRAP

LOADING PROCEDURE

THE STANDARD PROCEDURE FOR LOADING ABSOLUTE BINARY TAPES
IS TO BE USED.

STARTING ADDRESS
FOR ABSOLUTE LOADER

4K 017500

8K 037500

12K 057500

16K 077500

20K 117500

24K 137500

28K 157500

STARTING PROCEDURE
CONTROL SWITCH SETTINGS
NOTE: ALL SWITCHES RESIDE INTERNAL TO THE CPU AT ADDRESS

176. THESE MAY BE SET VIA THE CONSOLE TTY BY DIRECTLY
MODIFYING LOC. 176.

NOTE: RUNNING UNDER APT=11, THERE IS A USER SWITCH REGISTER
CALLED "‘SUSWR''. IN ORDER TO BE FLEXIBLE ON THE AVAILIBILITY OF THE
H315 CONNECTOR, ONE BIT PASSES STATUS TO APT=11,
BIT O _IN SUSWR REFLECTS THIS STATUS, A O = CONNECTOR

.REM

.REM

SEQ 0002
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PRESENT = CONNECTOR NOT AVAILIBLE
THE USER annc S THE CONTENTS OF THIS
WHEN BUILDING THE E TABLE, BY ANSWERIN

EOCATION
PROMPT ‘‘SWITCH 2".

THE

&.1.1  AFTER PROGRAM LOAD (INITIAL PROGRAM START)
ALL CONSOLE SWITCHES DOWN

4&.1.2 TO MODIFY DEVICE VECTOR AND CONTROL REGISTER ADDRESSES
AFTER PROGRAM RESTART OR TO RUN MULTIPLE DEVICES

SW09=1
4.1.3 10 START PROGRAM AT SELECTE
cuoroq (ONY IN SINGLE DEV

&.1.4 TO LOCK ON SELECTE
(ONLY IN S

EST A

D TEST AFTER A PROGRAM RESTART
ICE TESTS)

D TEST AFTER A PROGRAM RESTART
INGLE DEVICE TESTS)

N ES

DEV
SW1é=1
NOTE1: IN GENERAL SW01 WILL BE USED WHEN SW14=1 |
NOTE2: WITHOUT SWO1=1  "LOCK ON TEST'' WILL DEFAUL
4.2 STARTING ADDRESS
THE STARTING ADDRESS FOR ALL TESTS IS 000200
THE RETARTING ADDRESS FOR ALL TESTS IS 000200
THE STARTING ADDRESS TO ENTER A SELECTED TEST IS 000200
THE STARTING ADDRESS TO LOCK ON TEST IS 000200
4.3 PROGRAM AND/OR OPERATOR ACTION
4.3.1 INITIAL PROGRAM START
4.3.1.1 LOAD PROGRAM INTO MEMORY WITH ABSOLUTE LOADER
4£.3.1.2 SET SWITCH REGISTER (LOC. 176) TO ZERO.
4.3.1.3 TYPE 2006.

4.3.1.4 PROGRAM WILL START.

S USED
T 10 TEST 1

+REM .
4&.3.1.5 THE PROGRAM WILL TYPE ‘‘DUV11 CNDUU=-A TAPE E'' (ONCE ONLY)

.REM .
4.3.1.,6 THE PROGRAM WILL TYPE ''R'* TO INDICATE THAT [T IS ABOUT
TO START TESTING ,AND THEN TESTING WILL BEGIN
4.3.2 PROGRAM RESTART WITH ALL SWITCHES DOWN

4.3.2.1 THE PROGRAM WILL TYPE "'R'* AND WILL COMMENCE TESTING
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4.3.3 PROGRAM RESTART WITH SW00=1
4.3.3.1 SET SWITCH REGISTER (LOC. 176) TO A 000001.
&£.3.3.2 TYPE 2006.
4.3.3.3 PROGRAM WILL START,

4.3.3.64 THE PROGRAM WILL TYPE '* 1ST DEVICE: RECEIVER CONTROL REGISTER
ADDRESS'' AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBOARD
4.3.3.5 TYPE IN THE ADDRESS OF THE FIRST RECEIVER CONTROL
REGISTER ADDRESS OF THE DUV11 TO BE TESTED

FOLLOWED BY A <CARRIAGE RETURN>
IF AN INCORRECT ADDRESS IS TYPED THE PROGRAM WILL TYPE 2"
AND WILL THEN REPEAT THE MESSAGE OF 4.3.3.4

4.3.3.6 THE PROGRAM WILL TYPE ''VECTOR ADDRESS="' AND WAIT FOR AN
INPUT FROM THE TELETYPE KEYBOARD

4.3.3.7 TYPE_IN THE BASE RECEIVER INTERRUPT VECTOR ADDRESS
FOR THE DUV11 TO BE TESTED FOLLOWED BY A <CARRIAGE RETURN>
IF AN INCORRECT ADDRESS IS TYPED ,THE PROGRAM WILL TYPE '
AND WILL THEN REPEAT THE MESSAGE OF 4.3.3.6

4.3.3.8 THE PROGRAM WILL TYPE ‘‘ARE YOU RUNNING MULTIPLE DEVICES ?'
(Y OR N)="" AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBOARD

4.3.3.9 TYPE IN THE APPROPRIATE ANSWER YES OR NO FOLLOWED BY A
<CARRIAGE RETURN>

IF AN INCORRECT ANSWER IS GIVEN, THE PROGRAM WILL TYPE ‘2"
AND WILL THEN REPEAT THE MESSAGE OF 4.3.3.8

IF A *NO"' ANSWER IS GIVEN: JUMP TO SECTION 4.3.3.12
IF A "'YES'' ANSWER IS GIVEN:THE NEXT QUESTION IS ASKED
4£.3.3.10 THE PROGRAM WILL TYPE ''LAST DEVICE:RECEIVER CONTROL
REGISTER ADDRESS='' AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBOARD
6.3.3.1 TYPE IN THE ADDRESS OF THE LAST RECEIVER CONTROL REGISTER
ADDRESS OF THE DUV11 TO BE TESTED FOLLOWED BY A <CARRIAGE RETURN>

IF AN INCORRECT ANSWER IS TYPED ,THE PROGRAM WILL TYPE ''?*
AND WILL THEN REPEAT THE MESSAGE OFf 4.3.3.10
NOTE:ALL ADDRESSES SHALL BE CONTIGUOUS

6.3.3.111 IF AN *'OUT OF RANGE'' ADDRESS IS TYPED
IE. MORE THAN 16 (10) DEVICES AWAY (UPWARDS).....THE
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PROGRAM WILL TYPE ''OUT OF RANGE:RETYPE LAST DEVICE RXCSR ADDRESS-''
AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBOARD
E IN

4£,.3.3.11.2 TYP THE ADDRESS OF THE LAST RECEIVER CONTROL
REGISTER ADDRESS OF THE DUV11 TO BE TESTED FOLLOWED
BY A <CARRJAGE RETURN>

IF_ AN INCORRECT ANSWER IS TYPED ,THE PROGRAM wILL TYPE *'?*'
AND WILL REPEAT THE MESSAGE OF 4.3.3.11.1

IF A DEVICE ADDRESS LOWER THAN 1ST
«s2+5CHOOLS OUT.........THERE IS NO
THE PROGRAM WILL DEFAULT TO TWO DEV E (UPWARDS FROM
1ST DEVICE ADDRESS).THE SAME APPLIE ICAL ADDRESSES
TYPED FOR FIRST AND LAST DEVICE.

OBSERVE LOCATION @ ACTREG: SEE SECTION 7.2

6£.3.3.12 THE PROGRAM WILL TYPE ''# OF SYNC CHARS
SELECTED (1 OR 2)-'' AND WAIT FOR AN INPUT FROM THE TELETYPE
§S}$gaRg REFER TO MANUAL FOR PROPER SWITCH SETTINGS OF

6£.3.3.13

DRESS IS TYPED.veeeesnene
SN FOR THIS.
T

Ne= O

5§54
TYPE IN THE APPROPRIATE ANSWER '"1'' OR "'2'' FOLLOWED

BY A <CARRIAGE RETURN>.(NOTE:ALL MULTIPLE DEVICES MUST
BE THE SAME)

IF AN INCORRECT ANSWER IS TYPED ,THE PR
AND WILL REPEAT THE MESSAGE OF 4.3.3.12
S S

P
1
4.3.3.14 THE PROGRAM WILL TYPE ' IS SEC XMIT SWITCH E55-2 ON? (Y OR N)="'
AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBOARD

4.3.3.15 TYPE IN THE APPROPRIATE ANSWER YES OR NO FOLLOWED
BY A <CARRIAGE RETURN>,(NOTE THAT ALL MULTIPLE DEVICES
MUST BE THE SAME)

OGRAM WILL TYPE '

IF AN INCORRECT ANSWER IS TYPED ,THE PROGRAM WILL TYPE '*2*'
AND WILL REPEAT THE MESSAGE OF 4.3.3.14
EC R
T

4.3.3.16 THE PROGRAM WILL TYPE *'IS SEC
(Y OR N)='" AND WAIT FOR AN INPUT FROM

4.3.3.17 TYPE IN THE APPROPRIATE ANSWER
BY A <CARRIAGE RETURN>. (NOTE: ALL MUL

55=3 ON?
KEYBOARD

OLLOWED

ES MUST BE THE SAME)

EC SWIT
HE TELE
YES OR
TIPLE

E
PE
F
PL C

CH
TY
NO
DEVI

IF AN INCORRECT ANSWER IS TYPED ,THE PROGRAM WILL TYPE *'?*'
AND WILL REPEAT THE MESSAGE OF 4.3.3.16

6«.35.3.18 THE PROGRAM WILL TYPE ''IS OPT CLR ENABLE SWITCH
ES55=1 ON? (Y OR N)='" AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBOARD
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6.3.3.19 TYPE IN THE APPROPRIATE ANSWER YES OR NO FOLLOWED

BY A <CARRIAGE RETURN>. (NOTE: ALL MULTIPLE DEVICES MUST BE THE SAME)

IF_AN INCORRECT ANSWER IS TYPED ,THE PROGRAM WILL TYPE *"?"'
AND WILL REPEAT THE MESSAGE OF 4.3.3.18

4.3.3.20 THE PROGRAM WILL TYPE ''ARE YOU RUNNING IN MAINT,
MCDE EXTERNAL ? AND ......DO YOU HAVE THE EXTERNAL MIDZIM
BYPASS JUMPER CONNECTOR ON ? (Y OR N)='' AND WAIT FOR AN

INPUT FROM THE TELETYPE KEYBOARD
6.3.3.21 TYPE IN THE APPROPRIATE ANSWER YES OR NO FOLLCWED BY
A <CARRIAGE RETURN>, (NOTE: ALL MULTIPLE DEVICES MUST BE THE SAME)
IF AN INCORRECT ANSWER IS TYPED ,THE PROGRAM WILL TYPE '"?"
AND WILL REPEAT THE MESSAGE OF 4.3.3.20

6.3.3,22 THE PROGRAM WILL TYPE ''R"' TO INDICATE THAT IT
HAS STARTED AND WILL COMMENCE TESTING AT TEST 1

4.3.4 PROGRAM RESTART WITH SW01=1

NOTE: THIS WILL ONLY WORK WHEN A SINGLE DEVICE IS SELECTED

IT WILL NOT WORK IF MULTIPLE DEVICES ARE SELECTED

IF MULTIPLE DEVICES WERE PREVIOUSLY SELECTED,LOAD 000200,

AND ZELECT SW00=1 AND ANSWER ‘‘NO'' TO THE MULTIPLE DEVICE QUESTION

SEE &

* 4.3.4.1 SET SW0O1=1 IN SWITCH REG (LOC. 176)
4.3.4.2 TYPE 200G.
4.3.4.3 PROGRAM WILL START.

4&.3.4.4 THE PROGRAM WILL TYPE '‘TEST PC~-'' AND WAIT FOR AN INPUT FROM
THE TELETYPE KEYBOARD

4.3.4.5 TYPE IN THE ADDRESS OF THE TEST AT WHICH THE PROGRAM IS TO
BE STARTED FOLLOWED BY A <CARRIAGE RETURN>

4.3.64.6 THE PROGRAM WILL TYPE ''R'' TO INDICATE THAT IT HAS STARTED
TESTING AT THE SELECTED TEST

NOTE: CARE MUST BE TAKEN WHEN THIS FEATURE IS USED
SINCE THERE IS NO pncrecvxon AGAINST SELECTING AN ADDRESS
THAT IS IN THE MIDDLE OF A TEST
4$.3.5 PROGRAM RESTART WITH SW14 =1
NOTE: THIS WILL ONLY WORK WHEN A SINGLE DEVICE 1S SELECTED
SEE NOTE IN 4.3.4 FOR MORE DETAILS
$.3.5.1 SET SW14=1 IN SWITCH REG. (LOC. 176)

6.3.5.2 TYPE 2006,
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4.3.5.3 PROGRAM WILL START,

4.3.5.4 THE PROGRAM WILL TYPE "'LOCK ON SELECTED TEST ? (Y OR N)="'
AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBOARD
4.3.5.5 TYPE IN THE APPROPRIATE ANSWER YES OR NO FOLLOWED BY A

<CARRIAGE RETURN>

IF A_NO ANSWER IS GIVEN: THIS LOCK ON TEST WILL BE IGNOR
AND THE PROGRAM WILL TYPE ''R'' TO INDICATE THAT IT HAS ST
TESTING AT TEST 1

4.3.5.6 IF A YES ANSWER WAS GIVEN:THE PROGRAM WILL ACT AS FOLL
THE PROGRAM WILL TYPE ‘'R'' TO INDICATE THAT IT HAS STAR
TESTING AT TEST 1 AND WILL REMAIN IN TEST 1 UNTIL HALTED
OR IF_ANY KEY IS STRUCK ON THE TELETYPE ,THE PROGRAM
WILL FREEZE ON THE NEXT TEST UNTIL A KEY IS STRUCK ON
THE TELETYPE AND SO FORTH THRU THE PROGRAM. IF SWG1 =1
WILL PERFORM AS IN SECTION 4.3.4 ALLOWING ONE TO FREEZE
ON A SELECTED TEST RATHER THAN DEFAULTING TO TEST 1

CPERATING PROCEDURE

OPERATIONAL SWITCH SETTINGS (INTERNAL TO THE CPU, ACCESSED VIA LOC. 176).

SWw15 =1 HALT ON ERROR

SWi4 =1 LOOP ON CURRENT TEST

SW13 =1 INHIBIT ERROR TYPEOUT

SW11l =1 INHIBIT ITERATIONS

SWi0 =1 ESCAPE TO NEXT TEST ON ERROR

SW09 =1 LOOP ON ERROR

SWo1 =1 RESTART PROGRAM AT SELECTED TEST

SW00 =1 RESELECT VECTOR AND CONTROL REGISTER ADRESSES
EPARAMETERS AFTER A PROGRAM RESTART

TO INHIBIT "'END OF PASS'' TYPEOUT = TURN TELETYPE OFF

ERRORS

ERROR HALTS (UNDER
THERE ARE FOUR DIS

PC+2 = ERROR PC
WHERE PC +2 IS THE ADDRESS OF THE CALL TO THE ERROR HANDLER +2

REFER TO THE ABOVE '‘HLT'* IN DIAGNOSTIC FOR ERROR DESCRIPTION

CHECK ADDRESS @ RXCSR: TO LOCATE THE DEVICE PRFSENTLY UNDER
TEST WHEN RUNNING MULTIPLE DEVICES

PC +2 = REGISTER_ERROR PC
REGISTER EXPECTED ACTUAL
16XXXX YYYYYY 122111

WHERE 16XXXX 1S THE ADDRESS OF THE FAILING DEVICE REGISTER

LSl
TINCT ERROR TYPEOUTS

ALL HALT ERRORS RETURN CONTROL TO 0.D.T.)

SEQ 0007
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6.2
6.2.1

6.2.2

6.2.3

6.2.4

6.3
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WHERE YYYYYY IS THE EXPECTED CONTENTS OF THAT REGISTER
WHERE 777777 IS THE ACTUAL CONTENTS OF THAT REGISTER

PC 42 = RECEIVER_ERROR PC
REGISTER EXPECTED ACTUAL
16XXXX YYYYYY 111111

WHERE 16XXXX IS THE ADDRESS OF THE FAILING RECEIVER (RXDBUF) REGISTER
WHERE YYYYYY IS THE EXPECTED DATA CONTENTS OF THAT REGISTER
WHERE 2272777 IS THE ACTUAL DATA CONTENTS OF THAT REGISTER

PC +2 = TRANSMITTER ERROR P(
REGISTER EXPECTED ACTUAL
16XXXX YYYYYY 121111

WHERE 16XXXX IS THE-ADDRESS OF THE FAILING TRANSMITTER (TXCSR) REGISTER
WHERE YYYYYY IS THE EXPECTED CONTENTS OF THAT REGISTER
WHERE 272717 IS THE ACTUAL CONTENTS OF THAT REGISTER

ERROR DESCRIPTIONS
SEE LISTINGS FOR DETAILS OF ERRORS

ERROR RECOVERY

SWw15 =0
IF THE PROGRAM IS RUN WITH SW15 =0 ,NO OPERATOR ACTION IS
REQUIRED TO CONTINUE TESTING

SW15 =1

IF_THE PROGRAM IS RUN WITH SW15 =1 ,T0 CONTINUE TESTING
AFTER THE PROGRAM HAS HALTED ,PRESS THE PROCESSOR
CONSOLE ‘'CONTINUE SWITCH"

NOTE: THE PC + 2 OF THE "‘HLT'' WILL BE DISPLAYED IN THE DATA LIGHTS

ILLEGAL INTERRUPTS

IF AN INTERRUPT OCCURS TO A VECTOR ADDRESS NOT SELECTED
DURING PROGRAM INITIALIZATION, THE PROGRAM WILL HALT IN
THE TRAPCATCHER, THE ADDRESS AT WHICH THE PROGRAM
HALTS IS 2 GREATER THAN THE ADDRESS TO WHICH THE INTERRUPT
OCCURED. THE PROGRAM MUST BE RESTARTED AT 000200 TO

RECOVER FROM THIS ERROR.
ADDITIONAL TROUBLESHOOTING AIDS ERRCNT: & PASCNT:

CHECK THESE TWO TAG LOCATIONS FOR TOTAL # OF ERRORS AND PASSES RESPECTIVELY.

LOADING 000200 AND RESTARTING WILL CLEAR THESE LOCATIONS.

D OF PASS ROUTINE
l? TYPEQUT IS MENTIONED HERE 3R CONVENIENCE

EN
TH
IT IS IN THE FORM:

SEQ 0008
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END OF PASS TAPE Y
16xxxx = DEVICE
WHERE Y IS THE TAPE LOADED
WHERE 16XXXX IS THE DEVICE'S BASE REGISTER ADDRESS
TO INHIBIT THIS TYPEOUT = TURN TELETYPE OFF
7. RESTRICTIONS
7.1 MULTIPLE DEVICES
UP TO 16(10) DEVICES MAY BE TESTED. HOWEVER, THEY
MUST HAVE CONTIGUOUS ADDRESSES AND VECTORS
NOTE: IF ALL DEVICES UNDER TEST HAVE THE SAME INTERRUPT VECTOR
YOU CAN CHANGE °‘‘ZERO: ADD  #10,BASEIV sNEXT BLOCK
(VECTORS)'' TO '‘ZERO:  ADD #0,BASEIV";

THEREBY THE VECTOR ADDRESSES WILL NOT BE
UPDATED AFTER EACH PASS.

Ted DISQUALIFYING DEVICES WHEN RUNNING MULTIPLE DEVICES
WHEN RUNNING MULTIFLE DEVICES AN ACTIVE BIT IS SET
FOR EACH DEVICE RUNNING UNDER TEST IE. BIT O FOR

DEVICE O ,BIT 15 FOR DEVICE 15
TO DISQUALIFY DEVICES:

7.2.1 IF DEVICE O IS TO BE DISQUALIFIED ,SIMPLY RESTART
PROGRAM WITH SWOO =1 AND OMIT THE FIRST DEVICE.

7.2.2 IF HOWEVER, DEVICES 1 THRU 15 OR ANY COMBINATION THEREOF
ARE TO BE DISQUALIFIED....LOAD THE LOCATION OF ACTREG:
OBSERVE THE ACTIVE BITS (ACTIVE =1, NONACTIVE = 0)

AND DEPOSIT O WHERE THOSE DEVICES ARE TO BE DISQUALIFIED

7.2.2.1 TO RESTART...TYPE 2006...
THE PROGRAM WILL CONTINUE WITH THE DEVICE IT WAS IN BEFORE HALTING.

7.2.2.2 vevsessOR .....SET SWO0=1 IN SWITCH REG (LOC. 176) AND TYPE 2006G....
ANSWER THE QUESTION :1ST DEVICE : ETC.ueesosaens
. ' ....THE PROGRAM WILL CONTINUE WITH DEVICE 0

7.2.2.3 IF ALL DEVICES ARE DISQUALIFIED BY MISTAKE _ THE PROGRAM
WILL TYPEOUT AN ERROR MESSAGE.......TYPE 2006.

7.3 CABLE DELAYS
NOTE: EXTERNAL LOOP BACK TESTS ONLY (MODEM CABLE WITH H315 CONNECTOR ON)

7.3.1 10 PROVIDE SUFFICIENT DELAY FOR CLOCK SIGNAL OVER THE CABLE,
LOCATION ""HOLD:"" MUST BE MCDIFIED TO ACCOMODATE FOR FASTER MACHINES.
PRESENTLY *'HOLD:'* =20 IS SUFFICIENT TIME ON AN 11/21 MACHINE.
BASICALLY DON'T TRY TO EXCEED 10K TO 12K RATE USING THE EiA DRIVERS

7.4 TO USE THE "'XOR'* TESTER ,THE BRANCH AROUND THE "‘XOR

D
T
H
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CODE MUST BE PATCHED TO A ''NOP'', (SEE LISTINGS FOR DETAILS)

DEFAULT PARAMETERS:
1ST DEVICE: RECEIVER CONTROL REGISTER ADDRESS= RXCSR: 174300

VECTOR ADDRESS- DURIV: 330
ARE YOU RUNNING MULTIPLE DEVICES ?= NO MULTD: 0
LAST DEVICE: RECEIVER CONTROL REGISTER ADDRESS= LASTADD: 0
# OF SYNC CHARS SE_ECTED - 2 SYNCNO: 377

IS SEC XMIT SWITCH E55-2 ON?- YES SEXMIT: 377

IS SEC REC SWITCH E55-3 ON?- YES SEREC: 377

IS OPT CLR ENABLE SWITCH E55-=1 ON?- YES OPTCLR: 377

DO YOU HAVE THE_EXTERNAL MODEM BYPASS JUMPER
CONNECTOR ON (H315)= YES JMRBY: 377

PROGRAM DESCRIPTION

FLOW CHARTS: RECEIVER FLOW,TRANSMITTER FLOW,TRANSMITTER & RECEIVER FLOW

REVISION HISTORY

gggggg;oglAGNOSTlc WAS MODIFIED TO WORK IN 11/21 SBC-
PRIORITY 340 WAS CHANGED TO 300 WHEREVER ENCOUNTERED.
DEFAULT CSR AND VECTOR ADDRESSES WERE CHANGED.

VECTOR 140 WAS INITIALIZED TO ODT ADDRESS AND ALSO
BEVNT HANDLED WITH A MESSAGE.

DIAGNOSTIC WAS RENAMED TO CNDUUAO.

LISTINGS

THIS PROGRAM PERFORMS THE OFFLINE COMBINED (TRANSMITTER & RECEIVER)
TIMING & INTERRUPT TESTING OF THE DEVICE
SEE LISTING FOR DETAILS

SEQ 0010
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6489
6583
6584
6585
6596
6610 ’
6611
6612
6673
6674
6879
7007
7??? .SBTTL APT COMMUNICATIONS ROUTINE
(2) AR N A R R AR R P R R RN AR R A RN RN AN N RIR RO RRRRRS
(1) 000000 112767 000001 000236 $ATY1: MOVB  #1 L$FFLG ::T0 REPORT FATAL ERROR
(1) 000006 112767 000001 000226 S$ATY3: MOVB  #1,SMFLG ::T0 TYPE A MESSAGE
(1) 000014 000403 BR $ATYC
(1) 000016 112767 000001 000220 $ATY4: MOVB  #1,$FFLG ::T0 ONLY REPORT FATAL ERROR
(1) 000024 SATYC:
(3) 000024 010046 MOV RO,=(SP) ::PUSH RO ON STACK
(3) 000026 010146 MOV R1,=(SP) ::PUSH R1 ON STACK
(1) 000030 105767 000206 TSTB  SMFLG :;SHOULD TYPE A MESSAGE?
(1) 00003¢ 001450 BEQ 5¢ ::1F NOT: BR
(1) 000036 122767 000001 001502 CMPB  XAPTENV,SENV ..OPERATING UNDER APT?
(1) 000044 001031 BNE 3 :IF NOT: BR
(1) 000046 132767 000100 001473 BITB  HAPTSPOOL,SENVM ..SHOULD SPOOL MESSAGES?
(1) 000054 001425 BEQ 3$ :IF NOT: BR
(1) 000056 017600 000004 MOV a4 (SP) ,RO ::GET MESSAGE ADDR.
(1) 000062 062766 000002 000004 ADD #2,4(SP) : :BUMP RETURN ADDR,
(1) 000070 005767 001432 1%: ST SHSG!YPE ::SEE IF DONE W/ LAST XMISSION?
(1) 000074 001375 BNE 1% S:1F NOT: WAIT
(1) 000076 010067 001440 MOV RO, $MSGAD
(1) ::PUT ADDR IN MAILBOX
(1) 000102 105720 2%: 1518 (RO) + ;:FIND END OF MESSAGE
(1) 000104 001376 BNE 2%
(1) 000106 166700 001430 SUB snssno RO ::SUB START OF MESSAGE
(i) 000112 006200 ASR ::GET MESSAGE LNGTH IN WORDS
(1) 000114 010067 001424 MOV ac ,SMSGLGT ::PUT LENGTH IN MAILBOX
(1) 000120 012767 000004 001400 MOV #4. SMSGTYPE S:TELL APT TO TAKE MSG.
(1) 000126 000413 BR 5¢°
(i) 000130 017667 000004 000016 3%: MOV 34 (SP) , 4% :;PUT MSG ADDR IN JSR L INKAGE
(1) 000136 062766 000002 000004 ADD #2,4(SF) :BUMP RETURN ADDRESS
(3) 000144 016746 177626 MOV 179776, =(SP) ::PUSH 199776 ON STACK
(1) 000150 004767 012736 JSR PC,$TYPE S:CALL TYPE MACRO
(1) 000154 000000 4$: WORD O
(1) 000156 5:
(1) 000156 105767 000062 108: TSTB  SFFLG ::SHOULD REPORT FATAL ERROR?
(1) 000162 001416 BEQ 12% :IF NOT: BR
(1) 000164 005767 001356 ST SENV ..nunnnuc UNDER APT?
(1) 000170 001413 BEQ 12% F NOT: BR
(1) 000172 005767 001330 11%: ST $MSGTYPE ..rlnxsuso LAST MESSAGE?
(1) 000176 001375 BNE 1% F NOT: WAIT
(1) 000200 017667 000004 001322 MOV 34(SP) ,SFATAL  ::GET ERROR #
(1) 000206 062766 000002 000004 ADD #2,4(SP) :BUMP RETURN ADDR.
(1) 000214 005267 001306 INC $MSGTYPE ssTELL APt 10 TAKE ERROR
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CNDUUA.M11 29-0(CT-82 13:27 APT COMMUNICATIONS ROUTINE SEQ 0014
8144 JLIST  ME
8145 CNLIST MC,MD,CND
8147 "ENABLE ABS
8148 000246 PRGFRT “/DUV11 CNDUU=A TAPE E /,*/CNDUU=A/,*/END OF PASS TAPE E/
{1; 000246 SHEADER */1977/.<DUV11 CNDUU=-A rAPE >,<CNDUU=A>,<END OF PASS TAPE E>
(5) :DUV11 CNDUU=A TAPE E
g%g SCOPYRIGHT 1977, DIGITAL EQUIPMENT CORP., MAYNARD, MASS. 01754
(2) ;STARTING PROCEDURE
(2) STYPE 2006 B
(%) ‘PROGRAM WILL TYPE 'DUV11 CNDUU-A TAPE E
(2) *PROGRAM WILL TYPE *R™ T0 INDICATE THAT TESTING WAS STARTED
(2) AT THE END OF A PASS, PROGRAM WILL TYPE "END OF PASS TAPE E'
gg; SAND THEN RESUME TESTING
(2) JTITLE CNDUU=-A
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g ; ;TRAP CATCHER FOR ILLEGAL INTERRUPTS.
(2) 000000 .=0

(3) 000000 000002 .42
(3) 000002 000000 HA%T
(3) 000004 000006 .t
(3) 000006 000000 HALT
(3) 000010 000012 . +2
(3) 000012 000000 HALT
(3) 000014 000016 .+
(3) 000016 000000 HALT
(g) 000020 000022 .42
(3) 000022 000900 HALT
(3) 000024 000026 .+
(3) 000026 000000 HALT
(3) 000030 000032 .42
(3) 000032 000000 HALT
(3) 000034 000036 .+
(3) 000036 000000 HALT
(3) 000040 000042 .42
(3) 000042 000000 HALT
(3) 000044 000046 .+
(3) 000046 000000 HALT
(3) 000050 000052 .42
(3) 000052 000000 HALT
(3) 000054 000056 .+
(3) 000056 000000 HALT
(3) 000060 000062 . +2
(3) 000062 000000 HALT
(3) 000064 000066 .+
(3) 000066 000000 HALT
(3) 000070 000072 .+
(3) 000072 000000 HALT
(3) 00007&¢ 000076 .42
(3) 000076 000000 HALT
(3) 000100 000102 .+
(3) 000102 000000 HALT
(3) 000104 000106 . 42
(3) 000106 000000 HALT
(3) 000110 000112 .42
(3) 000112 000000 HALT
(3) 000114 000116 . 42
(3) 000116 000000 HALT
(3) 000120 000122 .+
(3) 000122 000000 HALT
(3) .000124 000126 . 42
(3) 000126 000000 HALT
(3) 000130 000132 .+
(3) 000132 000000 HALT
(3) 000134 000136 .42
(3) 000136 000000 HALT
(3) 000140 000142 .+
(3) 000142 000000 HALT
(3) 000144 000146 .42
(3) 000146 000000 HALT
(3) 000150 000152 .+2
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(3) 0001§2 000000 HA5T
(3) 000154 000156 o4
(3) 000156 00000 uAgt
(3) 000160 00016 .
(3) 000162 00000 HA%T
(3) 000164 000166 ot
(3) 000166 000000 HA&T
(%) 000170 000178 s®
(3) 000172 00000 HALT
(3) 0001764 000176 2
(3) 000176 000000 HALT
(i) 000200 000202 R
(3) 000202 000900 HALT
(3) 000204 000206 42
(3) 000206 000000 HALT
(3) 000210 000212 R
(3) 000212 000000 HALT
(3) 00021& 000216 .4+
(3) 000216 000000 HALT
(3) 000220 000222 .42
(3) 000222 000000 HALT
(3) 000224 000226 +
(3) 000226 000000 HALT
(3) 000230 000232 .t
(3) 000232 000000 HALT
(3) 000234 000236 .t
(3) 000236 000000 HALT
(3) 000240 000242 .42
(3) 000242 000000 HALT
(3) 000244 000246 .42
(3) 000246 000000 HALT
(3) 000250 000252 g ®
(3) 000252 000000 HALT
(3) 000254 000256 .t
(3) 000256 000000 HALT
(3) 000260 000262 .
(3) 000262 000000 HALT
(3) 0002 000266 ot
(3) 000266 000000 HALT
(3) 000270 000272 RY.
(3) 000272 000000 HALT
(3) 000274 000276 .
(3) 000276 000000 HALT
(3) 000300 000302 +
(3) 000302 000000 HALT
(3) 0003 000306 +
(3) 000306 000000 HALT
(3) 000310 000312 +
(3) 000312 000000 HALT
(3) 000;14 000316 =
(3) 000316 000000 HALT
(3) 000320 000322 .t
(3) 000322 000000 HALT
(3) 000324 000326 +
(3) 000326 000000 HALT
(3) 000330 000332 Y,
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(3) 000332 000000 HALT
(g) 000 g« oooggs .05
(3) 000336 000?0 HA&T
(g) 000340 00034 "
(3) 000342 00000 HAsr
(3) 000344 000346 ot
(3) 000346 ooogog HA%I
(3) 000350 00035 o
(3) 000352 000000 HALT
(3) 000354 000356 ot
(3) 000356 000000 HALT
(3) 000360 000368 +2
(3) 000362 00000 HALT
(3) 000364 000366 42
(3) 000366 000000 HALT
(3) 000370 000372 . +2
(3) 000372 000000 HALT
(3) 000374 000376 .4
(3) 000376 000000 HALT
(3) 000400 000402 .+2
(3) 000402 000000 HALT
(3) 000404 000406 .+2
(3) 000406 000000 HALT
(3) 000410 000412 . *2
(3) 000412 000000 HALT
(3) 000414 000416 .42
(3) 000416 000000 HALT
(3) 000420 000422 .42
(3) 000422 000000 HALT
(3) 000424 000426 R
(3) 000000 HALT
(3) 000430 000432 Y
(3) 000432 000000 HALT
(3) 000434 000436 .42
(3) 000436 000000 HALT
(3) 000440 000442 .42
(3) 000442 000000 HALT
(3) 000444 000446 .42
(3) 000446 000000 HALT
(3) 000450 000452 .42
(3) 000452 000000 HALT
(3) 000454 000456 .42
(3) 000456 000000 HALT
(3) 000460 000462 .42
(3) 000462 000000 HALT
(3) 000464 000466 .+2
(3) 000466 000000 HALT
(3) 000470 000472 Ry
(3) 000472 000000 HALT
(3) 000474 000476 .2
(3) 000476 000000 HALT
(3) 000500 000502 w8
(3) 000502 000000 HALT
(3) 000504 000506 .t
(3) 000506 000000 HALT
(3) 000510 000512 .42
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(3) 000512 000000 HA%T
(3) 000514 000516 s ®
(3) 000516 000000 HA%T
(3) 000520 000528 .t
(3) 000522 00000 HA%T
(g) 000524 000526 .+
(3) 000526 060000 HALT
(3) 000530 000532 .+
(3) 000532 000000 HALT
(3) 000534 000536 .t
(3) 000536 000000 HALT
(3) 000540 000542 .42
(3) 000542 0009200 HALT
(3) 000544 000546 Ry
(3) 000546 000000 HALT
(3) 000550 000552 .+
(3) 000552 000000 HALT
(3) 000554 000556 .42
(3) 000556 000000 HALT
(3) 000560 000562 42
(3) 900562 000000 HALT
(3) 000564 000566 42
(3) 000566 000000 HALT
(3) 000570 000572 .2
(3) 000572 000000 HALT
(3) 000574 000576 .42
(3) 000576 000000 HALT
(3) 000600 000602 .42
(3) 000602 000000 HALT
(3) 000604 000606 .42
(3) 000606 000000 HALT
(3) 000610 000612 .*2
(3) 000612 000000 HALT
(3) 000614 000616 42
(3) 000616 000000 HALT
(3) 000620 000622 42
(3) 000622 000000 HALT
(3) 000624 000626 .+2
(3) 000626 000000 HALT
(3) 000630 000632 .42
(3) 000632 000000 HALT
(3) 00063& 000636 .42
(3) 000636 000000 HALT
(3) 000640 000642 Ry
(3) 000642 000000 HALT
(3) 000644 000646 .42
(3) 000646 000000 HALT
(3) 000650 000652 Ry
(3) 000652 000000 HALT
(3) 000654 000656 Ry
(3) 000656 000000 HALT
(3) 000660 000662 .2
(3) 000662 000000 HALT
(3) 000664 000666 08
(3) 000666 000000 HALT
(3) 000670 000672 .42
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(3) 000672 000000 HA%T
(3) 000674 000676 .+
(3) 000676 000000 HAbT
(3) 000700 000702 .+
(3) 000702 000000 HALT
(3) 00070& 000706 XY
(3) 000706 ooooog HALT
(3) 000710 00071 X
(3) 000712 000000 HALT
(3) 000714 000716 XY,
(3) 000716 000000 HALT
(3) ooorso 000722 .+
(3) 000722 000900 HALT
(3) 000724 000726 .+
(3) 000726 000000 HALT
(3) 000730 000732 XY,
(3) 000732 000000 HALT
(3) 00073¢ 000736 42
(3) 000736 000000 HALT
(3) 000740 000742 XY
(3) 000742 000000 HALT
(3) 000744 000746 Ny
(3) 000746 000000 HALT
(3) 000750 000752 XY
(3) 000752 000000 HALT
(3) 000754 000756 XY
(3) 000756 000000 HALT
(3) 000760 000762 XY
(3) 000762 000000 HALT
(3) 000764 000766 40
(3) 000766 000000 HALT
(3) 000770 000772 42
(3) 000772 000000 HALT
(3) 000774 000776 Y
(3) 000776 000000 HALT
(1) 001000 .EQUAT
gg; .SBTTL BASIC DEFINITIONS
(2) 001 IF NB
(2) :*INITIAL ADDRESS OF THE STACK POINTER ##+ wee
@ e -
(2) :*INITIAL ADDRESS OF THE STACK POINTER %% 3100 *e+
(2) 001100 STACK= 1100
(2) 000 LENDC
(2) .EQUIV EMT,ERROR ::BASIC DEFINITION OF ERROR CALL
gg; .EQUIV 10T,SCOPE ::BASIC DEFINITION OF SCOPE CALL
(2) :*MISCELLANEOUS DEFINITIONS
(2) 000011 HT= 11 ::CODE FOR HORIZONTAL TAB
(2) 000012 LF= 1; ::CODE FOR LINE FEED
(2) 000015 (R= 1 1:CODE FOR CARRIAGE RETURN
(2) 000200 CRLF= 200 ::CODE FOR CARRIAGE RETURN=-LINE FEED \
(2) 177776 PS= 177776 : SPROCESSOR STATUS WORD
(2) .EQUIV PS,PSW
(2) 1727774 STKLMT= 172774 ::STACK LIMIT REGISTER
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(2) 177775 PIRQ= 177778 ; ;PROGRAM INTERRUPT REQUEST REGISTER
(2) 17757 DSWR= 17757 : sHARDWARE SWITCH REGISTER
(2) 177570 DDISP= 17757C : sHARDWARE DJSPLAY REGISTER
(2) I THS FOLLOWING ODT START ADDRESS FOR SBC 11/21 IS ADDED
(2) 170000 0DTST= 170000
(2) ; *GENERAL PURPOSE REGISTER DEFINITIONS
(2) 000000 = X0 s sGENERAL REGISTER
(2) 000001 R1= 3] : :GENERAL REGISTER
(2) ooooog R2= z; ; ;GENERAL REGISTER
(2) 00000 R3= 2 ; :GENERAL REGISTER
(2) 000004 Ré= 1 ; sGENERAL REGISTER
(2) 000005 RS= x5 s sGENERAL REGISTER
(2) 0009206 R6= X6 s sGENERAL REGISTER
(2) 000007 R7= ¥4 ; :GENERAL REGISTER
(2) 000006 SP= X6 +sSTACK POINTER
3%; 000007 PC= %7 : ;PROGRAM COUNTER
(2) ;*PRIORITY LEVEL DEFINITIONS
(2) 000000 = 0 ssPRIORITY LEVEL 0
(2) 000040 PR1= 40 ;:PRIORITY LEVEL 1
(2) 000100 PR2= 100 ::PRIORITY LEVEL 2
(2) 000140 PR3= 140 ;sPRIORITY LEVEL 3
(2) 000200 PRé= 200 ;:PRIORITY LEVEL &
(2) 000240 PRS= %40 ;:PRIORITY LEVEL S
(2) 000300 PR6= 00 ;:PRIORITY LEVEL 6
gg; 000340 PR7= 340 ;sPRIORITY LEVEL 7
(2) s*"'SWITCH REGISTER'' SWITCH DEFINITIONS
(2) 100000 SW15= 100000
(2) 040000 SWié= 40000
(2) 020000 SWi3= 20000
(2) 010000 SWi2= 10000
(2) 004000 SWil= 4000
(2) 002000 SW10= 2000
(2) 001000 SW09= 1000
(2) 00400 SW08= 400
(2) 00200 SW07= 200
(2) 000100 SWwo6= 100
(2) 000040 SW05= 40
(2) 000020 SWo4= 20
(2) 000010 SWw03= 10
(2) 000004 SWwi2= &
(2) 000002 SWo1l= 2
(2) 000001 SW00= 1
(2) LEQUIV SW09,Sw9
(2) LEQUIV SWO08,Sw8
(2) EQUIV SW07,Sw7
(2) LEQUIV SW06,SWé
(2) LEQUIV SWO0S,SWS
(2) LEQUIV SWO04,SwWé
(2) LEQUIV Sw03,Sw3
(2) LEQUIV SWw02,Sw2
(2) LEQUIV SW01,Sw1
(2) LEQUIV SWO00,SW0
gg; 001 JF B ©
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(2) +«DATA BIT Dsrlnxtlons (BITO0 TO BIT1S)
(2) 100000 B8IT15= 100000
(2) 040000 BIT14= 40000
(2) 020000 BIT13= 20000
(2) 010000 BIT12= 10000
(%) 004000 BIT11= 4000
(2) 002000 BIT10= 2000
(2) 001000 BIT09= 1000
(2) 000400 BIT08= 400
(2) 000200 BIT07= 200
(2) 000100 BIT06= 100
(2) 000040 BIT05= 40
(2) 000920 BIT04= 20
(2) 000010 BIT03= 10
(2) 000004 BIT02= &
(2) 000002 BITO1= 2
(2) 000001 BITOO=
(2) .EQUIV B;T09,BIT9
(2) .EQUIV BITL?,BIT7
(2) .EOCiv BIT06,81T6
(2) JEQUIV BIT04.BIT4
(2) .EQUIV BIT03.BIT3
(2) .EQUIV BIT02.BIT2
(2) .EQulv BITO1,BITI
(2) .EQUIV BIT00,BITO
(2) 000 JENDC
55; 001 JAF B ©
(2) :*BASIC "'CPU'' TRAP VECTOR ADDRESSES
(2) 000004 ERRVEC= & ::TIME OUT AND OTHER ERRORS
(2) 000010 RESVEC= 10 : ;RESERVED AND ILLEGAL INSTRUCTIONS
(2) 000014 TBITVEC=14 IUTURIT
(2) 000014 TRTVEC= 14 ;s TRACE TRAP
(2) 000014 BPTVEC= 14 : :BREAKPOINT TRAP (BPT)
(2) 000020 I0TVEC= 20 : s INPUT/0UTPUT TRAP (JOT) ««SCOPE*+
(2) 000024 PWRVEC= 24 : sPOWER FAIL
(2) 000030 EMTVEC= 30 : ;EMULATOR TRAP (EMT) ~+ERROR®+
(2) 000034 TRAPVE(C=34 : :"'"TRAP'' TRAP
(2) 000060 TKVEC= 60 ::TTY KEYBOARD VECTOR
(2) 000064 TPVEC= 66 STTY PRINTER VECTOR
(2) ;eesse  THE FOLLOWING BREAK VECTOR AND LINE CLOCK VECTOR ARE INCLUDED
(2) 000100 LKVEC= 100 ;:LINE CLOCK VECTOR
(2) 000140 : BRKVEC= 140 : :BREAK VECTOR
(2) 000240 PIRQVEC=240 : PROGRAM INTERRUPT REQUEST VECTOR
(2) 000 LENDC
(1) 001000 $SETVEC
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I ; s STANDARD INTERRUPT VECTORS

(2)

(2) 000174 =174

(2) 000174 000000 DISPREG:0

(2) 000176 000000 SWREG:0

(2) 000200 .=200

2%; 000200 000167 001746 JMP +START ;GO TO START OF PROGRAM

(2)

I}I 000204 $VARIA

(2) 001100 .=1100

(2) 001100 000000 .WORD 0

2%; 001102 177570 LIGHTS:177570

3

:%; ;PROGRAM CONTROL PARAMETERS

(2) 001104 000000 RETURN: 0

(2) 001106 000000 NEXT: O ;ADDRESS OF NEXT TEST TO BE EXECUTED
(2) 001110 000000 LOCK: D ;ADDRESS FOR LOCK ON CURRENT DATA
(2) 001112 000000 PASCNT: 0 ; ADDRESS’ CONTAINING PASS COUNT

(2) 001114 000000 ERRCNT: 0 : ERROR COUNT

{%; 001116 000000 SAVSP: 0 s STACK POINTER STORAGE

Ig; :PROGRAM VARIABLES

(2) 001120 000020 HOLD: 20 : TEMPORARY STORAGE=DELAY TIME FOR CABLES
(2) 001122 000000 SHIFT: 0 : TEMPORARY STORAGE= # OF SHIFTS PER CHAR
(2) 001124 000000 COUNT: 0 ; TEMPORARY STORAGE= # OF TIMES A CHAR WILL BE SENT
(2) 001126 000000 SAVPC: 0 :PROGRAM COUNTER STORAGE

(2) 001130 000000 HLDO: 0

(2) 001132 000000 HLD1: O

(2) 001134 000000 HLD2: 0

(2) 001136 000000 HLD3: 0

(2) 001140 000000 HLD4: 0

(2) 001142 000000 HLD5: 0

ISI 001144 000000 HLD6: 0
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(2) PROGRAH onanSAtlouAL PARAME TERS
(2) 001146 §77 SYNCNO: .BYTE 7 # OF SYNC CHARS REQ'D FOR SYNC'ZATION
(2) 001147 77 SEXMIT: .BYTE 77 :SEC XMIT JUMPER ‘'IN''
(2) 001150 377 SEREC: .BYTE 77 :SEC REC JUMPER "IN’ .
(2) 001151 377 OPTCLR: .BYTE 77 :OPTIONAL JUMPER CLR °*'IN'
(2) 00115; 000 MULTD: .BYTE :NO MULTIPLE DEVICE FLAG ol
g%; 00115 377 Jgsgaz BYTE 377 ;EXTERNAL MODEM BYPASS JUMPER ''IN
(2)
(2) ;PROGRAM MULTIPLE DEVICE PARAME TERS
(2) 001154 000000 BASEADD: 0 ROG CONTROLLED 1ST DEVICE ADDR
(2) 001156 000000 KEEPADD : 0 :SAVED 1ST DEVICE ADDR
(2) 001160 000900 LASTADD : 0 ;LAST DEVICE RXCSR ADDR
(2) 001162 000000 BASEIV: 0 :PROG CONTROLLED 1V
(2) 001164 000000 KEEPIV: 0 :SAVED INTR VECTOR
(2) 001166 000000 ACTREG: 0 :ACTIVE REGISTER ,, . MODIFY THIS
(2) :LOCATION TO DISQUALIFY OR QUALIFY
(2) :DEVICES (1= RUN,,,0= DON'T RUN)
(2) 001170 000000 ROTADD: 0 :ROTATING POINTER FOR ACTREG..POINTS
gg; ;70 DEVICE PRESENTLY UNDER TEST WHEN RUNNING MULTIPLE DEVICES
55; :PROGRAM CONTROL FLAGS
(2) 001172 000 INIFLG: .BYTE 0 :PROGRAM INITIALIZATION FLAG
(2) 001173 000 STFLG: .BYTE O :TEST START FLAG
(2) 001174 000 LOKFLG: .BYTE 0 :LOCK ON CURRENT TEST FLAG
(2) 001176 .EVEN
(1) 001400 .=1400
g;; 001400 $SYMBOLS
(2)
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BASIC DEFINITIONS

s INSTRUCTION DEFINITIONS

PUSH1SP=5746 ;DECREMENT PROCESSOR STACK 1 WORD
POP1SP=5726 ; INCREMENT PROCESSOR STACK 1 WORD
PUSHRO=100406 :SAVE RO ON STACK =MOV RO,=(SP)

POPR0=12600 ‘RESTORE RO FROM STACK =MOV (SP)+,
PUSH2SP=24646  :DECREMENT STACK TWICE =CMP =(SP),
POP2SP=22626  :INCREMENT STACK TWICE =CMP (SP)+,
;REGISTER DEF INITIONS

-RXCSR BIT DEFINITIONS
DSC=BIT15 :DATA SET CHANGE
RING=BIT14 *RING
CTS=BIT13 :CLR TO SEND
CARDET=BIT12 :CARRIER DETECT
RECACT=BIT11 *REC ACTIVE
SRD=BIT10 :SEC REC DATA
DSR=BIT9 :DATA SET RDY
STPSYN=BIT8 SSTRIP SYNC
RXDONE=BIT7 :REC DONE
RINTEN=BIT6 *REC INTR ENABLE
DSINTE=BITS :DSC INTR ENABLE
SYNSCH=BI T4 :SYNC SEARCH
STD=BIT3 :SEC XMIT DATA
RTS=BIT?2 *REQ TO SEND
DTR=BIT1 :DATA TERM RDY
VOID=BITO

:RXDBUF BIT DEFINITIONS
RXERR=BIT15 :REC ERROR
OVRRUN=BIT14 *OVERRUN
FRMERR=BIT13 :FRAME ERROR
PARER=BIT12 ‘PARITY ERROR

:PARCSR BIT DEFINITIONS
PAREN=B]T9 :PARITY ENABLE :
EVPAR=B] T8 ‘EVEN PARITY SENSE

PARCSR WRD DEF INITIONS
SYNINT=30000 :SYNC EXTERNAL MODE
SYNEXT=20000 :SYNC INTERNAL MODE
1SYMOD=0 :1S0C MODE
FIVE=0 *WORD LENGTH § BITS
$1x=2000 *WORD LENGTH 6 BITS
SEVEN=-4000 *WORD LENGTH 7 BITS
EIGHT=6000 *WORD LENGTH 8 BITS
NOPAR=0 NO PARITY
ODDPAR=1000 100D PARITY
EVEPAR=1400 “EVEN PARITY

-TXCSR BI1T DEFINITIONS
DNA=BIT15 :DATA NOT AVAILABLE
MTDATA=BIT14 SMAINT DATA
CLK=BIT13 s CLK
BITW=BIT10 ‘BIT WINDOW
MRESET=BIT8 ‘MASTER RESET
TXDONE=B] 17 *XMIT DONE
TXINTE=BIT6 TXMIT INTR ENABLE

SEQ 0024
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DNAINTE=BITS :DNA INTR ENAB
: SEND

3 uox/rox

0 REAK

:TXCSR WRD DEFINlTlgNS -

D
;MAINT IN
i

CNDUU=-A MACY11_30(10
N2 CNDUUA.M11 29-0CT

OO*

SMAINT E
0 :SYSTEM
0%5...ENDTAB

[eloleleBelelel
OO0 O00O
OCOO00 O=MNs&H
OO0 =000

c

w

m

E

T MODE
T MODE
EST MODE
001400 .$C

«D— N U N
—P>OP =50

NELS ::CONTAINS ((SREGAD)+'B)
SCH1-SCH101

$CM2=3(M2+2

LIST

.ENDM  $SCMREG

.MACRO SSCMTMP A

$TMP'A: .WORD 0 :;USER DEF INED

.NLIST
SCML=S(ML+1T
LIST

.ENDM  $SCMTMP

el alarelalalalalalal il Ll oo ol L I

NN N NN NINIAININ =N NN NN
o N ! o N N N il P N b
L ad
=2
fﬂ
(]
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g ; .SBTTL COMMON TAGS
(2) 001400 STARS
(3) 001 JF B
( ) :it!l'!!tt'tltt!Qt'it"'tt't'i'ttttttittilit.i.titi..ti'i'.it'tti
(3) IFF
(3) NLIST
(%) -RcPT
(3) LLIST
(3) ::tt.tttt't"t't"tt'tttt'it'ttt'ttti't'iitt.tt.tttit.'.t'ttt.tt'
(3) NLIST
(3) .ENDR
(3) JLIST
(3) 000 JENDC
(2) :+THIS TABLE CONTAINS VARIOUS COMMON STORAGE LOCATIONS
:gg S+USED IN THE PROGRAM.
(2) 001 JIF NB .
(2) 001400 =,
(2) JIFF
(%) .=1100
(2) 000 LENDC
(2) 001400 $CMTAG: ;:START OF COMMON TAGS
(2) 001 .iF NB ENDTAB
zg; 001400 000000 il MORD O
(2) $PASS: .WORD O ::CONTAINS PASS COUNT
(2) 000 .ENDC
(2) 001402 000 $TSTNM: .BYTE 0 :;CONTAINS THE TEST NUMBER
(2) 001403 000 SERFLG: .BYTE 0 ::CONTAINS ERROR FLAG
(2) 001404 000000 $ICNT: .WORD O :CONTAINS SUBTEST ITERATION COUNT
(2) 001406 000000 SLPADR: .WORD O $CONTAINS SCOPE LOOP ADDRESS
(2) 001410 000000 SLPERR: .WORD O P CONTAINS SCOPE RETURN FOR ERRORS
(2) 001412 000000 $SERTTL: .WORD O ::CONTAINS TOTAL ERRORS DETECTED
(2) 001414 000 $ITEMB: .BYTE 0 ::CONTAINS ITEM CONTROL BYTE
(2) 001415 001 $ERMAX: .BYTE 1 ::CONTAINS MAX. ERRORS PER TEST
- (2) 001416 000000 $SERRPC: .WORD O $:CONTAINS PC OF LAST ERROR INSTRUCTION
(2) 001420 000000 $GDADR: .WORD O :3CONTAINS ADDRESS OF ‘GOOD' DATA
(2) 001422 000000 $8D 'R: .WORD O :;CONTAINS ADDRESS OF 'BAD' DATA
(2) 001424 000000 $GDDAT: .WORD O ::CONTAINS 'GOOD® DATA
(2) 001426 000000 $BDDAT: .WORD O ::CONTAINS °*BAD' DATA
(2) 001430 000000 WORD 0 : RESERVED==NOT TO BE USED
(2) 001432 000000 WORD 0
(2) 001434 000 $AUTOB: .BYTE 0 : :AUTOMATIC MODE INDICATOR
(2) 001435 000 $INTAG: .BYTE O : S INTERRUPT MODE INDICATOR
(2) 001436 000000 WORD O
(2) 001440 177570 SWR: .WORD  DSWR :;ADDRESS OF SWITCH REGISTER
(2) 001442 177570 DISPLAY: .WORD DDISP ::ADDRESS OF DISPLAY REGISTER
(2) 001444 177560 $TKS: 177560 SITTY KBD STATUS
(2) 001446 177562 $TKB: 177562 SSTTY KBD BUFFER
(2) 001450 177564 $TPS: 177564 SSTTY PRINTER STATUS REG. ADDRESS
(2) 001452 177566 $TPB: 177566 S:TTY PRINTER BUFFER REG. ADDRESS
(2) 001454 000 $NULL: .BYTE 0 *:CONTAINS NULL CHARACTER FOR FILLS
(2) 001455 002 $FILLS: .BYTE 2
(2) - CONTAINS # OF FILLER CHARACTERS REQUIRED p
(2) 001456 012 $FILLC: BYTE 12 ::INSERT FILL CHARS. AFTER A “‘LINE FEED
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000
001

000006
000
001

000000

000000

0009200
000006

000000
000001
000002

000000
000002
000104

000000
000003
000006

000000
000004
000010

000000
000005
000012

000000
000006
000014

000

001
000000
000006

000000
000001

000000
000002

000009
000003

1&-9EC-82 10:02 PAGE _62-13
3:2 COMMON TAGS

$TPFLG: .BYTE
B 6

IF

NLIST

$CM3=0

LLIST

. IFF

$CM3=6

.ENDC

.JF NE $C{M3

$REGAD: .WORD

SCH1=8

$CM2=
REPT
$$
.END
3

$REGO: .WORD

S$SCM1=8SCM1+1

$CM2=8(CM2+2
$$C

$REG1: .WORD

$CM1=SCM1+1

$CM2=8(M2+2
$8(

$REGS5: .WORD
SCM1=SCM1+1
$CM2=$(M2+2

REPT 6
SSCH;HP \$CMé

-END

SSCMTMP \S$CM4
$TMPO: .WORD
S$CML=SCM4L+1
$SSCMTMP \$CMé
$TMP1: .WORD
SCML=SCM4L+1
SSCMTMP \$CMé
$TMP2: .WORD
SCML=$CML+1
SSCMTMP \$(Mé

$CM3
\$CM1,\$CM2

\$CM1,\$CM2
0
\$CM1,\$(M2
0
\$CM1,\$CM2
0
\$CM1,\8CM2
0
38(!1.\SCH2

65(!1.\8("2

;' 'TERMINAL AVAILABLE'' FLAG (BIT<07>=0=YES)

;s CONTAINS THE ADDRESS FRCM

;sWHICH (SREGO) WAS OBTAINED

;s CONTAINS ((SREGAD)+0)

;s CONTAINS ((SREGAD)+2)

s ;CONTAINS ((SREGAD)+4)

: ;CONTAINS ((SREGAD)+6)

:sCONTAINS ((SREGAD)+10)

:sCONTAINS ((SREGAD)+12)

: sUSER DEF INED
: sUSER DEF INED

:sUSER DEF INED

SEQ 0027
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5 CNDUUA.M11 -0CT-82 COMMON TAGS SEQ 0028
(&) 001504 000000 $TMP3: .WORD O s sUSER DEFINED
(&) 000004 $CML=SCML+1
(3) 001506 $SSCMTMP \$(M&
(¢) 001506 000000 $TMP4: .WORD O s sUSER DEFINED
(%) 000005 $CML=SCM4+1
(3) 001510 SSCHTHP \$(Mé
(4) 001510 000000 $TMPS: .WORD O s sUSER DEF INED
(&) 000006 $CML=SCM4+1
(2) 000 ENDC
(2) 001 .IF NE $SWRR4000
(2) 001512 000000 $STIMES: 0 s sMAX. NUMBER OF ITERATIONS
(%) 000 +ENDC
(2) 201 .JF NE 10008$SWR
(2) 00151&¢ 000000 $ESCAPE:0 ;sESCAPE ON ERROR ADDRESS
(2) 000 ENDC
(2) 001 .JF NE 20008$SWR
g%; 001516 177885 000377 Sgsk%: LASCIZ  <207><377><377> ;;CODE FOR BELL
(2) 001522 077 $QUES: .ASCII 7%/ ssQUESTION MARK
(2) 001523 015 $CRLF: LJASCI] <15 s sCARRIAGE RETURN
(2) 001524 000012 SLF: LASCIZ <1 ssLINE FEED
(2) .J1F NE 1&.. .EVEN
(2) 001526 STARS
(3) 001 JAF B
(%) IR RN RN RN TR AT T AR NN R RN R RRARAERRR AR RACA ORI O RN RNt
(3) « JFY
(3) NLIST
(3) «REPT
(3) LIST
(%) IR R RN R R RN R AR R RPN AR RN AR AR AR RRRRARRCRR RN RN,
(3) NLIST
(3) .ENDR
(3) .LIST
(3) 000 .ENDC
(2) 001 .IF NB ENDTAB
(2) 001526 .SAPTBLS <ENDTAB>
gg; .SBTTL APT MAILBOX=-ETABLE
(3) 001526 STARS
(&) 002 .IF B
(4) ttttttttttttt'ttttntttttotttnttttttttttttttttt'ttttttttttttttt
(4) .IFF
(%) NLIST
(4) .REPT
(&) .LISI
(4) lt!ttttttttttttttttttt't'ttitttttttttttttt.tt.itttttt'tttt.tttt
(4) NLIST
(4) .ENDR
(4) LIST
(&) 001 ENDC
(3) LNLIST ME
(3) H
(3) :
(3)
(3) .11F NDF ,AMSGTY,AMSGTY=0
(3) .11F NDF ,ATESTN,ATESTN=0



CNDUU=A MACY11_30(1046) 14-DEC-B2
CNDUUA. M1 29-0CT-82 13:27

001526
001526

—~—~ i~~~ T~ S S~ S S S S S~~~ T~ T~~~ T~~~ T~~~ T~~~ T~~~ T~~~ PPN P PPN PN P
AN N N U N N N U N N AN U U N N LA N AN N N U U N U N U U N U U N N O N N N N NN N N A N N N AN N NN N N NN
wvvvvvvvvuvvvvvvvvvvvvvvvvvvvvwvvvvvvwvvvw&vvvvvvvvvvvvv

(=] le =]
o000
— b b =
WAVAWLA
NN AN
oD

000000

000000

10:02 _PAGE 62-15
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MAILBOX-ETABLE

NDF ,APASS ,APASS=0
NDF _ADEVCT,ADEVCT=0
NDF AFATAL .AFATAL=0

NDF ,AUNIT,AUNIT=0
NDF . AMSGAD , AMSGAD=0
NDF ,AMSGLG, AMSGLG=0
NDF L AENV , AENV=0
NDF . AENVM, AENVM=0
NDF ,ASWREG , ASWREG=0
NDF _AUSWR , AUSWR=0
NDF ,ACPUOP , ACPUOP
NDF _AMAMS 1 , AMAMS
NDF _AMTYP1 . AMTYP
NDF . AMADR1 . AMADR
NDF JAMAMS 2 . AMAMS
NDF CAMTYP2 . AMTYP
NDF _AMADRZ . AMADR
NDF , AMAMS 3 . AMAMS
NDF CAMTYP3 AMTYP
NDF _AMADR3  AMADR
NDF . AMAMS% . AMAMS
NDF CAMTYP4 . AMTYP
NDF . AMADR& . AMADR
NDF LAVECT1,AVEC
NDF LAVECT2.AVEC
NDF _APRIOR ,APRI
NDF . ABASE , ABASE =
NDF ,ADE VM, ADE VM=
NDF CACDW1 .ACDW1=
NDF . ACDW2 . ACDW2=
NDF ,ADDWO . ADDWO=
NDF ,ADDW1 . ADDW1=
NDF .ADDW2 . ADDW2=
NDF ,ADDW3 ., ADDW3=
NDF _ADDW& . ADDW& =
NDF _ADDWS . ADDWS=
NDF _ADDWG . ADDWb=
NDF _ADDW7 . ADDW7=
NDF _ADDWS . ADDW8=
1
1
1
1
1
1

O——
COO0O0O0O0O0OOOO0O0O000

VIS BN =000 000000O0O0O0OCOO NI =8 55 5 LWIWNIWWNININ) = — -

0noaounnu
(=lelelele )

NDF _ADDWS | ADDWS
NDF _ADDW10, ADDW
NDF _ADDW11 . ADDW
NDF - ADDW12 . ADDW
NDF _ADDW13 . ADDW
NDF _ADDW14 . ADDW
NgE.ADDU1S.ADDU

Y: .WORD  AMSGTY
L: .WORD  AFATAL

$STESTN: .WORD  ATESITN
$PASS: .WORD  APASS
$DEVCT: .WORD  ADEVCT

::APT MAILBOX
::MESSAGE TYPE CODE
;:FATAL ERROR NUMBER
::TEST NUMBER

s sPASS COUNT
:sDEVICE COUNT

SEQ 0029
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CNDUUA.M11 29-0CT-82 13:2 APT MAILBOX-ETABLE SEQ 0030
(3) 001540 000000 SUNIT: .WORD AUNIT  ;:1/0 UNIT NUMBER
(3) 001542 000000 $SMSGAD: .WORD  AMSGAD : :MESSAGE ADDRESS
<%) 001544 000000 $MSGLG: .WORD  AMSGLG ::MESSAGE LENGTH
(3) 001546 $ETABLE: SIAPT euvxaounsur TABLE
(3) 001546 000 SENV: .BYTE AENV  ::ENVIRONMENT BYTE
(3) 001547 000 SENVM: .BYTE _ AENVM
(3) ENVIRONMENT MODE BITS
(3) 001550 000000 §4GREG: . WORD ASWREG ;:APT SWITCH REGISTER
(3) 001552 000000 SUSWR: .WORD AUSWR  ::USER SWITCHES
(3) 001554 000000 scpuor .WORD ACPUOP ::CPU TYPE,OPTIONS
(3) L BITS 15=11=CPU TYPE
(3) e 11/94=81.11 /05= oz 11/20=03,11/40=04,11/45=05
(3) e 11/70=06.PD@=07,0=10
(3) e BIT 10=REAL TIME CLOCK
(3) e BIT 9=FLOATING POINT PROCESSOR
(3) v BIT B8=MEMORY MANAGE Enr
(3) 002 .IF IDN <ENDTAB>,<$CPUOP>
(3) $ETEND:
(3) CMEXIT
(3) 001 -ENDC
(3) 001556 000 $MAMS1: .BYTE  AMAMS1 ;:HIGH ADDRESS.M.S. BYTE
(3) 001557 000 $SMTYP1: .BYTE AMTYP1 ::MEM. TYPE BLKHI
(3) e MEM.TYPE BYTE == (HIGH BYTE)
(3) e 900 NSEC CORE=001
(3) e 300 NSEC BIPOLAR=002
(3) ‘o 500 NSEC MOS=003
(3) 001550 000000 $MADR1: .WORD  AMADR1 ;;HIGH ADDRESS,BLK#1 gl
(3) e MEM.LAST ADDR.=3 BYTES,THIS WORD AND LOW OF “‘TYPE'' ABOVE
(3) 002 .JF IDN <ENDTAB>,<$MADR1>
(3) SETEND:
(3) CMEXIT
(3) 001 JENDC
(3) 001562 000 SMAMS2: .BYTE  AMAMS2 ;:HIGH ADDRESS,M.S. BYTE
(3) 001563 000 SMTYP2: .BYTE AMTYPZ ::MEM.TYPE,BLK#?
(3) 001564 000000 $SMADR2: .WORD  AMADR2 ::MEM.LAST ADDRESS,BLKA?
(3 002 .IF IDN <ENDTAB>,<$MADR2>
(3) $ETEND:
(3) CMEXIT
(3) 001 -ENDC
(3) 001566 000 SMAMS3: .BYTE  AMAMS3 ;:HIGH ADDRESS,M.S.BYTE
(3) 001567 000 SMTYP3: .BYTE AMTYP3 ::MEM.TYPE,BLKA3
(3) 001570 000000 $SMADR3: .WORD AMADR3 ::MEM.LAST ADDRESS,BLKA3
(3) 002 .IF IDN <ENDTAB>,<$MADR3>
(3) $ETEND:
(3) CMEX]T
(3) 001 “ENDC
(3) 001572 000 $MAMS4: .BYTE  AMAMS4 ;:HIGH ADDRESS.M.S.BYTE
(3) 001573 000 $SMTYP4: .BYTE  AMTYP4 ::MEM.TYPE,BLK#4
(3) 001574 000000 $MADRG: .WORD  AMADRG - :MEM.LAST ADDRESS.BLK#4
(3) 002 .IF IDN <ENDTAB>,<$MADR4>
(3) $ETEND:
(3) JMEXIT
(3) 001 -ENDC
(3) 001576 000000 $VECT1: .WORD AVECT1 ..lNTERRUPI VECTOR#1,BUS PRIORITY#1
(;; 002 .IF IDN <Ecg:‘AB> LSOVECT
(
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(3 SETEND:
(3 LMEXIT
(3) ) 001 LENDC
(3) 001600 000000 SVECT?2:
(3) 002 JIF IDN
(g)
(3) SETEND:
(3) LMEXIT
(3) 001 LENDC
t%; 0016092 000000 $BASE :
(3) 002 .IF IDN
(3) $SETEND:
(3) LMEXIT
(3) 001 LENDC
(3) 001604 000000 $DEVM:
(3) 002 ..F IDN
(3) SETEND:
(3 LMEXIT
(3 001 LENDC
(3) 001606 000000 $CDOW1:
(3) 002 .IF IDN
(3) SETEND:
(3 LMEXIT
(3 001 LENDC
(3) 001610 000000 $COW2:
(3) 002 .JF IDN
(3) SETEND:
(3) LMEXIT
(3 001 .ENDC
(3) 001612 000000 $DDWO:
(3) 002 .JF IDN
(3) SETEND
(3) LMEXIT
(3) 001 .ENDC
(3) 001614 000000 $DDW1:
(3) 002 .1F IDN
(3) SETEND:
(3) LMEXIT
(3) 001 LENDC
(3) 001616 000000 $DDW?2:
(3) 002 .IF IDN
(3) SETEND
(3) MEXIT
(3) 001 .ENDC
(3) 001620 000000 $DDW3:
(3) 002 .1F IDN
(3) SETEND
(3) MEXIT
(3 001 LENDC
(3) 001622 000000 $DDWé:
(3 002 .1F IDN
(%) SETEND:
(%) LMEXIT
(3) 001 LENDC
(5) 001626 000000 $ODWS:

62-17
LBOX-ETABLE

LWORD AVECT2 ::INTERRUPT VECTOR#2BUS PRIORITY®?
<EugLAB>.<SVECTZ>

.WORD  ABASE
: :BASE ADDRESS OF EQUIPMENT UNDER TEST
<ENDTAB>, <$BASE>

.WORD ADEVM  ;:;DEVICE MAP
<ENDTAB>,<SDEVM>

.WORD  ACDW1  ;;CONTROLLER DESCRIPTION WORD#1
<ENDTAB>,<$CDW1>

.WORD  ACDW2 _ ;;CONTROLLER DESCRIPTION WORD#?
<ENDTAB>,<$(DuW2>

.WORD  ADDWO  ;;DEVICE DESCRIPTOR WORD#0

<ENDTAB>,<$DDW0>

.WORD ADDWI1 ::DEVICE DESCRIPTOR WORD#1
<ENDTAB>,<$DDW1>

.WORD  ADDW2 _ ;;DEVICE DESCRIPTOR WORD#?

<ENDTAB>,<$DDW2>

.WORD  ADDW3 _ ;:DEVICE DESCRIPTOR WORD#3

<ENDTAB>,<$DDW3>

.WORD  ADDW&  ;:DEVICE DESCRIPTOR WORDA4
<ENDTAB>,<$DDW&>

.WORD  ADDWS  ;;DEVICE DESCRIPTOR WORD#S

SEQ 0031
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001632
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002
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000

(=]=l=]
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000000
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APT MAILBOX-ETABLE

.Jf IDN
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<ENDTAB>,<$DDWS>

.WORD  ADDW6

ssDEVICE
<ENDTAB>,<SDDW6>

.WORD  ADDW7

ssDEVICE
<ENDTAB>,<SDDW7>

.WORD  ADDWS8

s sDEVICE
<ENDTAB>,<$DDW8>

.WORD  ADDW9

:sDEVICE
<ENDTAB>,<$DDW9>

.WORD ADDWI0 ;;DEVICE
<ENDTAB>,<$DDW10>

: .WORD  ADDW11 ;:DEVICE

<ENDTAB>,<$DDW11>

.WORD  ADDW12 _;:DEVICE
<ENDTAB>,<$DDW12>

.WORD  ADDW13 ::DEVICE
<ENDTAB>,<$DDW13>

.WORD ADDW14 ;:DEVICE
<ENDTAB>,<$DDW14>

.WORD  ADDW1S5 ;;DEVICE
<ENDTAB>,<$DDW15>

DESCRIPTOR

DESCRIPTOR

DESCRIPTOR

DESCRIPTOR

DESCRIPTOR

DESCRIPTOR

DESCRIPTOR

DESCRIPTOR

DESCRIPTOR

DESCRIPTOR

WORD#6

WORD#7

WORD#8

WORD#9

WORD#10

WORD#11

WORD#12

WORD#13

WORD#14

WORD#15

SEQ 0032
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20 CNDUUA .M 29-0CT-82 13:27 APT MAILBOX=-ETABLE SEQ 0033
é;; 001652 SETEND:
(2) 000 +ENDC
(2) 001 .IF NB <$SYMBOLS>
(2) .IRP A,<$S5YMBOL 5>
(2) i
(3) . ENDM
zz; 001652 $SYMBOLS
(4)



21

CNDUU=A MACY11_30(1046)

CNDUUA. M1 29-0CT1-82 13

~
&H
~

NN~ P~
[elelelele =]
NN = =200

000001

100000
040000
020000
010000

001000
000400

030000

Vo oF X OB ¥ O O O O O S O S T 28 aF a2 af 3 2t 2k 3% 2EIE Bt
N N N N N A Nl N it b A

o

o

&H

(=}

o

o

PN N PN NN NN NN NN NN NN NN PN

~ e~ ~
FoF o F
~

001400
100000

.~~~ T~ T~ T~ T~~~ T~ T~~~ ~~
o Y Y T T T ot R P o o P o b o o F
- e N e N N N N N N N N N N N N

000100

1?59E('82

10:02_ _PAGE 62-20
APT MAILBOX-ETABLE

: INSTRUCTION DEFINITIONS

PUSH1SP=5746
POP1SP=5726
PUSHRO=10046 :SAVE RO

;DECREMENT PROCESSOR STACK 1 WORD =TST
: INCREMENT PROCESSOR STACK 1 WORD =TST (

ON STACK =MOV RO,=(SP)

POPR0=12600 *RESTORE RO FROM STACK =MOV (SP)+,R0
PUSH2SP=24646 .oecaeneut STACK TWICE =CMP =(SP).=(SP)
POP2SP=22626  : INCREMENT STACK TWICE =CMP (SP)+.(SP)+
;REGISTER DEFINITIONS

-RXCSR BIT DEFINITIONS
pSC=c1T15 DATA SET CHANGE
RING=BIT14 RING
CTS=BIT13 CLR T0 SEND
CARDET=BIT12 :CARRIER DETECT
RECACT=BIT11 SREC ACTIVE
SRD=BI1T10 :SEC REC DATA
DSR=B]T9 :DATA SET RDY
STPSYN=BIT8 SSTRIP SYNC
RXDONE=BIT7 :REC DONE
RINTEN=BIT6 *REC INTR ENABLE
DSINTE=BITS :DSC INTR ENABLE
svuscuzgxta :SYNC SEARCH
STD=BIT SSEC XMIT DATA
RTS=BIT2 PREQ TO SEND
DTR=BITI :DATA TERM RDY
VOID=BITO

:RXDBUF BIT DEFINITIONS
RXERR=B] 115 :REC ERROR
OVRRUN=BIT14 :OVERRUN
FRMERR=BIT13 sFRAME ERROR
PARER=B]T12 ‘PARITY ERROR

:PARCSR BIT DEFINITIONS
PAREN=BIT9 ;PARITY ENABLE
EVPAR=B] T8 SEVEN PARITY SENSE

:PARCSR WRD DEF INITIONS
SYNINT=30000 :SYNC EXTERNAL MODE
SYNEXT= zoooo SSYNC INTERNAL MODE
1SYMOD=0 :1S0C MODE
FIVE=0 ‘WORD LENGTH S BITS
SIx=2000 ‘WORD LENGTH & BITS
SEVEN=4000 :WORD LENGTH 7 BITS
EIGHT=6000 ‘WORD LENGTH 8 BITS
NOPAR=0 *NO PARITY
ODDPAR=1000 100D PARITY

EVEPAR=1400

) ey | =4
OO ——0D -
) e
—_—y—_ -
O~ ~0D -t
»

:EVEN PARITY

:TXCSR BIT osrlultxo

DATA NOT AVAILABLE
HAIN! DATA
;CLK
:BIT WINDOW
iMASTER RESET
:XMIT DONE
(XMIT INTR ENABLE

SEQ 0034
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10:02__PAGE 62-21

APT MAILBOX-ETABLE
DNAINTE =BITS ;DNA INTR ENAB
: SEND

SEND=BI T4
HDXEN=BIT3 THDX/FDX
BREAK=BIT0 BREAK

:TXCSR WRD oernultxous
USER=0 :USER MODE
MINT=4000 SMAINT INT MODE
MEXT=10000 TMAINT EXT MODE
sggg§r=1¢ooo SSYSTEM TEST MODE

SEQ 0035
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23 CNDUUA. M1 8-0( gZ 13:29 ERROR POINTER TABLE SEQ 0036

z ; .SBTTL ERROR POINTER TABLE

(2) ;*THIS TABLE CONTAINS THE INFORMATION FOR EACH ERROR THAT CAN occun
(2) t«THE INFORMATION 1S OBTAINED BY USING THE INDEX NUMBER FOUND I
(2) :«LOCATION SITEMB. THIS NUMBER INDICATES WHICH ITEM IN THE TABLE xs PERTINENT.
(2) S*NOTE1: If SITEMB IS O THE ONLY PERTINENT DATA IS (SERR
:%; SeNOTE2: EACH ITEM IN THE TABLE CONTAINS & POINTERS EXPLAINED AS FOLLOWS:
(2) e {0 ;;POINTS TO THE ERROR MESSAGE

(2) e DH ::POINTS TO THE DATA HEADER

(2) e DT ::POINTS TO THE DATA

25; e DF S:POINTS TO THE DATA FORMAT

(2)

(2) 001652 $ERRTB:

(1) ;ERROR TABLE

(1) 001652 001762 EM1 :ERROR 1 REGISTER ERROR

(1) 001654 002067 DH1

(1) 001656 002116 DT1

(1) 001660 002132 DF1

(1) 001662 002022 EM2 ;ERROR 2 RECEIVER ERROR

(1) 001664 002067 DH1

(1) 001666 002116 oT1

(1) 001670 002132 DF1

(1) 001672 002043 EM3 :ERROR 3 TRANSMITTER ERROR
(1) 001674 002067 DH1

(1) 001676 002116 pT1

(1) 001700 002132 DF1

(1) 001702 001746 EM4 ;ERROR & BIT ERROR (GENERAL)
(1) 001704 000000 0

(1) 001706 002126 DT4

f}; 001710 002132 DF1

(1) :DEFAULT DU ADDRESSES

(1) 001712 174300 RXCSR: 174300

(1) 001714 174301 HRXCSR: 174301

(1) 001716 174302 RXDBUF : 174302

(1) 001720 174303 HRXDBUF : 174303

(1) 001722 174302 PARCSR: 174302

(1) 001724 174303 HPARCSR: 174303

(1) 001726 174304 TXCSR: 174304

(1) 001730 174305 HTXCSR: 174305

(1) 001732 174306 TXDBUF : 174306

(1) 00173& 174307 HTXDBUF : 1743

(1) :DEFAULT DU VECTORS

(1) 001736 000330 DURIV: 330 ;REC INTR VECTOR

(1) 001740 000332 DURIS: 32 SREC INTR STATUS

(1) 001742 000334 DUTIV: 34 SXMIT INTR VECTOR

(1) 001744 000336 DUTIS: 36 SXMIT INTR STATUS

(1 ;:ERROR MESSAGES

(1) 001746 020040 051105 047522 EM4: "ASCIZ / ERROR PC /

(1) 001754 020122 041520 000049

(1) 001762 020040 047503 050115 EMI1: LASCIZ / COMPARISON ERROR ON REGISTERS/

(1) 001770 051101 051511 047117

(1) 001776 ol.;u.o 051122 051117

(1) 002004 047440 020116 042522
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(1) 00 018 044507 052123 051105

(1) 002020 000123

(1) 0020 s ggoao o«zssg oassos EM2: LASCIZ / RECEIVER ERROR/

(1) 0020 111 051105 042440

(1) 0020 g 51122 051117 0 g

(1) 00204 gko 05204g 040522 EM3: LASCIZ / TRANSMITTER ERROR/

(1) 002050 051516 044515 052124

(1) 002056 051105 042440 051122

(1) 002064 051117 000

(1) ;:DATA HEADERS FOR ERROR MESSAGES

(1) 002067 105 05112; 041520 DH1: JASCIZ /ERRPC WANTED ACTUAL/

(1) 002074 020040 040527 052116

(1) 002102 042105 020040 041501

(1) 002110 052524 046101 000

(1) 002116 .EVEN

(1) :DATA TABLES FOR ERROR MESSAGES

(1) 002116 001416 001130 001132 DT1: .WORD  SERRPC,HLDO,HLD1,0

:}g 002124 000000

ﬁ}; 002126 001416 000000 DT4: .MORD  SERRPC,0

(1 ooz1g2, 000 000 000 DF1: .BYTE 0,0,0,0

(1) 002135 000

(N .EVEN

(1) 002136 JSACTI

:g; .SBTTL ACT11 HOOKS

(2) 002136 STARS

(3) 001 IF 8

(3) t.Qtttttt'ttttitttttttttttt"tt'tttttQ!t't'tttt.ttttt"t'.ttt't

(3) “iFF

(3) .NLIST

(3) REPT

(3) LIST

(3) itt.!t'tltttttitttttt'itttttttttttttlttiltttttt'!'lttt!'tttittl

(3) CNLIST

(%) .ENDR

(3) LIST

(3) 000 -ENDC

(2) ;HOOKS REQUIRED BY ACT11

(2) 002136 $SVP(C=. :SAVE PC

553 000323 - B 46

ig; 000046 012714 . $ENDAD ::1)SET LOC.46 TO ADDRESS OF SENDAD IN .$EOP

(2) =46

(2) ::1)SET LOC.46 TO ADDRESS OF

(2) 000 JENDC

55; ooogg} o & =52 |

:5; 000052 (000000 =5 WORD O ::2)SET LOC.52 TO ZERO

(2) =52

gz; - - -WORD ::2)SET LOC.52 TO

tf» ooz1go .=$SVPC :: RESTORE PC
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025 CNDUUA . M11 -0CT ACT11 HOOKS SEQ 0038
(1) 002136 .SAPTHDR 10,10
gz; .SBTTL APT PARAMETER BLOCK
(i) 002136 STARS
(3) 001 JF B
(%) :itt"tt'tttQ't"'t'it'tt'tttti'ttt'tttitt'tt.ttt'tt'tt.."lit"t
(3) 1FF
(3) .NLIST
(3) -REPT
(3) LIST
(3) :;tttttt.ttititttttt"t't'i'titittltttltttittttttttttttttittttttt
(3) NLIST
(3) -ENDR
(%) LIST
(3) 000 .ENDC
(2) :SET LOCATIONS 24 AND 44 AS REQUIRED FOR APT
(2) 002136 STARS
(3) 001 JF B
(%) A R R et
(3) IFF
(3) NLIST
(3) .REPT
(3) LIST
(3) R L R e L AR R ity
(3) NLIST
(3) .ENDR
(3) LLIST
(3) 00 .ENDC
(2) 002136 .$X=.  ::SAVE CURRENT LOCATION
(2) 000024 =24 ::SET POWER FAIL TO POINT TO START OF PROGRAM
(2) 000024 000200 200 - ::FOR APT START UP
(2) 000044 .=44  ::POINT TO APT INDIRECT ADDRESS PNTR.
(2) 000044 002136 $APTHDR ::POINT TO APT HEADER BLOCK
(2) 002136 .=.8X ::RESET LOCATION COUNTER
(2) 002136 STARS
(3) 001 JF B
(3) ::tt.'tt.t.t.tt"t"'itt'tttt'tti'ttttttittltttttttt!.ittt"t.tt'
(3) IFF
(3) NLIST
(3) .REPT
(3) LIST
(3) ::tttltttttttttt'.t'l'ttt't!tttt!!0.ttt.tl!tt'tt."tttttttttt'!"
(3) CNLIST
(3) .ENDR
(3) LIST
(3) 000 JENDC
(2) :SETUP APT PARAMETER BLOCK AS DEFINED IN THE APT=PDP11 DIAGNOSTIC
:2; s INTERFACE SPEC.
(5) 002136 $SAPTHD:
(2) 002136 000000 $HIBTS: .WORD O ::TWO HIGH BITS OF 18 BIT MAILBOX ADDR.
(2) 002140 001526 $SMBADR: .WORD SMAIL  ::ADDRESS OF APT MAILBOX (BITS 0=15)
(2) 002142 000010 $TSTM: .WORD 10 ::RUN TIM OF LONGEST TEST
(2) 002144 000010 $PASTM: .WORD 10 SSRUN TIME IN SECS. OF 1ST PASS ON 1 UNIT (QUICK VERIFY)
(2) 002146 000000 $UNITM: .WORD :-AooitloNAL RUN TIME (SECS) OF A PASS FOR EACH ADDITIONAL UNIT
(2) 002150 000052 "WORD SETEND=-SMAIL/2 ;;LENGTH MAILBOX~-E TABLE (WORDS)
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(1) 002152 SETUP . $SCOPE, .SERROR, .$TRAP, . SPOWER>

SEQ 0039

(2) 000000 $SETUP
2 ; 000000 $STUP=
(3) 000001 $SETUP= $SETUP!1 ::B81T00
(3) 177777 $STUP= =1
(3)
(3)
(3)
(3)
(3)
(3)
(3)
(3) 000000 $STUP= 0
3
(3) 000003 $SETUP= $SETUP!'2 ::81701
(3) 177777 $STUP= -1
(3)
(3)
(3)
(3)
(3)
(3)
(3) 000000 $STUP= 0
(3)
g
(3) 000007 $SETUP= $SETUP!4 ::81702
(3) 177777 $STUP= =1
(3)
(3)
(3)
(3
(3)
(3) 000000 $STUP= 0
(3)
(3)
B
(3) 000017 $SETUP= $SETUP!10 ::B1T03
(3) 177777 $STUP= =1
(3)
(3)
(3)
(3)
(1)
:}; 002152 $START
- (2) ;PROGRAM INITIALIZATION
(2) :LOCK GUT INTERRUPTS
(2) :SET UP PROCESSOR STACK
(2) ;SET UP POWER FAIL VECTOR
(2) iCL E AR _PROGRAM COMTYROL FLAGS AND COUNTS
:%; :TYPE TITLE MESSAGE
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CNDUUA . M11 -0CT PARAMETER BLOCK SEQ 0040
(2) 002152 .START:
(3 JSBTTL INITIALIZE THE COMMON TAGS
(3 001 .IF DF SCMTAG
(3) :3CLEAR THE COMMON TAGS (SCMTAG) AREA
(3 152 o1§706 001400 MOV #SCMTAG,R6 ::FIRST LOCATION TO BE CLEARED
(3) 002156 005026 CLR (R6) + ::CLEAR MEMORY LOCATION
(3) 002160 082706 001440 CMP #SUR,R6 ::DONE?
(3) 0021664 001374 BNE =6 ::LOOP BACK IF NO
(%) 000 .ENDC
(%) 001 .IF NB #STACK
23; 002166 012706 001100 e MOV #NSTACK,SP ;:SETUP THE STACK POINTER
(?) MOV #STACK,SP ::SETUP THE STACK POINTER
(3 000 .ENDC
(3) "11F NDF $SETUP,SSETUP= 0
(3) ;:INITIALIZE A FEW VECTORS
(3) 001 .IF NE $SETUPE1 ;:BITO0
(3) 002172 012737 016340 000020 MOV #$SCOPE ,a#10TVEC ::10T VECTOR FOR SCOPE ROUTINE
(3) 002200 012737 000300 000022 MOV #PR6,a#IOTVEC+2 ;:LEVEL 6
(3) .11F NDF $CMTAG, CLRB  $TSTNM ;:INITIALIZE THE TEST NUMBER
(3) 000 .ENDC
(3) 001 JIF NE $SETUPR2 ;:BITO1
(3) 002206 012737 014230 000030 MOV #$ERROR, #EMTVEC ;:EMT VECTOR FOR ERROR ROUTINE
(3) 002214 012737 000300 000032 MOV #PRO,INEMTVEC+2 ;:LEVEL 6
(3) 000 .ENDC
ggg 001 .1gx¥5zsseru9z4
(3) 002222 012737 016674 000034 MOV #STRAP,3#TRAPVEC ;:TRAP VECTOR FOR TRAP CALLS
gg; 002230 012535 000300 000036 - MOV #PR6,I#TRAPVEC+2; LEVEL 6
(3) 001 JIF NE SSETUPR10 ::B1T03
(3) 002236 012737 015032 000024 MOV #SPWRDN,3#PWRVEC ;:POWER FAILURE VECTOR
(3) 002244 012737 000300 000026 MOV #PR6,#PWRVEC+2 ;:LEVEL 6
(3) 000 LENDC
(%) 001 JIF NE $SETUPE20 ::BI1T04
(3) J11F NDF SCMTAG, CLR $PASS ::CLEAR THE PASS COUNT
(3) MOV SENDCT,$EOPCT  ;:SETUP END=OF-PROGRAM COUNTER
(3) 000 JENDC
(3) 001 “IF NE S$SETUPR4O ;:BITOS
(3) MOV #176543 . $HINUM ;:PRIME THE RANDOM NUMBER GENERATOR
(3) MOV #123456.SLONUK ::BOTH HIGH AND LOW WORDS
(3 000 ENDC
(3) 001 “IF NE S$SETUPR1 ;:BITO0
(3) 002 .1F NE $SWRE4000
(3 "11F NDF SCMTAG, MOV #1,$1CNT ;s INITIALIZE THE ITERATION COUNTER
(3) 002252 005067 177234 CLR $TIMES :: INITIALIZE NUMBER OF ITERATIONS
(3) 001 .ENDC
(3) 00 "ENDC
(3) 01 “IF NE S$SETUPR2 ;:BITO1
(3) .JI1F NDF $SCMTAG, CLRB S$ERFLG ::CLEAR THE ERROR FLAG
(3) 002 JIF NE 10008$SWR
(3) “11F NDF SCMTAG, CLR SERTTL ::CLEAR THE ERROR COUNT
(3) 002256 005067 177232 CLR $ESCAPE ::CLEAR THE ESCAPE ON ERROR ADDRESS
(3) 002262 112767 000001 177125 MOVB  #1,SERMAX S:ALLOW ONE ERROR PER TEST
(3 001 JENDC
(3) 000 "ENDC
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(3) 001 JIF NE sssruvtzo ::81104
(3) 002 IF NE 100008$SWR
(3) MACRO $SSETUP 7N1,7N2, ,
(3) ;s INITIALIZE THE “'T=-BIT” t AP VECTOR. THEN LOAD LOCATION ‘‘SRTRN'', IN
(3) ::THE “END-OF-PASS'* (SEOP) ROUTINE, WITH A "RTI' OR "RTT",
(g) MOV 3R au.ac1 1tve§ ..SEt “I'* BIT VECTOR TO $RTRN
(3) MOV #PR6 actex VEC+2 ;:LEVEL 6
(3) MOV #RTI,SRTIRN ser $SRTRN TO A RTI
(3) MOV #N2, 3#RESVEC ..rnv TO DO A RTT
(3) CLR =(SP)  ;DUMMY PS
(%) MOV #N1,=(SP) :AND PC
(g) RTT *TRY THE RTT
53; ggv 0§1T LSRTRN ..nrr IS LEGAL==SET SRTRN TO A RTT
(3) N%: ADD #10,5P :RTT ILLEGAL==CLEAN OFF THE STACK
(3) N3: MOV cnssvec+z axassvéc ;RESTORE TRAP CATCHER
(3) CLR $TBIT CLEAR T BIT SWITCH
(%) LENDM  $SSETUP
(3) $$SETUP
(3) 001 JENDC
(3) 000 JENDC
(3) 001 .IF NE SSETUPR1
(3) 002270 012767 002270 177110 MOV #.,SLPADR JINIT A 1ZE THE LOOP ADDRESS FOR SCOPE
(3) 002276 012767 002276 177104 MOV #..SLPERR se THE ERROR LOOP ADDRESS
(3 000 .ENDC
(3) 002304 SWRSU
(&) ;3SIZE FOR A HARDWARE SWITCH REGISTER. IF NOT FOUND OR IT IS
(4) SSEQUAL TO A **=1'", SETUP FOR A SOFTWARE SWITCH REGISTER.
(4) 002306 013746 000004 MOV a:sanvec -(SP) ;:SAVE ERROR VECTOR
(4) 002310 012737 002344 000004 MOV #648,3#ERRVEC  ::SET UP ERROR VECTOR
(4) 002316 012767 177570 177114 MOV #DSWR, SWR S:SETUP FOR A HARDWARE SWICH REGISTER
(4) 002324 012767 177570 177110 MOV #ODISP.DISPLAY ::AND A HARDWARE DISPLAY REGISTER
(4) 002332 022777 177777 177100 CMP #-1,35WR $:TRY TO REFERENCE HARDWARE SWR
(4) 002340 001012 BNE 66$ $:BRANCH IF NO TIMEOUT TRAP OCCURRED
(4) :IAND THE WARDWARE SWR 1S NOT = -1
(4) 002342 000403 BR 65% :BRANCH [F NO TIMEOUT
(4) 002346 012716 002352 648: MOV #65%, (SP) $3SET UP FOR TRAP RETURN
(4) 002350 ooooo; RT]
(4) 002352 012767 000176 177060 65%: MOV #SWREG, SWR ;:POINT TO SOF TWARE SWR
(4) 002360 012767 000174 177054 MOV #DISPREG,DISPLAY
ggg 002366 012637 000004 66$: MOV (SP)+,a¥ERRVEC ;;RESTORE ERROR VECTOR
(3) 001 JIF DF SMAIL
(3) -MACRO sssernAlL 7$ARG1
(3) $PASS ::CLEAR PASS COUNT
(3) BITB #APTSIZE,SENVM ::TEST USER SIZE UNDER APT
(3) BEOQ $ARG1 SIYES,USE NON=APT SWITCH
(3) MOV #$SWREG, SWR SINO,USE APT SWITCH REGISTER
(3) $ARG! :
(3) LENDM  $SSETMAIL
(3) 002372 $SSETMAIL
(4) 002372 005067 177136 CLR $PASS ;:CLEAR PASS COUNT
(4) 002376 132767 000200 177143 BITB  #APTSIZE,SENVM ;:TEST USER SIZE UNDER APT
(4) 002404 001403 BEQ 67% . SIYES,USE NON=APT SWITCH
52; 8852?2 012767 001550 177024 . MOV #$SWREG, SWi PiNO,USE APT SWITCH REGISTER
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(3) 00 JENDC

(2) 80 414 012 09 001100 oV #STACK,SP ;SET STACK

(2) 002420 10 ai 0003 MIPS  #300 *LOCK INTERRUPT

(2) 002424 012737 015032 000024 MOV #.PFAIL,3N24 ‘SET UP POWER FAIL VECTOR
(2) 002432 105067 17653 CLRB  STFLG :CLEAR START FLAG

(2) 002436 005067 176450 CLR PASCNT ‘CLEAR PASS COUNT

(2) 002442 105067 176735 CLRB  SERFLG :CLEAR ERROR FLAG

(2) 002446 005067 176740 CLR SERTTL ‘CLEAR ERROR COUNT

(2) 002452 005067 176740 CLR $ERRP( :CLEAR LAST ERROR POINTER
(2) 002456 015767 000001 176716 MOV #1,8TSTNM :SET UP FOR TEST 1

(2) 002464 012767 002152 176412 MOV #.START,RETURN *SET UP FOR POWER FAiL BEFORE
(3) :TESTING STARTS

(2) 002472 013746 000006 MOV aneG,=(SP)

(2) 002476 013746 000004 MOV ang,=(SP)

(2) 002502 012737 002516 000004 MOV nS.an

(2) 002510 005777 176724 ST asSwWR

(2) 002514 000407 BR 2%

(2) 002516 012767 000176 176714 18: MOV #SWREG, SWR

(2) oozsga 012767 000174 176710 MOV #DISPREG,DISPLAY

(2) 002532 022656 CMP (SP)+,(SP)+

(2) 00253¢ 012637 000004 28: MOV (SP)+.akk

(2) 002540 012637 000006 MOV (SP)+.aWé

(2) 002544 022767 000176 176666 CMP #SWREG, SWR

(2) 002552 001007 BNE 33

(2) 002554 005737 000042 TST ~Y I :CHECK FOR CHAIN

(2) 002560 001402 BEO 338

(2) 002562 000167 000522 JMP .BEGIN

(2) 002566 004767 010224 33¢:  JSR PC,CNTLU

(2) 002572 105767 176374 3%: TSTB  INIFLG :HAS INITIALIZATION BEEN PERFORMED
(2) 002576 001004 BNE ONCE

(2) 002600 104401 015172 TYPE JMTITLE ;TYPE TITLE MESSAGE

(2) 002604 105167 176362 comB INIFLG :IF NOT SET FLAG AND DO
(1) 002610 $CLRVEC .BEGIN

(2) 002610 105767 176732 ONCE: TSTB SENV ;APT CONTROL?

(2) 002614 001410 BEQ 1% :BR IF NO

(2) 002616 032767 000001 176726 BIT #1,8USWR *EXTENAL JUMPER ON?

(2) 002624 001002 BNE 12¢ *NO

(2) 002626 105067 176321 CLRB  JMRBY SCLEAR FLAG

(2) 002632 000167 000452 128: WP .BEGIN :G0 DO IT

(2) 002636 032777 000001 176574 11% BIT #5400, aSWR TRESELECT VECTOR & CONTROL REG?
(2) 002644 001002 BNE 1%

(2) 002646 000167 000436 JMP .BEGIN

(2) 002652 012700 000300 1%: MOV #300,R0 :RESTORE VECTOR AREA TO TRAPCATCHER

(2) 002656 015701 000302 MOV #302°R1 :START AT LOCATION 300

(2) 002662 012702 000004 MOV ¥4 ,R2

(2) 002666 010110 2%: MOV R1.(RO)

(2) 002670 005011 CLR (r1)

(2) 002672 060200 ADD R2,RO

(2) 002674 060201 ADD R2.R1

(2) 002676 022701 001000 CMP #1000, R1 ;END AT LOCATION 776

(2) 002702 002771 BLT 28

(1) 002704 $GETPAR MREGAD,DUBASE,1,1,174000,177776

(2) 002704 104406 INSTR ~ ;OUTPUT MESSAGE € GET INPUT STRING

(2) 002706 015240 MREGAD ;MESSAGE

(2) 00271 104410 PARAM sCONVERT STRING

(2) 002712 174000 174000 :LOW LIMIT
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(2) oog714 177776 177776  :HIGH LIMIT
(2) 002716 017170 DUBASE srone A1 THIS LOCATION
(2) 002720 001 BYTE 1 MASK
(2) 002721 001 BYTE 1 HOW MANY TIMES + 2
(1) 002722 016767 014242 176226 MOV DUBASE, KEEPADD :SAVE
(1) 002730 004767 014102 JSR PC DUAD
(1) 0057 & 016767 176216 176212 MOV KEEP aussnoo :RESTORE FOR ROTATION
(1) 00 75% $GETPAR nvecto ouaxv 4 1
(2) 00274 10440g INS uTPuf nessuce g GET INPUT STRING
(2) 002744 01522 nvscxo ess GE
(2) 002746 104410 PARAM convear STRING
(5) oogrsg ooogoo 00 SLOW LIMIT
(2) 002752 000376 76 SHIGH LIMIT
(5) 002754 001736 DURIV sroae AT THIS LOCATION
(2) 002756 001 BYTE 1 tMASK
(2) 002757 004 ‘BYTE & ‘HOW MANY TIMES + 2
(1) 002760 016767 176752 176176 MOV DURIV,.KEEPIV  :SAVE
(1) 002766 016767 176744 176166 MOV DURIV.BASEIV  :SET UP FOR ROTATION
(1) 002774 $GETFLG MMULT ,MULTD
(2) 002774 104406 INSTR’  ;OUTPUT MESSAGE & GET INPUT STRING
(2) 002776 015270 MMULT  :MESSAGE
(2) 003000 104414 SETFLG :SET FLAG BASED UPON INPUT STRING
(2) 003002 001152 MULTD  :THIS FLAG
(1) 00300& 105767 176142 TSTB  MULTD  :ARE THERE MULTIPLE DEVICES
1 ON THE SYSTEM ?
(1) 003010 100406 BMI BBB SYES,ASK NEXT QUESTION
(1) 003012 005067 176150 CLR ACTREG
(1) 003016 005067 176146 CLR ROTADD
(1) 003022 000167 000140 JMP OUTMUL :;JUMP AROUND NEXT QUESTION
(1) 003026 BBB:
(2) 003026 104406 INSTR ~ ;OUTPUT MESSAGE & GET INPUT STRING
(2) 003030 015317 MLASTD :MESSAGE
(2) 003032 104410 PARAM convenr STRING
(2) 00303& 174000 174000 :LOW LIMIT
(2) 003036 177776 177776 :HIGH LIMIT
(2) 003040 001160 LASTADD :STORE AT THIS LOCATION
(2) 003042 001 BYTE 1 T MASK
(2) 003043 001 BYTE 1 *HOW MANY TIMES ¢ 2
M THE FOLLOWING ROUTINE SETS UP ACTREG roa THE FIRST TIME
(1) 003044 012767 000001 176116 18: MOV #1,ROTADD :SET UP POINTER
(1) 003052 005067 176110 CLR ACTREG ;CLR ACTIVE ne GISTER
(1) 003056 056767 176106 176102 2%: BIS ROTADD ,ACTREG  :MAKE tnxs DEVICE ACTIVE
(1) 003064 000241 cLC
(1) 003066 006167 176076 ROL ROTADD ;SET UP POINTER
(1) 003072 103421 BCS 3 *ARE YOU OUT OF RANGE ?
(1) 003074 062767 000010 176052 ADD #10,BASEADD ;SET UP BASE ADDRESS
(1) 003102 026767 176052 176044 CMP LASTADD ,BASEADD :1S THlS THE LAST DEVICE ?
(1) 003110 101362 BHI 2% :NO 00 IT AGAIN
(1) 003112 056767 176052 176046 BIS ROTADD ,ACTREG  :;THIS ASSUMES THAT THERE ARE AT
(1) sLEAST TWO DEVICES WHEN YOU ANSWER YES T0
N HULIIPLE DEVICE QUESTION
(1) 003120 012767 000001 176042 4$: MOV OTADD ;SET UP FOR LATER USE IN END OF PASS ROUTINE
1 0031;6 016767 176024 176020 MOV xstpuoo BASEADD DITTO
(1) 003134 000414 aa 0U1HUL CONT INUE oussr:ons
(1) 003136 016767 176014 176010 3%: EEPADD, éASEAuo RESTORE
(1) 003144 scerpnn nannce CASTADD,1.1,174000,177776
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(2) 003144 104402 INSTR  ;OUTPUT MESSAGE & GET INPUT STRING
(2) 003146 01541 MRANGE  ;MESSAGE

(2) 003150 194410 PARAM  :CONVERT STRING

(2) 003152 174000 174000 :LOW LIMIT

(2) 003154 177776 177776  :RIGH LIMIT

(2) 003156 001160 LASTADD :STORE AT THIS LOCATION

(2) 003140 001 BYTE 1 tMASK

(2) 003161 001 .BYTE 1 :HOW MANY TIMES + 2

(1) 003162 000187 177656 JMP is D0 IT AGAIN

(1) 003166 012767 000300 013636 OUTMUL: MOV #300,DUPRT

(1) 003174 004767 013562 JSR PC,DULEV

(1) 003200 $GETSYN MSYNC,SYNCNO,AAA:

(2) ;COMPARE THE FIRST CHARACTER IN THE TELETYPE INPUT
(2) ;BUFFER TO THE CHARACTERS "‘1'* AND ''2'".

(2) sIF THE CHARACTER IS '"1'" CLEAR THE FLAG
(2) ;IF THE CHARACTER IS "'2'* SET THE FLAG

(2) 003200 AAA:

(2) 003200 104406 INSTR  ;OUTPUT MESSAGE & GET INPUT STRING
(2) 003202 015631 MSYNC  ;MESSAGE a

(2) 003204 122767 000061 012760 3$: CMPB  #°'1, INBUF JIS IT 1t 2

(2) 003212 001003 BNE 18

(2) 003214 105067 175726 CLRB  SYNCNO :000

(2) 003220 000412 E BR 43 e

(2) 003222 122767 000062 012742 1%: CMPB  #'2, INBUF JIS IT 2t 2

(2) 003230 001004 BNE 28

(2) 003232 112767 177777 175706 MOVB  #-1,SYNCNO :377

(2) 003240 000402 BR 4%

(2) 003242 104407 2s: INSTER :RETRY

(2) 003244 000757 BR §s

(2) 003246 000240 48: NOP

(1) 003250 $GETFLG MWIREG,SEXMIT

(2) 003250 104406 INSTR ~ ;OUTPUT MESSAGE & GET INPUT STRING
(2) 003252 015677 MWIRE6 :MESSAGE

(2) 003254 104414 SETFLG :SET FLAG BASED UPON INPUT STRING
(2) 003256 001147 SEXMIT :THIS FLAG

(1) 003260 $GETFLG MWIRES,SEREC

(2) 003260 104406 INSTR ~ ;OUTPUT MESSAGE & GET INPUT STRING
(2) 003262 015750 MWIRES ;MESSAGE

(2) 003264 104414 SETFLG :SET FLAG BASED UPON INPUT STRING
(2) 003266 001150 SEREC  :THIS FLAG

(1) 003270 $GETFLG MWIRE4,OPTCLR

(2) 003270 104406 INSTR ~ ;OUTPUT MESSAGE & GET INPUT STRING
(2) 003272 016020 MWIRE4 :MESSAGE

(2) 003274 104414 SETFLG :SET FLAG BASED UPON INPUT STRING
(2) 003276 001151 OPTCLR :THIS FLAG

(1) 003300 SGETFLG MEXTJ, JMRBY

(2) 003300 104406 INSTR"  ;OUTPUT MESSAGE & GET INPUT STRING
(2) 003302 016077 MEXTJ)  :MESSAGE

(2) 003304 104414 SETFLG ;SET FLAG BASED UPON INPUT STRING
(2) 003306 001153 JMRBY  :THIS FLAG

g;; 003310 $BEGIN

(%; ;TEST START AND RESTART

(

(2) 003310 012706 001100 .BEGIN: MOV #STACK,SP :SET UP STACK
(2) 003314 106427 000300 MTPS #300 JLOCK OUT INTERRUPTS
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(2) 003320 032777 000002 176112 BIT #SW01,aSWR :1F SWO1=1, GET STARTING PC
(2) 003326 001413 BEQ 5
(2) 003330 $GETPAR MTSTPC,$TSTNM,1,1,TST1,17500
(3) 003330 104403 INSTR * ;OUTPUT ‘MESSAGE & GET INPUT STRING
(3) 003332 01556 MTSTPC :MESSAGE
(3) 00333¢ 104410 PARAM  :CONVERT STRING
(3) 003336 003374 1ST1 :LOW LIMIT
(3) 003340 017500 17500  :HIGH LIMIT
(3) 0033¢2 001402 $TSTNM :STORE AT THIS LOCATION
(3) 003344 001 BYTE 1 :MASK
(3) 003345 001 BYTE 1 “HOW MANY TIMES ¢ 2
(2) 00 g«e 016767 176030 175530 MOV $TSTNM,RE TURN
(2) 003354 000403 B8R 13
(2) 003356 012767 003374 175520 3$: MOV #TST1,RETURN ;START AT TEST 1
(2) 003364 104401 015557 4%: TYPE MR JTYPE R

8%23 003370 000177 175510 JMP aRETURN ;START TESTING
8150 003374 $TRPAR SEVEN,10.,EVEPAR,I1SYMOD,125,1252

() S:THIS TEST VERIFYS CHARACTER PLUS PARITY GENERATION
(N ::0F THE TRANSMITTER SECTION.
(1) 21T ALSO CHECKS DNA TIMING
(1) 2 :MODE : 1SYMOD
(1) S:LENGTH:SEVEN PLUS PARITY
1) ::PARITY:EVEPAR
:}; ::CHARACTER:125
(1) 003374 $TSTNO
(2) 003374 NEWTST
(3) 000000 $SNWTST=0
(3) 001 JAF B ©
(3) 003374 SSNEWTEST \$TN,<>,SCOPE
(&) . IRP ASCI, <>
(%) JIF EQ SNWTST
(&) .NLIST
(&) SNWTST=1
(4) LSBTTL ™M ASCI
(4) LIST
(&) STARS
(4) s*TEST 1 ASCI
(&) LJFF
(4) ASCI
(%) LENDC
(4) .ENDM
(4) 003374 STARS
(5) 002 JIF B
(S) :"t'ttt.t'tttt.'t""'.!t'!"ttttttt!tltlitttaittt.t.tt.tttttittt
(%) LIFF
(5) .NLIST
(5) .REPT
(5) LIST
(S) °.'.I't'.'!l'.!".'t"OQQ'.t't'.tt.!..Qttltt!ttl'.lttll'.l'tlittt.
(5) .NLIST
(5) .ENDR
(S) LIST
(5) 001 JENDC
(4) 003374 000004 1ST1:  SCOPE
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NITIALIZE THE COMMON TAGS

S}?:S!NOI
SSNEWTEST \$TN,O,O
LENDC
.IF NE 4000RSSWR
IF NB
JF LE <=1>
- MOV #1,8TIMES ::90 1 ITERATION
MOV #,8TIMES ;D0 ITERATIONS
LENDC
LENDC
.IF NB
MOV #,5LPADR ;sSET SCOPE LOOP ADDRESS
LENDC
LENDC
.1F NB
JIF DF SMAIL
.IRP TNM,<\$TN=1>
ENDM MOV #'TNM,STESTN :2SET TEST NUMBER IN APT MAIL BOX
LENDC
LENDC
.REPT 0
LNLIST
LRADIX 10
.IRP $DN, <\SN>
NEWTST
: MOV #SDON,STSTNM :SAVE THIS
.ENDM
NLIST
LRADIX 8
LIST
:.11F NB <>, MOV # ,RETURN ;SET UP THIS RETURN
:.}gFNgB <, MOV #, COUNT :SET UP THIS ICOUNT
™ <>
:"F MOV # NEXT :GO TO TH!S TiST WHEN THRU
NLIST
RADIX 10
LIST
.IRP so£‘<\ss>
.AF DF TST'SDE
2 MOV #TST'$DE . NEXT :G0 TO THIS TEST WHEN THRU
.ENDM
.NLIST
.RADIX
Wi
2 MOV #.EOP,NEXT :GO TO THIS TEST WHEN THRU
LENDC
.ENDC
:.xggrua <, MOV #,L0Ck :SET UP FOR SCOPE LOOP
.NL

SEQ 0046
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(2) LRADIX 10
2) $N=$N+1
(%) SE=SE+1
(2) LRADIX
(2) .LIST
(2) .ENDR
(1) 003376 TSETUP MINT,ISYMOD,SEVEN,EVEPAR,26
(i) 003376 SRESET
(3) 003376 052777 000400 176322 BIS #MRESET,3TXCSR ;MASTER RESET
(2) 003404 012777 000000 176310 MOV #1SYMOD.aPARCSR :SET THE MODE
(g) 003412 SRESET
22; 003412 052777 000400 176306 BIS #MRESET,3TXCSR ;MASTER RESET
(2) ;SET MAINTENANCE MODE & SEND
(2) SNOTE:BIT WINDOWECLK ARE CLEARED (MTDATA=0)
:%; 003420 012777 004020 176300 MOV #MINT!SEND,@TXCSR
(2) :SET MODE.# OF BITS,PARITY SENSE,.& LOAD SYNC REG
(2) oosage 012777 005426 176266 MOV #1SYMOD'SEVEN'EVEPAR'26,aPARCSR
(1) 003434 016703 176266 ChYY TXCSR,R3 :SET UP FOR ERROR MSG
(1) 003440 112777 000125 176264 MOVB  #125,3TXDBUF :LOAD DATA CHAR
(1) 003446 012767 001252 176024 MOV #1252,$TMP1 STO BE SHIFTED CHAR
(1) 003454 012767 000012 175440 v #10,,SHIFT ‘# OF SHIFTS
(1) :POKE CLK TO GET INTO SYNCRONIZATION
(1) 003462 $POKE
(2) 003462 052777 020000 176236 BIS #CLK,RTXCSR ;POKE CLK UP
(2) 003470 042777 020000 176230 BIC #CLK,TXCSR :POKE CLK DOWN
(1) 003476 005000 1%: CLR RO
(1) 003500 006067 175774 ROR $TMP1  ;FORCE CARRY
(1) 003504 103002 BCC 2% ‘BR IF CARRY CLR
:}; 8833?3 052700 002000 - BIS #BITW.RO ;EQUIV OF BITW
(2) 003512 052777 020000 176206 BIS #CLK,TXCSR ;POKE CLK UP
(2) 003520 042777 020000 176200 BIC #CLK,TXCSR :POKE CLK DOWN
(1) 0035%6 017701 176174 MOV aTXCSR, R *ACTUAL
(1) 003532 042701 075777 BIC 2075777 .R1 :SAVE BITW & DNA
(1) 003536 020001 CMP RO,R1 ';COMPARE EXP VS ACT
(1) 003540 001401 BEQ . +4
(1) 003542 104003 ERROR 3 :BIT WINDOW DID NOT MATCH ACTUAL DATA
(1 :BIT,...ALSO CHECK DNA
(1) 003544 005367 175352 DEC SHIFT  :# OF SHIFTS
(1) 003550 001352 BNE 1s ‘D0 IT AGAIN ?
(1) :NOW POKE CLK TO SEE DA
(1) 003552 052777 020000 176146 BIS #OLK,GTXCSR :POKE CLK
“; 001 {;' IDN <]SYMOD>,<ISYMOD>
:}; 003560 012700 000000 - MOV #O,RO  ;EXPECTED
(1) MOV #100000, R0 ;EXPECTED
(1) 000 JENDC
(1) 003564 017701 176136 MOV ATXCSR,R1 :ACTUAL
(1) 003570 042701 077777 BIC #77777.R1 *SAVE DNA ONLY
(1) 003574 020001 CMP RO,R1 :COMPARE EXP VS ACT
(1) 003576 001401 BEQ ¢,
(1) 003600 104003 ERROR 3 :DNA SHOULD BE SET
(1) :1F DNA DID NOT SET
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m ;CHECK WORD LENGTH SELECT LOGIC
8151 003602 $TRPAR SEVEN,10.,0DDPAR, ISYMOD,125,1652
(1 ;:THIS TEST VERIFYS CHARACTER PLUS PARITY GENERATION
(1 ;;0F THE TRANSMITTER SECTION.
(N ;317 ALSO CHECKS DNA TIMING
(1) : :MODE : I SYMOD
(1) ssLENGTH:SEVEN PLUS PARITY
(1) 1 SPARITY:0DDPAR
g}; :;CHARACTER:125
(1) 00360 $TSTNO
cg) 00360 NEWIST
(3) 00000 SNWTST=0
(%) 001 JAF B ©
(3) 003602 SSNEWTEST \$TN,<>,SCOPE
(4) JRP  ASCI,<
(4) JIF EQ SNWTST
(4) NLIST
(4) $NWTST=1
(4) LSBITL T2 ASCI
(4) LLIST
(4) STARS
(4) s*TEST 2 ASCI
(4) LIFF
(4) ASCI
(4) LENDC
(4) .ENDM
(4) 003602 STARS
(5) 002 JIF B
(S) .'tiittttttttt'ttt'tt"ttt"'tttt!tt'tttttttttttttt.t!tl'ttttt!t.
(5) JIFF
(5) .NLIST
(5) -REPT
(5) LIST
(S) AR A A R R R R g
(5) CNLIST
(5) .ENDR
(S) LIST
(5) 001 -ENDC
{2; 003602 000004 1ST2:  SCOPE
(4) 000003 $TN=STN+1
(3) IFF
(3) SSNEWTEST \$TN, <>, <>
(3) 000 JENDC
(3) 001 JF ne 4OU0RSSWR
:i; 88% '}; LE <=1;
ch o MOV #1,$TIMES ::D0 1 ITERATION
(5) x
(3) MOV #.8TIMES ::D0 ITERATIONS
(%) 002 LENDC
(3 002 e
(3) MOV # . $LPADR ::SCT SCOPE LOOP ADDRESS
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(3) 001 LENDC
(3) 000 LENDC
(%) 001 .IF NB
(3) 002 .IF DF SMAIL
(3) . IRP TNM,<\$TN=1>
(3) MOV #'TNM,STESTN ::SET TEST NUMBER IN APT MAIL BOX
(3) .ENDM
(3) 001 LENDC
(3) 000 .ENDC
(2) 000000 .REPT 0
(2) «NLIST
(2) RADIX 10
(2) LLIST
(2) IRP $DN, <\$N>
(2) NEH ST
(2) MOV #SDN,STSTNM ;sSAVE THIS
(2) .ENDH
(2) NLIST
(2) .RADIX 8
(2) .Llsr
(2) .J1F NB <>, MOV # ,RETURN ;SET UP THIS RETURN
g%; ,.{} Nga <>, MOV #,1COUNT :SET UP THIS ICOUNT
(2) 3 HOV # NEXT ;GO TO THIS TEST WHEN THRU
(2) JAFF
(2) «NLIST
(2) LRADIX 10
(2) LLIST
(2) .IRP SDE‘<\5E>
(2) .IF DF TST'SDE
(2) : MOV #TST'SDE NEXT :GO TO THIS TEST WHEN THRU
(2) .ENDM
(2) NLIST
(2) .RADIX 8
(2) LIST
(2) .JFF
(2) : MOV # .EOP,NEXT :GO TO THIS TEST WHEN THRU
(2) .ENDC
(2) .ENDC
(2) :.11F NB <, MOV #,L0C% ;SET UP FOR SCOPE LOOP
(2) «NLIST
(2) RADIX 10
(2) SN=$N+1
(2) SE=SE+1
(2) .RADIX 8
(2) LIST
(2) .ENDR
(1) 003604 TSETUP MINT,ISYMOD,SEVEN,ODDPAR,26
(%) 003604 SRESET
(3) 003604 052777 000400 176114 BIS #MRESET ,@TXCSR ;MASTER RESET
52; 88%2}2 012777 000000 176102 SRESET MOV #1SYMOD ,aPARCSR ;SET THE MODE
igg 003620 052777 000400 176100 BIS #MRESET ,@TXCSR ;MASTER RESET
(5) sSET MAINTENANCE MODE & SEND
(2) :NOTE:BIT WINDOWECLK ARE CLEARED (MTDATA=0)

SEQ 0049
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égg 003626 012777 004020 176072 MOV #MINT!SEND,@TXCSR
(2) ;SET nooe.x OF BITS,PARITY SENSE,& LOAD SYNC REG
(2) 00363& 012777 005026 176060 MOV #1SYMGD ! SEVEN'ODDPAR ' 26, 3PARCSR
(1) 003642 016703 176060 MOV TXCSR,R3 :SET UP FOR ERROR MSG
(1) 003646 112777 000125 176056 MOVB  #125,3TXDBUF  :LOAD DATA CHAR
(1) 003654 012767 001655 175616 MOV #1652, $TMP1 :TO BE SHIFTED CHAR
(1) 003662 012767 000012 175232 MOV #10,,SHIFT ‘H OF SHIFTS
(1) POKE CLK TO GET INTO svucnoulzn?xau
(1) 003670 $POKE
(2) 003670 052777 020000 176030 BIS #CLK,DTXCSR ;POKE CLK UP
(2) 003676 042777 020000 176022 BIC #CLK.BTXCSR :POKE CLK DOWN
(1) 003704 005900 1%: CLR RO
(1) 003706 006067 175566 ROR $TMP1  :FORCE CARRY
(1) 003712 103002 BCC 2% :BR IF CARRY CLR
:}; 883;}3 052700 002000 - BIS ¥BITW.RO ;EQUIV OF BITW
(2) 003720 052777 020000 176000 BIS #CLK,ATXCSR :POKE (LK UP
(2) 003726 042777 020000 175772 BIC #CLK ATXCSR -poxe CLK DOWN
(1) 003736 017701 175766 MOV TXCSR,R1 sACTUAL
(1) 003740 042701 075777 BIC #075777.R1 :SAVE BITW & DNA
(1) 003744 020001 CMP RO,R1 ;COMPARE EXP VS ACT
(1) 003746 001401 BEQ +4
(1) 003750 104003 ERROR 3 :BIT WINDOW DID NOT MATCH ACTUAL DATA
(1) :BIT,...ALSO CHECK DNA
(1) 003752 005367 175144 DEC SHIFT  :# OF SHIFT
(1) 003756 001352 BNE 1s :D0 IT AGAI
(1) ;NOW POKE CLK TO SEE DNA
(1) 003760 052777 020000 175740 BIS #CLK,ATXCSR :POKE (LK
g}; 001 '}:r IDN <ISYMOD>,<ISYMOD>
g}; 003766 012700 000000 - MOV #0,RO  ;EXPECTED
(1) MOV #100000,R0 ;EXPECTED
(1) 000 LENDC
(1) 003772 017701 175730 MOV ATXCSR, R ;ACTUAL
(1) 003776 042701 077777 BIC #77777.R1 :SAVE DNA ONLY
(1) 004002 020001 CMP RO,R1 :COMPARE EXP VS ACT
(1) 004004 001401 BEQ +4
(1) 004006 104003 ERROR 3 sDNA SHOULD BE SET
(1) :1F DNA DID NOT SET
2}; :CHECK WORD LENGTH SELECT LOGIC
8152 004010 $TRPAR EIGHT,9.,EVEPAR,SYNINT,125,125
(1) ;:THIS TEST VERIFYS CHARACTER PLUS PARITY GENERATION
(1) ::0F THE TRANSMITTER SECTION.
(1) ::1T ALSO CHECKS DNA TIMING
(1) ..HODE SYNINT
(1) .LENGIH EIGHT PLUS PARITY
(1) ITY:EVEPAR
{;; ..CHARACTER 125
(1) 004010 $TSTNO
(§) 004010 NEWTST
(3) 000000 SNWTS1=0
(3) 001 JF B ©
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(3) 004010 $SNEWTEST \$TN,<>,SCOPE
(4) .IRP ASCI,<>
(%) JIF EQ SNuTSt
(4) LNLIST
(&) SNWTST=1
(4) LSBTTL 713 ASCI
(4) LIST
(4) STARS
(4) s*TEST 3 ASCI
(4) <JFF
(4) ASCI
(&) LENDC
(4) .ENDM
(4) 004010 STARS
(S) 002 UF B
(S) ;iti.tttttt't""ttt"t"tt'"it"'!tl!t!t""ttt.tttittttt.tttit
(S) <JFF
(S) «NLIST
(5) REPT
(5) LIST
(S) ::Qt.ttttttt'ti't'tttt't'tt'tttttltiittltiiittttiittttt'tttittt.'
(S) .NLIST
(5) .ENDR
(5) LIST
(5) 001 .ENDC
iz; 004010 000004 TST3: SCOPE
%) 000004 $TN=STN+1
(3) +IFF
(3) $SNEWTEST \$TN, <>,
(3 000 +ENDC
(3) 001 JF NE 40008$SWR
(3) 002 .IF NB
(3) 003 JF LE <=1>
s%g e MOV #1,8TIMES ::D0 1 ITERATION
(3) MOV #,8TIMES ;D0 ITERATIONS
(3) 002 LENDC
(3) 001 LENDC
(3) 002 .IF NB
(3) MOV #,SLPADR :sSET SCOPE LOOP ADDRESS
(3) 001 LENDC
(3) 000 +ENDC
(3) 001 .IF NB
(3) 002 .IF DF SMAIL
(3) JIRP TNM,<\$TN-1> _
(3) MOV #°'TNM,STESTN ssSET TEST NUMBER IN APT MAIL BOX
(3) .ENDM
(3 001 LENDC
(3) 000 ENDC
(2) 000000 .REPT 0
(2) .NLIST
(2) LRADIX 10
(2) LLIST
(2) . IRP $DN, <\$N>
(2) NEWTST
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(2) : MOV #SON,STSTNM ;SAVE THIS

(2) .ENDM

(2) NLIST

(2) .RADIX 8

(2) LIST

(2) s 11F N8 <, MOV # ,RETURN :SET UP THIS RETURN
223 "}$'~3°<> o, MOV #.1COUNT SSET UP THIS ICOUNT
§ ; - MOV #NEXT ;GO TO THIS TEST WHEN THRU
(2) .NLIST

(2) LRADIX 10

(2) LIST

(2) JIRP _ S$DE <\$E>

(2) "IF DF TST'SDE

(%) MOV #TST SDE  NEXT ;G0 TO THIS TEST WHEN THRU
(2) .ENDM

(2) INLIST

(2) .RADIX 8

(2) LIST

(2) IFF

(2) ; MOV #.EOP,NEXT :G0 TO THIS TEST WHEN THRU
(2) "ENDC

(2) "ENDC

(2) :.11F NB <, MOV #,L0CK ;SET UP FOR SCOPE LOOP
(2) "NLIST

(2) "RADIX 10

(2) $N=SN+1

(2) $E=SE+1

(2) .RADIX 8

(2) LIST

(2) "ENDR

(1) 004012 TSETUP MINT,SYNINT,EIGHT,EVEPAR,26

¢§> 004012 SRESET

(3) 006012 052777 000400 175706 BIS #MRESET,3TXCSR  :MASTER RESET

(2) 004020 12777 030000 175674 MOV #SYNINT.@PARCSR :SET THE MODE

(§> 004026 SRESET

:2; 004026 052777 000400 175672 BIS #MRESET,@TXCSR  ;MASTER RESET

(2) ;SET MAINTENANCE MODE & SEND

(2) ) NOTE:BIT WINDOWRCLK ARE CLEARED (MTDATA=0)
233 004034 012777 004020 175664 MoV #MINT ! SEND,3TXCSR

(2) ;SET MODE,.# OF ants PAthv SENSE,& LOAD SYNC REG

(2) 004042 012777 037426 175652 MOV #SYNINT'EIGHT 'EVEPAR' 26,3PARCSR

(1) 004050 016703 175652 MOV TXCSR,R3 ;SET UP FOR ERROR MSG
(1) 004054 112777 000155 175650 MOVB  #125,3TXDBUF .LOAD DATA CHAR

(1) 004062 012767 000125 175410 MOV ¢1 5.8TH 1 $10 BE SHIFTED CHAR
(1) 004070 012767 000011 175024 MOV $HI ‘# OF SHIFTS

(1) :POKE CLK TO GET xnfo svucRONIZAtxou

(1) 004076 $POKE

(2) 004076 052777 020000 175622 BIS #CLK,RTXCSR :POKE CLK UP

(2) 004106 042777 020000 175614 BIC #CLK.BTXCSR ‘POKE CLK DOWN

(1) 004112 00500 18: CLR R0

(1) 004114 006067 175360 ROR $TMP1  ;FORCE CARRY

(1) 004120 103002 BC( 2% ‘BR If CARRY CLR



CNDUU=A MACY11
CNDUUA . M1

-
ey
~
o
R

— 3 >

ANONOND
~N

004160
0046164

004166

004174

004200
004204
004210
004212
0046214

WY e o e o e o o D e il e e D D o D D D i D e i (NI d

A"\ﬂﬂF\ﬂﬂAﬂaAAAAAAAAAAAAR&’\AAJAAAﬂhﬂﬂﬁﬁhﬂaﬂﬂﬂﬁﬂﬂﬂﬂnﬂaﬂﬂﬂﬁ

004216

004216
004216

004216

wvwvwvvvvvvvvvvvwwvvvvvvvvvwvvvvvvvw&wuvvvvvvvwvwvvvvvv

(W O S S S O oF oF oF O o OB AV IV I L bt

004216

2

0104 14-DEC-82
29-0CT= gZ 13:29

052700 002000

2%:
052777 020000 175572 BIS #CLK,ATXCSR :POKE CLK UP
040777 oéoooo 175564 BIC #CLK.aTXCSR :POKE CLK DOWN
017701 175560 MOV atx §n R1 ACT AL
048701 075777 BIC #07577%.R1 axru £ DNA
020001 CMP RO,R1 ' ;COMPARE" EXP VS ACT
001401 BEQ +d,
104003 ERROR 3 :BIT WINDOW DID NOT MATCH ACTUAL DATA
s:r ...ALSO CHECK DNA
005367 174736 DEC SHIFT of SHIFTS
001352 BNE 1 oo 1T AGAIN ?
:NOW POKE CLK TO SEE DNA
052777 020000 175532 BIS #CLK,ATXCSR :POKE CLK
001 .};1 IDN <ISYMOD>,<SYNINT>
o MOV #0,R0O  ;EXPECTED
012700 100000 MOV #100000,R0 ;EXPECTED
000 JENDC
017701 175522 MOV ATXCSR,RI :ACTUAL
042701 077777 BIC 877777 .R1 SSAVE DNA ONLY
020001 CMP RO,R1 :COMPARE EXP VS ACT
001401 BEQ Ry
104003 ERROR 3 :DNA SHOULD BE SET
S1F DNA DID NOT SET
SCHECK WORD LENGTH SELECT LOGIC
$TRPAR EIGHT,9.,0DDPAR,SYNINT, 125,525
,.rnxs TEST VERIFYS CHARACTER PLUS PARITY GENERATION
‘0F THE TRANSMITTER SECTION.
51T ALSO CHECKS DNA TIMING
: ;MODE : SYNINT
:LENGTH:EIGHT PLUS PARITY
*PARITY:0DDPAR
..CHARACTER 125
$TSTNOD
NEWTST
000000 SNWTST=0
001 JF B ©
SSNEWTEST \$TN,<>,SCOPE
JRP  ASCI,<>
JIF EQ SNWTST
NLIST
$NWTST=1
LSBITL T4 ASCI
STARS
SeTEST & ASCI
LIFF
ASCI
.ENDC
"ENDM
STARS
002 JIF B

10:02 PAGE 62-39
INITIALIZE THE COMMON TA

BIS #BITW,RO

B 5
GS
;EQUIV CF BITW

SEQ 0053
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e A2 22202 220222 RRRRRR R RRRRR R R R0 RRRR Rl Rddd)

—~
¥
~

(5) iFF

(5) NLIST

&) .REPT

(5) LIST

(S) ;;'tt'it'it.tttt'"'.0"""""".'."'.'t.l"""."'.'.t"i"'
(5) NLIST

(5) .ENDR

(S) LIST

(5) 001 .ENDC

22; 004216 000004 1ST4: SCOPE

(4) 000905 STN=STN+1

(3 .IFF

(3 SSNEWTEST \$TN, <>,

(3) 000 LENDC

(3) 001 .IF NE 4000R$SWR

(3) 002 .IF NB

(3) 003 JAF LE <=1

t%; - MOV #1,8TIMES ::D0 1 ITERATION
(3) MOV #,8TIMES ;::D0 ITERATIONS
(3) 002 .ENDC

(3) 001 LENDC

(3) 002 .UF NB

(3) MOV #,8LPADR :sSET SCOPE LOOFP ADDRESS
(3) 001 LENDC

(3) 000 LENDC

(3) 001 .IF NB

(3) 002 JIF DF SMAIL

(3) . IRP TNM,<\$TN=1>

(3) MOV #'TNM,STESTN ::SET TEST NUMBER IN APT MAIL BOX
(3) .ENDM

(3) 001 LENDC

(3) 000 LENDC

(2) 000000 .REPT 0

(2) NLIST

(2) LRADIX 10

(2) LLIST

(2) . IRP $DN,<\SN>

(2) NEWTST

(2) : MOV #SDN,STSTNM ;SAVE THIS

(2) .ENDM

(2) .NLIST

(2) .RADIX 8

(2) LLIST

(2) :.11F NB <, MOV # ,RETURN :SET UP THIS RETURN
(2) :.11F NB <, MOV #,1COUNT :SET UP THIS ICOUNT
(2) :.JF NB ©

(2) : MOV # NEXT :GO TO THIS TEST WHEN THRU
(2) AFF

(2) NLIST

(2) LRADIX 10

(2) LLIST

(2) .IRP SDE‘<\SE>

(2) JUF DF  TST'SDE
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MOV #TST'SDE,NEXT ;GO TO THIS TEST WHEN THRU

_—~
~

.ENDM
NLIST
.RADIX
%iis
:ENDC MOV #.EOP,NEXT :G0 TO THIS TEST WHEN THRU
LENDC(
:.11F NB <, MOV #,L0CK :SET UP FOR SCOPE LCOP
.NLIST
RADIX 10
SN=SN+1
$E=SE+1
.RADIX 8
LIST
.ENDR
004220 TSETUP MINT,SYNINT,EIGHT ,ODDPAR,26
004220 SRESET
004220 052777 000400 175500 BIS #MRESET,3TXCSR ;MASTER RESET
8825%2 012777 030000 175466 SAESET MOV #SYNINT ,aPARCSR ;SET THE MODE
004234 052777 000400 175464 BIS #MRESET,@TXCSR ;MASTER RESET

sSET MAINTENANCE MODE & SEND
;NOTE:BIT WINDOWECLK ARE CLEARED (MTDATA=0)
006242 012777 004020 175456 Mov #MINT!SEND,@TXCSR

sSET HOD;.' OF BITS,PARITY SENSE,& LOAD SYNC REG

b i e e i i D o i NI TN e o i e NI N e e s i e V) TN NI N NI NI AL NN N AWNIND = NN NI PN NI N PN RN N NN NN

AAAAAAAA&AAAA&AﬁﬂﬂﬁaﬂﬂﬁﬂﬂﬂﬁﬁﬂﬂaAﬁﬂﬂaﬂﬂﬁﬂﬂﬂﬂﬂhﬂhhhﬂﬂﬂﬂhﬂ
vvvv\pvwvvvvvvvvvvvvvvvvvvvvvvv\vvvkuvvvvvvvvvvvvvvuvvvv

004250 012777 037026 175444 ov #SYNINT'EIGHT ! ODDPAR' 26, 3PARCSR
004256 016703 175444 MOV TXCSR,R3 :SET UP FOR ERROR MSG
004262 112777 000125 175442 MOVB  #125,3TXDBUF SLOAD DATA CHAR
004270 012767 000525 175202 MOV #525,$TMP1 :TO BE SHIFTED CHAR
004276 012767 000011 174616 MOV #9. SHIFT ‘# OF SHIFTS

-POKE CLK TO GET INTO SYNCRONIZATION
004304 $POKE
004304 052777 020000 175414 BIS #CLK,ATXCSR :POKE CLK UP
004312 042777 020000 175406 BIC #CLK,QTXCSR :POKE CLK DOWN
004320 005000 1%: CLR RO
004322 006067 175152 ROR $TMP1  :FORCE CARRY
004326 103002 BCC 2% :BR IF CARRY CLR
882%32 052700 002000 - BIS #B1TW,RO ;EQUIV OF BITW
004334 052777 020000 175364 BIS #CLK,TXCSR :POKE CLK UP
004342 042777 020000 175356 BIC #CLK.RTXCSR *POKE CLK DOWN
004350 017701 175352 MOV STXCSR,R1 SACTUAL
004354 042701 075777 BIC 2075777 .1 *SAVE BITW & DNA
004360 020001 CMP RO.R1 ;COMPARE EXP VS ACT
004362 001401 BEQ +
006364 104003 ERROR 3 :BIT WINDOW DID NOT MATCH ACTUAL DATA

:BIT,...ALSO CHECK DNA

004366 005367 174530 DEC SHIFT  :# Of SHIFTS
004372 001352 BNE 18 ‘DO IT AGAIN ?

:NOW POKE CLK TO SEE DNA
004374 052777 020000 175324 BIS #CLK,3TXCSR :POKE CLK

001 AF IDN <1SYMOD>,<SYNINT>
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CNDUUA . M11 29-0(1-82 13:2 INITIALIZE THE COMMON TAGS
(1) JET
2}; - MOV #0,R0  ;EXPECTED
(1) 004402 012700 100000 MOV #100000,R0 :EXPECTED
(1) 000 JENDC
(1) 004406 017701 175314 MOV TXCSR,RY ;ACTUAL
(1) 004412 042701 077777 BIC R77777.R1 :SAVE DNA ONLY
(1) 004416 020001 CMP RO,R1 :COMPARE EXP VS ACT
(1) 004420 001401 BEQ RYA
(1) 006422 104003 ERROR 3 :DNA SHOULD BE SET
(1) :1F DNA DID NOT SET
{}; :CHECK WORD LENGTH SELECT LOGIC

8154 004424 $TRPAR EIGHT,11.,EVEPAR,ISYMOD,125,2252

(N ::THIS TEST VERIFYS CHARACTER PLUS PARITY GENERATION
(1) ::0F THE TRANSMITTER SECTION.
(1) ::1T ALSO CHECKS DNA TIMING
(1) s sMODE:1SYMOD
(1 SILENGTH:EIGHT PLUS PARITY
(1) ::PARITY:EVEPAR
§}§ ::CHARACTER:125
(1) 004424 $TSTNO
(2) 0046424 NEWTST
(3) 000000 SNWTST=0
(3) 001 AF B ©
(3) 004424 SSNEWTEST \$TN,<>,SCOPE
(4) .IRP ASC],<>
(4) JIF EQ SNWTST
(4) .NLIST
(4) $NWTST=1
(4) LSBTTL T5 ASCI
(4) LIST
(4) STARS
(4) ;*TEST S ASCI
(4) VIFF
(4) ASC]
(4) JENDC
(4) .ENDM
(&) 004624 STARS
(5) 002 JIF B
(5) PR AR R RN RN RN NN RN R AR RN RPN AR AR R RR RN RR R RN RAR RO RO
(5) LIFF
(5) CNLIST
(5) .REPT
(5) LIST
(S) :;ttttttttIi.t"."'."t'.'t.!l!tt'tttllt!tttt.!ttl.ttllttltt.ttl
(5) .NLIST
(5) ENDR
(5) LLIST
(5) 001 JENDC
::; 004426 000004 TSTS:  SCOPE
(4) 000006 $TN=$TN*1
(3) LIFF
(3) $ENEWTEST \$IN, >,

SEQ 0056
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IZE THE COMMON TAGS

-ENDC
.IF NE 40008$SWR
.1F NB

- MOV #1,8TIMES ::D0 1 ITERATION

’ MOV #,$TIMES ::D0 ITERATIONS

JENDC

JENDC

.IF NB

- MOV #,$LPADR ::SET SCOPE LOOP ADDRESS
JENDC

.if NB

.IF DF SMAIL
.IRP TNM,<\$TN=1>

MOV #'TNM,STESTN ssSET TEST NUMBER IN APT MAIL BOX

LRADIX 10

.IRP $DN,<\SN>

NEWTST

3 MOV #SDN,STSTNM ;SAVE THIS
.ENDM
.NLIST
.RADIX 8

3 NB <, MOV # ,RETURN ;SET UP TH
:.xxrﬂga <, MOV #,1COUNT sSET UP TH

<O
MOV # NEXT ;GO TO THIS TEST WHEN THRU

.RADIX 10

.IRP SDE,(\SE)
.IF DF TST'SDE
: MOV HTIST'SDENEXT ;GO TO THIS TEST WHEN THRU

MOV # .EOP ,NEXT ;GO TO THIS TEST WHEN THRU

IS RETURN
IS ICOUNT

:.11F NB <, MOov #,LCCK  ;SET UP FOR SCOPE LOOP

S$E=SE+1
.RADIX 8

SEQ 0057
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NITIALIZE THE COMMON TAGS — SEQ 0058
(2) JLIST
(2) "ENDR
(1) 004426 TSETUP MINT,ISYMOD,EIGHT,EVEPAR,26
(g) 004426 SRESET
(3) ooa«ge 052777 000400 175272 BIS #MRESET,aTXCSR ;MASTER RESET
gzg 882243 012777 000000 175260 - MOV #1SYMOD .aPARCSR :SET THE MODE
:g; 004442 052777 000400 175256 BIS #MRESET,3TXCSR ;MASTER RESET
(2) :SET MAINTENANCE MODE & SEND
(2) *NOTE:BIT WINDOWRCLK ARE CLEARED (MTDATA=0)
zg; 004450 012777 004020 175250 MOV #MINT ! SEND,@TXCSR
(2) :SET MODE.# OF BITS,PARITY SENSE,& LOAD SYNC REG
(2) 004456 012777 007426 175236 MOV #1SYMOD'EIGHT 'EVEPAR ' 26,3PARCSR
(1) 0064b& 016703 175236 MOV TXCSR,R3 :SET UP FOR ERROR MSG
(1) 004470 112777 000125 175234 MOVB  #125,3TXDBUF  :LOAD DATA CHAR
(1) 006476 012767 002252 174774 MOV #2252,$TMP1 *TO BE SHIFTED CHAR
(1) 006504 012767 000013 174410 MOV #11, SHIFT ‘# OF SHIFTS
(1) :POKE CLK TO GET INTO SYNCRONIZATION
(1) 004512 $POKE
(2) 004512 052777 020000 175206 BIS #CLK,ATXCSR :POKE CLK UP
(2) 004520 042777 020000 175200 BIC #CLK.ATXCSR *POKE CLK DOWN
(1) 004526 005000 1%: CLR RO
(1) 004530 006067 174744 ROR $TMP1  :FORCE CARRY
(1) 004534 103002 BC( 2% ‘BR If CARRY CLR
}}; 832223 052700 002000 . BIS #BITW.RO :EQUIV OF BITW
(2) 004542 052777 020000 175156 BIS #CLK,BTXCSR ;POKE CLK UP
(2) 004550 042777 020000 175150 BIC #CLK.TXCSR *POKE CLK DOWN
(1) 004556 017701 175144 MOV aTXCSR, R SACTUAL
(1) 004562 042701 075777 BIC #075777 ,R1 :SAVE BITW & DNA
(1) 004566 020001 CMP RO,R1  :COMPARE EXP VS ACT
(1) 004570 001401 BEQ L+
(1) 004572 104003 ERROR 3 :BIT WINDOW DID NOT MATCH ACTUAL DATA
(1) ‘BIT,...ALSO CHECK DNA
(1) 004574 005367 174322 DEC SHIFT  :# OF SHIFTS
(1) 004600 001352 BNE 1% ‘D0 1T AGAIN ?
(1) :NOW POKE CLK TO SEE DNA
(1) 004602 052777 020000 175116 BIS #CLK,TXCSR :POKE CLK
f}; 001 '{;1 IDN <ISYMOD>, <ISYMOD>
:}; 024610 012700 000000 e MOV #0,R0  ;EXPECTED
(1) MOV #100000,R0 :EXPECTED
(1) 000 JENDC
(1) 006614 017701 175106 MOV aTXCSR,R1 :ACTUAL
(1) 004620 04201 077777 BIC 877777 .R1 *SAVE DNA ONLY
(1) 004626 02000° CMP RO,R1 *COMPARE EXP VS ACT
(1) 004626 001401 BEQ RYA
(1) 004630 104003 ERROR 3 :DNA SHOULD BE SET
(1) S1F DNA DID NOT SET
<}) *CHECK WORD LENGTH SELECT LOGIC
(1)
8155 004632 $TRPAR EIGHT,11.,0DDPAR, ISYMOD,125,3252
(" :THIS TEST VERIFYS CHARACTER PLUS PARITY GENERATION
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INITIALIZE THE COMMON TAGS

::0F THE TRANSMITTER SECTION.
1T ALSO CHECKS DNA TIMING
..nODE 1SYMOD
..LEN?TH ElguIRPLus PARITY
..CHARACT 1125
$TSTNO
NEWTST
SNWTST=0
AF B ©
SSNEWTEST \$TN,<>,SCOPE
jd ASCI,<>
NWTST

- -

16 ASCI

Té ASCI

e Sa e o @Ml o o

— .——cmm — =N Z D et
OO "M D —t =

=

";22 MNuaPpeDE MDD
w

ltt'.til.".'."""'f.."""'t...."...I.t'.ﬁ"..'...."".!.

NLIST
.REPT
.LIST

ti'i.i'i.."t""'t"ttQ.".t'tlilt!'t'.'t.'tlt.tttt..'.it.tt.'

NLIST
.ENDR
.LIST

.ENDC

1516: SCOPE

$TN=8STN+1

JFF
$SSNEWTEST \$IN, <>,

.ENDC

.JF NE 40008$SWR

.JF NB

JF LE <=1>

- MOV #1,8TIMES ::D0 1 ITERATION

MOV #,8TIMES ::D0 ITERATIONS

LENDC

LENDC

.IF NB
Mov #,$LPADR

-
-

S

::SET SCOPE LOOP ADDRESS

SEQ 0059
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001
000
000000

052777
012777

052777

012777

012777

000400

000400

004020

007026

17
000000 17
17

175042

175030
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.IRP TNM,<\$TN=1>
—— MOV #'TNM,STESTN ::SET TEST NUMBER IN APT MAIL BOX
LENDC
LENDC
LREPT 0
NLIST
RADIX 10
LIST
IRP__ SDN,<\$N>
NEWTST
3 MOV #SDN,STSTNM ;SAVE THIS
.ENDM
NLIST
.RADIX 8
LIST
:.]1F NB <>, MOV # ,RETURN :SET UP THIS RETU
:.}g!uga<> <>, MOV #,1COUNT :SET UP THIS ICOU
: oo MOV # NEXT :GO TO THIS TEST WHEN THRU
.NLIST
LRADIX 10
LIST
. IRP SDE,(\SE)
JIF DF TST'SDE
: MOV #TST'SDE  NEXT :GO TO THIS TEST WHEN THRU
.ENDM
LNLIST
LRADIX 8
41k
: MOV # .EOP,NEXT ;GO TO THIS TEST WHEN THRU
.ENDC
LENDC
:.11F NB <, MoV #,L0CK :SET UP FOR SCOPE LOOP
NLIST
LRADIX 10
SN=$N+1
$E=SE+1
.RADIX 8
LLIST
.ENDR
Ig%gg? MINT,ISYMOD,E IGHT ,0DDPAR,26
64 BIS #MRESET ,@TXCSR ;MASTER RESET
52 ——— MOV #1SYMOD ,aPARCSR ;SET THE MODE
BIS #MRESET,@TXCSR ;MASTER RESET

sSET HAINTENANCE MODE & SEND
NOTE:BIT WINDOWRCLK ARE CLEARED (MTDATA=0)
HOV #MINT!SEND,@TXCSR

;SET MODE.# OF BITS,PARITY SENSE,® LOAD SYNC R
MOV #1SYMOD'EIGHT!O0DD A 2 .3 P ARCS

EG
R

R
N

N
T

SEQ 0060



CNDUU=-A HACY\1230(104 ) 14 95(-82 10:02 PAGE 62-47
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(1) 004672 01679; 175032 MOV ™ ga R3 :SET UP FOR ERROR MSG
(1) 004676 1127 00215 175?26 MOVB  #125,3TXDBUF  :LOAD DATA CHAR
(1) 0047064 012767 0032 g 174566 MOV 2,$TMP *TO BE SHIFTED CHAR
(1) 004712 012767 000013 174202 MOV 1, SHIFT ‘¥ OF SHIFTS
(N :POKE CLK TO GET INTO SYNCRONIZATION
(1) 004720 $POKE
(2) 004720 052777 020000 175000 BIS #CLK,ATXCSR :POKE CLK UP
(2) 004726 042777 020000 174772 BIC #CLK.ATXCSR :POKE CLK DOWN
(1) 00473 005000 1%: CLR RO
(1) 004736 006067 174536 ROR $TMP1  :FORCE CARRY
(1) 004742 103002 BCC 2 :BR IF CARRY CLR
g}; 882;§3 052700 002000 - BIS #B1TW,RO :EQUIV OF BITW
(2) 004750 052777 020000 174750 BIS #CLK,ATXCSR :POKE CLK UP
(2) 004756 042777 020000 174742 BIC #CLK .ATXCSR *POKE CLK DOWN
(1) 004764 017701 174736 MOV TXCSR, R SACTUAL
(1) 004770 042701 075777 BIC #075777.R1 :SAVE BITW & DNA
(1) 004774 020001 CMP RO,R1 “:COMPARE EXP VS ACT
(1) 004776 001401 BEQ ,+
(1) 005000 104003 ERROR 3 :BIT WINDOW DID NOT MATCH ACTUAL DATA
(1) :BIT,...ALSO CHECK DNA
(1) 005002 005367 174114 DEC SHIFT  :# OF SHIFTS
(1) 005006 001352 BNE 1% ‘DO IT AGAIN ?

(1) :NOW POKE CLK TO SEE DNA
(1) 005010 052777 020000 174710 BIS #CLK,ATXCSR ;POKE CLK
:}; 001 .};T IDN <ISYMOD>,<ISYMOD>
:}; 005016 012700 000000 e MOV #0,RP0  EXPECTED
(1 MOV #100000,R0 ;EXPECTED
(1) 000 JENDC
(1) 005022 017701 174700 MOV STXCSR,R1 :ACTUAL
(1) 005026 042701 077777 BIC 877777 R *SAVE DNA ONLY
(1) 005032 020001 CMP RO,R1 : COMPARE EXP VS ACT
(1) 00503¢ 001401 BEQ .+
(1) 005036 104003 ERROR 3 :DNA SHOULD BE SET
(1) :1F DNA DID NOT SET
(1 SCHECK WORD LENGi+H SELECT LOGIC
(1)
8156
8157 005040 $TRPAR EIGHT,9.,EVEPAR,SYNINT, 252,252
(1) ssTHIS TEST VERIFYS CHARACTER PLUS PARITY GENERATION
(1) S:0F THE TRANSMITTER SECTION.
(1) :31T ALSO CHECKS DNA TIMING
(1) 2 3MODE : SYNINT
) SSLENGTH:EIGHT PLUS PARITY
(1) ::PARITY:EVEPAR
:}; : sCHARACTER:252
(1) 005040 $TSTNOD
(2) 005040 NEWTST
(3) 000000 SNWIST=0
(3) 001 JF B ©
(3) 005040 SSNEWTEST \$TN,<>,SCOPE
(&) JRP  ASCI,<>
(4) "IF E0 SNWTST



9

CNDUU=A MACY11_30(1046)
CNDUUA.M 29-0(T1-82 1
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(4)

(4)

(4)

(4)

(4)

(4)

(4)

(4)

(4)

(4) 005040

(%) 002
(%)

(5)

(%)

(%)

(%)

(%)

(%)

(%)

(%)

(5) 001
22; 005040 000004
(4) 006010
(3)

(3)

(3 000
(3) 001
(3) 002
(3) 003
(3)

(3)

(3)

(3) 002
(3) 001
(3) 002
(3)

(3) 001
(3) 000
(3) 00
(3) 002
(3)

(3)

(3)

(3) 001
(3) 000
(2) 000000
(2)

(2)

(2)

(2)

(2)

(2)

(2)

(2)

14-DEC-82 10:0
3:29

[ od s ]

z
fmn
OO TMDN—d=dbs 4D
~m™m
~NON
mro

-48
T

l HE COMMON TAGS

et P>
ll.

p—
~

ASCI

NN =N =D

T7 ASCI

e SaNe o @M.
MM s -FnNZ2Z
2 TM=P=—DErT

SSNEWTEST
E 40C08$SWR

E <=1>
MOV #1,8TIMES

MOV #,8TIMES

o FEZﬁ

D2DMMM b= =M™

Mov # ,SLPADR

oo

DM 22
D205 gﬂn
-

©

SMAIL
TNM, <\$TN=-1>
MOV #'TNM, STESTN

—— N =R
D -4
o

10
$DN, <\SN>
MOV #SDN,$TSTNM

—DrmaZZZ
VNO=TDVOOO

L
=~

.lR
NEWTST

"ENDM
INLIST

\$TN, O,

::D0 1 ITERATION

::D0 ITERATIONS

:sSET SCOPE LOOP APDRESS

s:SET TEST NUMBER IN APT MAIL BOX

;SAVE THIS

SEQ 0062
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CNDUUA. M7 Y 29-0CT-82 13:2 INITIALIZE THE COMMON TAGS SEQ 0063
(2) .RADIX 8
(2) LIST
(2) :.11F NB <o, MOV # ,RETURN :SET UP THIS RETURN
(2) :.11F NB <>, MOV #,1COUNT :SET UP THIS ICOUNT
(2) :.1F NB <
g%; - MOV #.NEXT ;GO TO THIS TEST WHEN THRU
(2) NLIST
(2) RADIX 10
(2) LIST
(2) JIRP_ $DE <\$E>
(2) JIF DF  TSTYSDE
(2) ; MOV #TST'SDE,NEXT ;GO TO THIS TEST WHEN THRU
(2) -ENDM
(2) NLIST
(2) .RADIX 8
(2) LIST
(2) JIFF
(2) : MOV # .EOP,NEXT ;GO TO THIS TEST WHEN THRU
(2) "ENDC
(2) .ENDC
(2) ;. 1IF NB <o, MOV #,L0CK ;SET UP FOR SCOPE LOOP
(2) NLIST
(2) LRADIX 10
(2) SN=$N+1
(2) SE=$E+1
(2) LRADIX
(2) LIST
(2) .ENDR
(1) 005042 TSETUP MINT,SYNINT,EIGHT,EVEPAR,26
(2) 005042 SRESET
(3) 005042 052777 000400 174656 BIS #MRESET,@TXCSR  ;MASTER RESET
(2) 005050 012777 030000 174644 MOV #SYNINT,@PARCSR :SET THE MODE
(2) 005056 SRESET
53; 005056 052777 000400 1746642 BIS #MRESET,ATXCSR  :MASTER RESET
(2) ;SET MAINTENANCE MODE & SEND
(2) ;NOTE:BIT WINDOWECLK ARE CLEARED (MTDATA=0)
55; 005064 012777 004020 174634 MOV #MINT!SEND,@TXCSR
(2) ) ;SET MODE.# OF BITS,PARITY SENSE.& LOAD SYNC REG
(2) 005072 012777 037426 174622 MOV #SYNINT 'EIGHT 'EVEPAR' 26, 3PARCSR
(1) 005100 016703 174622 MOV TXCSR,R3 ;SET UP FOR ERROR MSG
(1) 005104 115777 800252 174620 MOVB 055%.51xoaur :LOAD DATA CHAR
(1) 005112 012767 000252 174360 MOV #252,$TMP1 :TO BE SHIFTED CHAR
(1) 005120 012767 000011 173774 MOV #9. . SHIFT :# OF SHIFTS
(1) :POKE CLK TO GET INTO SYNCRONIZATION
(1) 005126 $POKE
(2) 0051%6 052777 020000 174572 BIS #CLK,ATXCSR ;POKE CLK UP
(2) 005134 042777 020000 174564 BIC #CLK.ATXNCSR :POKE CLK DOWN
(1) 005142 005000 18: (LR RO
(1) 005144 006067 174330 ROR $TMP1  ;FORCE CARRY
(1) 005150 103002 BCC 2% :BR I[F CARRY CLR
:}; 88;}25 052700 002000 - BIS #811W,R0 ;EQUIV OF BITW
(2) 005156 052777 020000 174542 BIS #CLK,3TXCSR :POKE CLK UP
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0(1046) 14-DEC-B2 10:02 PAGE 62-50
23-0(1-32 13:29 INITIALIZE THE COMMON TAGS
042777 020000 174534 BIC #CLK,DTXCSR ;POKE CLK DOWN
17701 1;49;8 MOV artx §n R SACTUAL
42701 075777 BIC #075777.R1 :SAVE BITW & DNA
020001 CMP RO,R1 “:COMPARE EXP VS ACT
001401 BEQ +d
104003 ERROR 3 ;BIT WINDOW DID NOT MATCH ACTUAL DATA
:BIT,...ALSO CHECK DNA
005%67 173706 DEC SHIFT  :# OF SHIFTS
001352 BNE 1$ :D0 IT AGAIN ?
:NOW POKE CLK TO SEE DNA
052777 020000 174502 BIS #CLK,DTXCSR :POKE CLK
001 }Fr IDN <ISYMOD>,<SYNINT>
- MOV #0,R0  ;EXPECTED
012700 100000 MOV #100000,R0 sEXPECTED
000 .ENDC
017701 174472 MOV ATXCSR,R1 ;ACTUAL
042701 077777 BIC #7777 R :SAVE DNA ONLY
020001 CMP RO,R1 :COMPARE EXP VS ACT
001401 BEQ R
104003 ERROR 3 ;:DNA SHOULD BE SET
:1F DNA DID NOT SET
:CHECK WORD LENGTH SELECT LOGIC
$TRPAR EIGHT.9..0DDPAR,SYNINT,252,652
s:THIS TEST VERIFYS CHARACTER PLUS PARITY GENERATIOM
::0F THE TRANSMITTER SECTION.
::1T ALSO CHECKS DNA TIMING
s sMODE : SYNINT
SSLENGTH:EIGHT PLUS PARITY
:sPARITY:0ODDPAR
:sCHARACTER: 252
$TSTNO
NEWTST
000000 SNWTST=0
001 AF B ©
$SNEWTEST \$TN,<>,SCOPE
JRP ASCI, <
JIF EQ SNWTST
NLIST
$NWTST=1
LSBITL T10 ASCI
LIST
STARS
;*TEST 10 ASCI
JIFF
ASCI
LENDC
.ENDM
STARS
:ittl't!llt'tt'lt.".t't'it"'tt'tttllttlttitttlit'ttttltttttlttl
"1FF

«NLIST

SEQ 0064



CNDUU=-A MACY11_30(1046) 14-DEC-B2 10:02 PAGE 62-51
52 CNDUUA.M11 23-0(1-82 13:29 INITIALIZE THE COMMON TAGS SEQ 0065

.REPT
LIST

::'"tt".t'tt.t""."t"."".".i"'.l"i...l't'.'."Il..t..'.

~
N
-~

LLIST

001 .

005246 000004 i
000011

L 4

L]

™ [eSySS Sy 2laal [ Taalasl b bt T) e = wvymrm
-
-

SSNEWTEST \$IN, <>,
E 40008$SWR

<=1>
MOv #1,8TIMES ::D0 1 ITERATION

MOV #,8TIMES ::D0 ITERATIONS

o

MMM NI i D
-
=0

m®

o
o
-—
e e @

MOV # ,SLPADR ::SET SCOPE LOOP ADDRESS

o
o
e

. ® & 9 0

SMAIL
P TNM,<\$TN=1>
MOV #'TNM, STESTN :sSET TEST NUMBER IN APT MAIL BOX

001 "ENDC
000
000000 "REPT 0
"RADIX 10
. IRP $DN,<\SN>

.~~~ T~~~ T~~~ T~ T~ T~~~ T~~~ T~ T~ N~~~ P~ P~ T~~~ P~ T~~~ T~ P~~~ T~~~ T~~~ P~ P~ P~
AL AL L L AL DAL AL NI AL AL AL ORI NI U AU AL N LN N NN N NN A NN N N NN N NN NN S B 5SS v o
- e N N P N N N N N N N N N N N N N N N N i o N N P i N T P " i N N P T P P

NEWTST
3 MOV #SDN,STSTNM ;SAVE THIS
+.ENDM
NLIST
e e
:.11F NB <, MOV # ,RETURN :SET UP THIS RETURN
:.}gfuga <, MOV #,1COUNT sSET UP THIS ICOUNT
2o <
:lff MOV # NEXT ;GO0 TO THIS TEST WHEN THRU
NLIST
LRADIX 10
LLIST
.IRP $DE‘<\SE>
.AF DF TST'SDE
] MOV #1STSDE NEXT ;GO TO THIS TEST WHEN THRU
2 .ENDM
é NLIST
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CNDUUA.M11 29-0CT TIALIZE THE COMMON TAGS SEG 0066
(2) LRADIX 8
(2) LIST
(5) JIFF
(2) : MOV #.EOP, NEXT :G0 TO THIS TEST WHEN THRU
(2) JENDC
(2) JENDC
(2} :.11F NB <, MOV #,L0CK :SET UP FOR SCOPE LOOP
(5) NLIST
(2) LRADIX 10
(2) $N=$N+1
(2) $SE=SE+1
(2) .RADIX 8
(2) LIST
(2) .ENDR
(1) 005250 TSETUP MINT,SYNINT,EIGHT,ODDPAR, 26
(§> 005250 SRESET
(3) 005250 052777 000400 174450 BIS #MRESET,TXCSR :;MASTER RESET
(2) 005256 012777 030000 174436 MOV #SYNINT,@PARCSR ;SET THE MODE
(g) 005264 $SRESET P
§23 005264 052777 000400 174434 BIS #MRZSET,3TXCSR  ;MASTER RESET
(2) ;SET MAINTENANCE MODE & SEND
(2) NOTE:BIT WINDOWELLK ARE CLEARED (MTDATA=0)
zg; 005272 012777 004020 174426 MOV #MINT'SEND,@TXCSR
(2) :SET MODE.# OF BITS,PARITY SENSE,.& LOAD SYNC REG
(2) 005300 012777 037026 174414 MOV #SYNINT'EIGHT ! ODDPAR ' 26,3PARCSR
(1) 005306 016703 174414 MOV TXCSR,R3 :SET UP FOR ERROR MSG
(1) 005312 112777 000252 174412 MOVB  #252,3TXDBUF .LOAD DATA CHAR
(1) 005320 012767 000652 174152 MOV #652.% np1 :TO BE SHIFTED CHAR
(1) 005326 012767 000011 173566 MOV #9. SHIFT ¥ OF SHIFTS
(1) POKE CLK TO GET INTO SYNCRONIZATION
(1) 005334 $POK
(2) 005334 052777 020000 174364 BIS #CLK,RTXCSR :POKE CLK UP
(2) 005342 042777 020000 174356 BIC #CLK,RTXCSR :POKE CLK DOWN
(1) 005350 005000 1$: CLR RO
(1) 005352 006067 174122 ROR $TMP1  ;FORCE CARRY
(1) 005356 103002 BCC 2% :BR [F CARRY CLR
:}; 883%22 052700 002000 - BIS #B81TW,RO’ :EQUIV OF BITW
(2) 005364 052777 020000 174334 BIS #CLK,ATXCSR :POKE CLK UP
(2) 005372 042777 020000 174326 BIC #CLK.RTXCSR :POKE CLK DOWN
(1) 005400 017701 174322 MOV aTXCSR,RT *ACTUAL
(1) 005404 042701 075777 BIC #075777.R1 SSAVE BITW & DNA
(1) 005410 020001 CMP RO.R1 ;COMPARE EXP VS ACT
(1) 005412 001401 BEQ RYA
(1) 005414 104003 ERROR 3 :BIT WINDOW DID NOT MATCH ACTUAL DATA
(1 ‘BIT,...ALSO CHECK DNA
(1) 005416 005367 173500 DEC SHIFT  :# OF SHIFTS
(1) 005422 001352 BNE 1$ ‘D0 IT AGAIN ?
(N :NOW POKE CLK TO SEE DNA’
(1) 005624 052777 020000 174274 8IS #CLK,3TXCSR :POKE CLK
:}; 001 .{;' IDN <ISYMOD>,<SYNINT>
(1 MOV #0,R0  ;EXPECTED
(1 JIFF
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—

005432 012708
005436 017701

005450
005452

005454

005454
005454
000000
001
005454

- vvvvvvvvvvvvwvvwvvvvvvvvo\nvuvvvvvu

005454
002

001
005454 000004
000012

.~ .~~~ T~~~ T~~~ T~ T~~~ T~~~ T~~~ T~~~ T~~~ P P~~~ — . P P~ PN~~~
WWIN S B BNV NVMAWVNNE B BB BB ONNNN = o B\ e h o b h ch s b b

- N N N S St N N N N S

W

000
001
002

595(-82

100000

174264
077777

10:02 PAGE 62-53

INITIALIZE THE CCMMON TAGS

o MOV #100000,R0 ;EXPECTED
MOV ATXCSR,R1 :ACTUAL
BIC #77777.R1 SSAVE DNA ONLY
CMP RO,R1 :COMPARE EXP VS ACT
BEQ o
ERROR 3 :DNA SHOULD BE SET

;1F DNA DID NOT SET
sCHECK WORD LENGTH SELECT LOGIC

$TRPAR EIGHT,9.,EVEPAR,SYNINT,0,0
::THIS TEST VERIFYS CHARACTER PLUS PARITY GENERATION
$:0F THE TRANSMITTER SECTION.
3317 ALSO CHECKS DNA TIMING
2 sMODE : SYNINT
SLENGTH:EIGHT PLUS PARITY
::PARITY:EVEPAR
::CHARACTER:0

$TSTNO

NEWTST

SNWTST=0

AF B ©
SSNEWTEST

.IRP ASCI, <

LJF EQ SNWTST

.NLIST

SNWTST=1

LSBTTL TN ASCI

LLIST

s*TEST N ASCI

\$TN,<>,SCOPE

ENDC

.ENDM

ST?R%
;gttﬁt'ttltt.ttt.'li.'i't'tttt'ttititt'tltittt'tttttittttitttttt.
AFF

«NLIST

.REPT

B2 2222222223332 2322332322323232222230 22222200220 0R2RRRRRRRRRRRRRA)

TNLIST

g T
C
1:

o e
S Suea 7Y e 1 vymre
-y MZ v
-un - W
o
—
=
*
-

SSNEWTEST

C
NE 4000E$SWR
NB

\$IN, O,
D

SEQ 0067



CNDUU=A MACY11_30(1046) ;6595(-82 10:02 PAGE 62-54

CNDUUA . M1 29-0CT1-82 1 INITIALIZE THE COMMON TAGS SEQ 0068
003 F LE <=1>
16F MoV #1,8TIMES ;:D0 1 ITERATION

Mov #,8TIMES ::D0 ITERATIONS
002 +ENDC
001 +ENDC
002 .1F NB

Mov ¥ ,SLPADR ;sSET SCOPE LOOP ADDRESS
001 +ENDC
000 +ENDC
001 .1F NB
002 .IF DF SMAIL

.IRP TNM,<\$TN=1>
ENDR MOV #°TNM,STESTN ::;SET TEST NUMBER IN APT MAIL BOX

-ENDC

000000 REPT 0

RADIX 10

« IRP $ON, <\SN>

NEWTST

H MOV #SDN,STSTNM ;SAVE THIS
.ENDM
.NLIST
.RADIX B8

LIST

:.11F NB <, MoV # ,RETURN :SET UP THIS
:.}gFNgB< <>, Mov #,1COUNT ;SET UP THIS
oo >

: MOV # NEXT ;GO TO THIS TEST WHEN THRU

o0
[=le)
O -

RETURN
ICOUNT
T

X 10

.IRP $DE ,<\$E>

"IF OF TSTYSDE
. MOV #TST'SDE.NEXT ;G0 TO THIS TEST WHEN THRU

MOV # .EOP NEXT ;GO TO THIS TEST WHEN THRU

NB <, MoV #,L0CK ;SET UP FOR SCOPE LOOP

“AAAAhAAAﬂAﬂAAAA'\AA‘\A&A’\AAAﬂf\d\l\;\AAAAAAAAI\AA’\’\AAAA’\AAAAAA

Lt Lt L L L L LS LS LS LS ST NL NI NT NI NS TN LS LN LN NI LS TN LS DN LS LN LS LN N LS DN LS LN L STV T W IV LV VLW (W [V LV VLV
~ o o o e e e N N N N N N N e N e N e e e S W ' N e N e e e e e N N N N N N N it N

=3

.ENDR
005456 TSETUP MINT,SYNINT EIGHT ,EVEPAR, 26



CNDUU=A MACY11
CNDUUA . M1

o~~~ -~ —~ T~~~ T~~~ T~~~ T~ P~~~ P~~~ T~~~ T~~~ T~~~ P~~~

s it e O e o e D e i i D i D i D o i D ) i i e D o e e D NI N D D i B PN\ D D e e e =B NI NI NI NI NI NI RIINNIND

\—vw\—O\—vvwvvvvvvvvvvvvvvvvvvvvv\-'vvvvvvvvvvvvvv\fvwvvwvvvvy

005456

00

VIVIWVIWVAWVIWVAIWVAIVAIWA . WAV I
ONO"OCOC O VTWWIWAWVIWVAIWIUVIVY - AWV

NNV LDOO NN VNS S WWNN=O
OOV ONNON SOOI SO OSSO

005632

005640

005644
005650
005654
005656
005660

005662

0(1046)

29-0CT-82 13:2

052777
012777

052777

8 OO0 =000000 O—=0000
~n
ON WW OfONNNN NOOONN

ON ViIFh OOOCOONN OO0ONN
- NN WeamaayN ONONO NN

012700

000
017701
042701
020001

001401
104003

16-95(*82
000400 174242
030000 174230
000400 174226
004020 174220
037426 174206
174206
000000 174204
000000 173744
000011 173360
020000 174156
020000 174150
173714
002000
020000 174126
020000 174120
1764114
075777
173272
020000 174066
100000
174056
077777

INITIALI
SRESET

SRESET

sSET MA]

10:02 PAGE 62-55

ZE THE COMMON TAGS

BIS #MRESET,aTXCSR ;MASTER RESET
Mov #SYNINT,QPARCSR :SET THE MODE
BIS #MRESET,aTXCSR ;MASTER RESET
NTENANCE MODE & SEND

sNOTE:BIT WINDOWECLK ARE CLEARED (MTDATA=0)
Mov #MINT!SEND,@TXCSR

;SET HODEol OF BITS,PARITY SENSE,.R LOAD SYNC REG

:POKE CL
$POKE

1%:

2%:

:NOW POK

.IF
JFT

. IFF
LENDC

$TRPAR

#SYNINY'EIGﬁT'EVfPAR'Zb aPARCSR
MOV TXCSR,R3 :SET UP FOR ERROR MSG
MOVB  #0,3TXDBUF .LOAD DATA CHAR

MOV 00 srnp1 :T0 BE SHIFTED CHAR

MOV 4 OF SHIFTS

K T0 GET 1uio svucaonnzAilou

BIS #CLK,ATXCSR :POKE CLK UP

gzg gng.atxcsn :POKE CLK DOWN,

ROR $TMP1  ;FORCE CARRY

BCC 2$ :BR IF CARRY CLR

BIS #B1TW,RO :EQUIV OF BITW

BIS #CLK,@TXCSR :POKE CLK UP

BIC #CLK.ATXCSR :POKE CLK DOWN

MOV aTXCSR, R *ACTUAL

BIC #075777.R1 :SAVE BITW & DNA

g?g n9£n1 : COMPARE "EXP VS ACT

ERROR ;BIT WINDOW DID NOT MATCH ACTUAL DATA
:BIT,...ALSO CHECK DNA

DEC SHIFT  :# OF SHIFTS

BNE 1s ‘DO IT AGAIN ?

E CLK TO SEE DNA

8IS #CLK,@TXCSR :POKE CLK

IDN <ISYMOD>,<SYNINT>

MOV #0,R0O ;EXPECTED

MOV #100000,R0 ;EXPECTED

MOV aTXCSR,R1 :ACTUAL

BIC #77777.R1 :SAVE DNA ONLY

ggg notat :COMPARE EXP VS ACT

+
ERROR 3 :DNA SHOULD BE SET

:1F _DNA DID NOT SET
s CHECK WORD LENGTH SELECT LOGIC

EIGHI 9..0DDPAR,SYNINT,0,400
:THIS TEST VERIFYS CHARACTER PLUS PARITY GENERATION
*OF THE TRANSMITTER SECTION.

::1! ALSO CHECKS DNA TIMING

: MODE : SYNINT

SEQ 0069
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CNDUUA. M1 29-0CT1-82 1

(1)
00566
00566
000000
00
005662
005662
002

001
005662 000004
000013

N AN N N N N AN N N N NN W NN N W NN 8 B S WV WV NANWNS B B B BB BB P NWRIN = b b

AﬂAAAAAaﬂﬁnﬁaAAAkﬂ“ﬂ\ﬂﬂﬂﬂﬂaaﬁﬂﬂhﬂhﬁﬂﬂﬂAAAAAAﬂﬁﬂAAAAﬂAAﬂA
W
vuww\-r\.-vvvvvvvvvvvvvvvvw\-vvvvvvvvvuvvvvvvkuuvvvvvvvwvvv

14-DEC=-82 10:02 PAGE 62-
3:29 INI lE

NITIALI OMMON TAGS

:EIGHT PLUS PAR]ITY
:0DDPAR
ER:0

< O

$TSTNO
NEWTST
SNWTST=0
JF B &
SENEWTEST \$TN,<>,SCIPE
ASCI, <>
SNWTST
s

v
~—-—.—-90

112 ASCI

VN —-t—nNnnmMm

T 1 ASCI

. e SaNe & M o @
——dTIIT e @ =" N Z Z rete
TMPI2Z2 M=ud=DEr MO

VOVCT MDDV =i
DnNnEO

4222323323322 22222222222202020R 0220220 R R RRRRRRRRRRRRRR 2R 2]

‘:.......".l"""""."""'t'.".tt'ltl.".t.'tl'.'tl'tt"'t.

.NLIST
.ENDR
LLIST
.ENDC
TST12: SCOPE
$TN=8TN+1
. IFF
$SNEWTEST \$TN,<>,O
LENDC
.IF NE 40008$SWR
.JF NB
JF LE <=1>

MoV #1,$TIMES ::00 1 ITERATION
ITERATIONS

MOV #,8TIMES ;.00

MAIL
P TNM,<\$TN-1>

MOV #°TNM, STESTN s:SET TEST NUMBER IN APT MAIL BOX

MOV #,SLPADR :sSET SCOPE LOOP ADDRESS

SEQ@ 0070
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CNDUUA .M 29-0CT-82 13:2 ITIALIZE THE COMMON TAGS
(3) 001 LENDC
(3) 000 "ENDC
(2) 000000 .REPT 0
(2) NLIST
(2) .RADIX 10
(2) LIST
(2) .IRP $DN, <\$N>
(2) NEWTST
(2) : MOV #SDN,$TSTNM sSAVE THIS
(2) .ENDM
(2) NLIST
(2) RADIX B8
(2) LLIST
(2) :.11F NB <>, MOV # ,RETURN sSET UP THIS RE
(2) ;.11F NB <, MOV #,1COUNT :SFT UP THIS IC
(2) :.JF NB O
:%; :IFF MOV # NEXT ;GO TO THIS TEST WHEN THRU
(2) .NLIST
(2) LRADIX 10
(2) .LIST
(2) .IRP SDE‘<\SE>
(2) .UF DF TST'SDE
(2) 3 MOV #TST'SDE  NEXT ;G0 TO THIS TEST WHEN THRU
(2) .ENDM
(2) NLIST
(2) .RADIX 8
(2) LIST
(2) IFF
(2) 3 MOV #.EOP, NEXT ;GO TO THIS TEST WHEN THRU
(2) <ENDC
(2) LENDC
(2) ;.11F NB <, MOV #,L0CK ;SET UP FOR SCOPE LOOP
(2) .NLIST
(2) RADIX 10
(2) SN=SN+1
(2) $SE=SE+1
(2) RADIX
(2) LIST
(2) .ENDR
(1) 005664 TSETUP MINT,SYNINT,EIGHT,ODDPAR,26
(2) 005664 $SRESET
(3) 005664 052777 000400 174034 BIS #MRESET,@TXCSR ;MASTER RESET
(2) 005672 012777 030000 174022 MOV #SYNINT ,aPARCSR ;SET THE MODE
(2) 005700 $RESET
23; 005700 052777 000400 174020 BIS #MRESET,@TXCSR ;MASTER RESET
(2) :SET MAINTENANCE MODE & SEND
(2) :NOTE:BIT WINDOWRCLK ARE CLEARED (MTDATA=0)
:g; 005706 (12777 004020 174012 MOV #MINT!SEND,@TXCSR
(2) :SET MODE.# OF BITS.P RITY SENSE.& LOAD SYNC REG
(2) 005714 012777 037026 174000 0 #SYNIN I‘EIGHT'ODDPAR'Zb aPAR(CSR
(1) 005722 016703 174000 MOV TXCSR,R3 sSET UP FOR ERROR MSG
(1) 005726 112777 000000 173776 MOov8e #0,3TXDBUF .LOAD DATA (HAR
(1) 005734 012767 000400 173536 MOV l‘éO.SlHP\ :T0 BE SHIFTED CHAR

SEQ 0071
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23 SZ 13:29

CNDUUA . M11 -0CT= INITIALIZE THE COMMON TAGS SEQ 0072
(1) 005742 012767 000011 173152 MOV #9.,SHIFT -# OF SHIFTS
POKE CLK TO GET INfO SYNCRONIZAYION
005750 $POKE
005750 052777 020000 17;750 BIS #CLK,DTXCSR ;POKE (LK UP
005756 042777 020000 173742 BIC #CLK.RTXCSR :POKE CLK DOWN
005764 005000 1%: CLR RO
005766 006067 173506 ROR $TMP1  :FORCE CARRY
005772 103002 BCC 2% :BR IF CARRY CLR
882353 052700 002000 - BIS #B1TW,RO sEQUIV OF BITW
006000 052777 020000 173720 BIS #CLK,@TXCSR ;POKE CLK UP
006006 04;777 020000 173712 BIC #CLK.TXCSR :POKE CLK DOWN
006014 017701 173706 MOV aTXCSR,R1 *ACTUAL
006020 042701 075777 BIC #075777 R SSAVE BITW & DNA
006024 020001 CMP RO,.R1 ;COMPARE EXP VS A(CT
006026 001401 BEQ , *h
006030 104003 ERROR 3 :BIT WINDOW DID NOT MATCH ACTUAL DATA
:BIT,...ALSO CHECK DNA
006032 005367 173064 DEC SHIFT  :# OF SHIFTS
006036 001352 BNE 18 ‘D0 IT AGAIN ?
;NOW POKE CLK TO SEE DNA
006040 052777 020000 173660 BIS #CLK,TXCSR :POKE CLK
001 .};' 1DN <ISYMOD>, <SYNINT>
s MOV #0,R0O  ;EXPECTED
006046 012588 100000 a MOV #100000,R0 :EXPECTED
006052 017701 173650 MOV STXCSR,R1 :ACTUAL
006056 062701 077777 BIC #77777.R1 :SAVE DNA ONLY
006062 020001 CMP RO,R1 :COMPARE EXP VS ACT
006064 001401 BEQ YA
006066 104003 ERROR 3 :DNA SHOULD BE SET

;1F DNA DID NOT SET
sCHECK WORD LENGTH SELECT LOGIC

006070 $TRPAR EIGHT,9.,EVEPAR,SYNINT 377,377
::THIS TEST VERIFYS CHARACTER PLUS PARITY GENERATION
:20F THE TRANSMITTER SECTION.
2317 ALSO CHECKS DNA TIMING
2 sMODE : SYNINT
s2LENGTH:EIGHT PLUS PARITY
ssPARITY:EVEPAR
:;CHARACTER:377

005070 $TSTNO
006070 NEWTST
000000 SNWTST=0
001 JAF B ©
006070 SSNEWTEST \$1IN,<>,SCOPE

JRP ASCI, <>

"IF EQ SNWTST

NLIST

SNWTST=1

.SBTTL 113 ASC I
LIST
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CNDUU=-A MACY11_30(1046) _}6595(-82 10:02 PAGE 62-59

CNDUUA . M11 29-0CT=82 1 INITIALIZE THE COMMON TAGS SEQ 0073
(%) STARS
(4) ;*TEST 13 ASCI
(4) JIFF
(4) ASCI
(4) LENDC
(4) .ENDM
(4) 006070 STARS
(5) 002 JIF B
(S) :iit'.t"""""""""0"""!'....'Q.Q'Q".Qtit.t.".".'t.t.
(5) LIFF
(5) NLIST
(5) .REPT
(5) LIST
(S) ::"lt".t.tttttt‘ltt't'ttt'.ttt"lt.'t't't'i't'.!'ttt"'i.ti'tt'.
(5) NLIST
(%) .ENDR
(5) LIST
(5) 001 .ENDC
52; 006070 000004 TST13: SCOPE
(4) 000014 $TN=STN+1
(3) IFF
(3) SSNEWTEST \$TN, <>, <>
<3) 000 JENDC
A3) 001 .IF NE 40008$SWR
(3) 002 .IF NB
(3) 003 JAF LE <=1>
{%3 . MOV #1,8TIMES ::D0 1 ITERATION
(3) MOV ¥,$TIMES ;:00 ITERATIONS
(3) 002 LENDC
(3) 001 .ENDC
(3) 002 JIF NB
(3) MOV #.$LPADR ;:SET SCOPE LOOP ADDRESS
(3) 001 LENDC
(3) 000 LENDC
(3) 001 .IF NB
(3) 002 JIF DF SMAIL
(3) IRP TNM,<\$TN-1>
(3) MOV #'TNM,STESTN  ;:SET TEST NUMBER IN APT MAIL BOX
(3) .ENDM
(3) 001 JENDC
(3) 00 .ENDC
(2) 000000 "REPT 0
(2) NLIST
(2) CRADIX 10
(2) .LIST
(2) JIRP  SDN,<\$N>
(2) NEWTST
(2) p MOV #SON,STSTNM :SAVE THIS
(2) "ENDM
(2) NLIST
(2) .RADIX 8
(2) LIST
(2) ;.11F NB <>, MOV # ,RETURN :SET UP THIS RETURN
(2) :.11F NB <>, MOV #,1COUNT SSET UP THIS ICOUNI



CNDUU=-A HA(Y11230\|046) 1’.-9E(-82 10:02 PAGE 62-60

CNDUUA.M11 -0(T-82 13:2 INITIALIZE THE COMMON TAGS SEQ 0074
(2) :.JF NB O
2 ; S MOV # NEXT :GO TO THIS TEST WHEN THRU
(2) NLIST
(2) LRADIX 10
(2) LIST
(2) IRP__ $DE <\$E>
(%> “1F DF TSTY$DE
(2) ; MOV #TST'SDE,NEXT ;GO TO THIS TEST WHEN THRU
(2) "ENDM
(2) NLIST
(S) "RADIX
(2) LIST
(2) JJFF
(2) ; MOV # .EOP,NEXT :GO TO THIS TEST WHEN THRU
(2) "ENDC
(2) .ENDC
(2) ;. 11F NB <, MOV #,L0CK :SET UP FOR SCOPE LOOP
(2) .NLIST
(2) .RADIX 10
(2) $N=SN+1
(2) $E=SE+1
(2) LRADIX 8
(2) LLIST
(2) .ENDR
(1) 006072 TSETUP MINT,SYNINT,EIGHT,EVEPAR,26
¢§) 006072 $RESET
(3) 006072 052777 000400 173626 BIS #MRESET,3TXCSR ;MASTER RESET
(2) 006100 012777 030000 173614 MOV #SYNINT .9PARCSR :SET THE MODE
(2) 006106 $RESET
gg; 006106 052777 000400 173612 BIS #MRESET,3TXCSR ;MASTER RESET
(2) :SET MAINTENANCE MODE & SEND
(2) *NOTE:BIT WINDOWECLK ARE CLEARED (MTDATA=0)
:g; 006114 012777 (004020 173604 MOV #MINT'SEND,aTXCSR
(2) :SET MODE.# OF BITS,PARITY SENSE,% LOAD SYNC REG
(2) 006122 012777 037426 173572 MOV #SYNINT'EIGHT 'EVEPAR'26,aPARCSR
(1) 006130 016703 173572 MOV TXCSR,R3 :SET UP FOR ERROR MSG
(1) 00613¢ 112777 000377 173570 MOVB  #377,3TXDBUF  :LOAD DATA CHAR
(1) 006142 012767 000377 173330 MOV #377.8TMP1 STO BE SHIFTED CHAR
(1) 150 012767 000011 172744 MOV #9. ,SHIFT ‘# OF SHIFTS
(1) -POKE CLK TO GET INTO SYNCRONIZATION
(1) 006156 $POKE
(2) 006156 052777 020000 173542 BIS #CLK,ATXCSR :POKE CLK UP
(2) 006164 042777 020000 173534 BIC #CLK.ATXCSR :POKE CLK DOWN
(1) 006172 005000 1%: CLR RO
(1) 006174 006067 173300 ROR $TMP1  ;FORCE CARRY
(1) 006200 103002 BCC 2% ‘BR IF CARRY CLR
g}; 88258% 052700 002000 = BIS #B1TW,RO ;EQUIV OF BITW
(2) 006206 052777 020000 173512 BIS #CLK,ATXCSR :POKE CLK UP
(2) 006214 04;777 o;oooo 173504 BIC #CLK.RTXCSR :POKE CLK DOWN
(1) 006222 017701 173500 MOV aTXCSR,RY *ACTUAL
(1) 006226 042701 075777 BIC 8075777, *SAVE BITW & DNA
(1) 006232 020001 CMP RO,R1 ' :COMPARE EXP VS ACT



JRP  ASCI,<>
JIF EQ SNWTST

NLIST

$NWTST=1

LSBTTL T14 ASCI
LLIST

s*TEST 14 ASCI

+ENDC
.ENDM

006276 STARS

002 .AF B

:ittitttittlttl'ttttttt"ttttttttttl!tttltlttlttllttiltttttttltt'
. IFF
LNLIST
«REPT
.LIST

S A2 AR AR R RRRRRRR0RRRRRR R RRRRRRRRRRRRRE ]

CNLIST

CNDUU=A MACY11 30(1046) 14=-DEC-8B2 10:02 PAGE 62-61
CNDUUA.M11 23—ocr-32 13:29 INITIALIZE THE COMMON TAGS SEQ 0075
(1) 00623& 001401 BEQ 4
g}; 006236 104003 ERROR 3 .g}} ulugegooéatggtonircn ACTUAL DATA
(1) 006240 005367 172656 DEC SHIFT  :# OF SHIFTS
(1) 006244 001352 BNE 1$ D0 1T AGAIN ?
(1) :NOW POKE CLK TO SEE DNA
(1) 006246 052777 020000 173452 BIS #CLK,TXCSR :POKE CLK
g}; 001 .};T IDN <ISYMOD>,<SYNINT>
g}; - MOV #0,R0  :EXPECTED
g}; 006254 012588 100000 nad MOV #100000,R0 ;EXPECTED
(1) 006260 017701 173442 MOV aTXCSR,R1 ;ACTUAL
(1) 006264 062701 077777 BIC 877777 R SSAVE DNA ONLY
(1) 006270 020001 CMP RO,R1 :COMPARE EXP VS ACT
(1) 006272 001401 BEQ RYA
(1) 006274 104003 ERROR 3 ;DNA SHOULD BE SET
(1) :1F DNA DID NOT SET
g}; :CHECK WORD LENGTH SELECT LOGIC
8162 006276 $TRPAR EIGHT,9.,0DDPAR,SYNINT, 377,777
1) ;:THIS TEST VERIFYS CHARACTER PLUS PARITY GENERATION
(1) 130F THE TRANSMITTER SECTION.
(1) ;31T ALSO CHECKS DNA TIMING
(1) 2 sMODE:SYNINT
(1) PSLENGTH:EIGHT PLUS PARITY
(1) ::PARITY:0DDPAR
g}; :CHARACTER:377
(1) 006276 $TSTNO
(2) 006276 NEWTST
(3) 000000 SNWTST=0
(3) 001 JF B ©
52; 006276 SSNEWTEST \$TN, <>, SCOPE
(4)
(4)
(4)
(&)
(4)
(&)
(4)
(&)
(4)
(4)
(4)
(4)
(5)
(5)
(5)
(5)
(5)
(5)
(5)
(5)
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00
006276 000004

000015

001
000
000000

16-9E(-82 10:02 PAGE 62-62
3:2 INITIALIZE THE COMMON TAGS
.ENDR
LIST
LENDC
1ST14: SCOPE
$TN=STN+1
«IFF
$SNEWTEST \$TN, >, O
LENDC
.IF NE 40008$SWR
.IF NB
F LE <=1>
- MOV #1,8TIMES ::D0 1 ITERATION
MOV #,8TIMES ::D0 ITERATIONS
LENDC
LENDC
.IF NB
MOV #,SLPADR ssSET SCOPE LOOP ADDRESS
LENDC
LENDC
.IF NB
LIF DF SMAIL
.IRP TNM,<\$TN=1>
—— MOV #'TNM,STESTN ;3SET TEST NUMBER IN APT MAIL BOX
.ENDC
LENDC
.REPT 0
NLIST
RADIX 10
LIST
.IRP $DN, <\SN>
NEWTST
MOV #SDON,STSTNM ;s SAVE THIS
.ENDM
NLIST
.RADIX 8
LIST
;.11F NB <, MOV # ,RETURN sSET UP THIS RETURN
:.}éfﬂg&() <>, MOV #,1COUNT sSET UP THIS ICOUNT
:IFF MOV # NEXT ;GO TO THIS TEST WHEN THRU
LNLIST
.RADIX 10
LLIST
.IRP SDE‘<\SE>
LIF DF TST'$DE
:ENDH MOV #TST'SDE  NEXT ;G0 TO THIS TEST WHEN THRU
LNLIST
LRADIX 8
siid
: MOV # .EOP,NEXT ;G0 TO THIS TEST WHEN THRU

SEQ 0076
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CNDUU=A MACY11_30(1046) 14=-DEC=-82 10:02 PAGE 62-63 ’

CNDUUA.M11~  29-0(T-82 13:27 INITIALIZE THE COMMON TAGS SEQ 0077
(2) JENDC
(2) JENDC
(2) ;. 11F NB <, MOV #,L0CK :SET UP FOR SCOPE LOOP
(2) NLIST
(2) .RADIX 10
(5) $N=SN+1
(2) $E=SE+1
(2) LRADIX
(2) LIST
(2) .ENDR
(1) 006300 TSETUP MINT,SYNINT,EIGHT,ODDPAR,26
(§> 006300 SRESET
(3) 006300 052777 000400 173420 BIS WMRESET,3TXCSR :MASTER RESET
gg; 882%92 012777 030000 173406 - MOV #SYNINT,3PARCSR :SET THE MODE
§3; 006314 052777 000400 173404 BIS #MRESET,3TXCSR :MASTER RESET
(2) ;SET MAINTENANCE MODE & SEND
(2) ;NOTE:BIT WINDOWRCLK ARE CLEARED (MTDATA=0)
{5; 006322 012777 004020 173376 MOV #MINT!SEND,3TXCSR
(2) ;SET MODE,.# OF BITS,PARITY SENSE.Z LOAD SYNC REG
(2) 006330 012777 037026 173364 MOV #SYNINT'EIGHT 'ODDPAR ' 26, 3PARCSR
(1) 006336 016703 173364 MOV TXCSR,R3 :SET UP FOR ERROR MSG
(1) 006342 112777 000377 173362 MOVB  #377,3TXDBUF :LOAD DATA CHAR
(1) 006350 012767 000777 173122 nov :777 srnp1 ro ee snxrrco CHAR
(1) 006356 012767 000011 172536 SHIFTS
(1) POKE CLK TO GET 1~fo svncaoulzailon
(1) 006364 $POKE
(2) 006364 052777 020000 173334 BIS #CLK,RTXCSR :POKE CLK UP
(2) 006372 042777 020000 173326 BIC #CLK.ATXCSR ‘POKE CLK DOWN
(1) 006400 005000 18: CLR RO
(1) 006402 006067 173072 ROR $TMP1  ;FORCE CARRY
(1) 006406 103002 BCC 2% :BR IF CARRY CLR
f}; 3822}2 052700 002000 - BIS #B1TW.RO ;EQUIV OF BITW
(2) 006414 052777 020000 173304 BIS #CLK,ATXCSR :POKE CLK UP
(2) 006422 042777 020000 173276 BIC #CLK .QTXCSR :POKE CLK DOWN
(1) 006430 017701 173272 MOV ATXCSR, R *ACTUAL
(1) 006434 042701 075777 BIC #07577%,R1 :SAVE BITW & DNA
(1) 006440 020001 CMP RO,R1 ;COMPARE EXP VS ACT
(1) 006442 001401 BEQ +4
(1) 006444 104003 ERROR 3 :BIT WINDOW DID NOT MATCH ACTUAL DATA
(N :BIT ...ALSO CHECK DNA
(1) 006446 005367 172450 DEC suxrt ;4 OF SHIFTS
(1) 006452 001352 BNE 18 ‘D0 IT AGAIN ?
(1) ;NOW POKE CLK TO SEE DNA
(1) 006454 052777 020000 173244 BIS #CLK,ATXCSR :POKE CLK
“; 001 '{FT IDN <lSYHOD> <SYN1NT>
¢1; - MOV #0,R0O  ;EXPECTED
(i &
(1) 006462 012700 100000 MOV #100000,R0 ;EXPECTED
(1) 000 JENDC
(1) 006466 017701 173234 MOV aTXCSR,R :ACTUAL
(1) 006672 062701 077777 BIC #77777.R1 :SAVE DNA ONLY



CNDUU=A MACYIN }0{
’

46) 14-DEC- 10: PAG
55 CNDUUA.M11 20 -32 13:29EC AP 0% i

-64
NITIALIZE THE COMMON TAGS SEQ 0078
g RO, R1 ;COMPARE EXP VS ACT
ROR 3 :DNA SHOULD BE SET

:1F DNA DID NOT SET

S
;CHECK WORD LENGTH SELECT LOGIC

~
—
s
%

62
14
M
BE
ER

— i P~ o~
OO ad ad b

AT BY SENDING ONLY ONE SYNC

TED BY STRAPPING ) RECACT =0

RY CHARACTER (TO BREAK UP THE SEQUENCE’
«eoIT WILL TAKE TWO MORE SYNC CHARS

ONLY WORK WHEN TWO SYNC CHARS
eNiﬁi?THERUISE JUMP AROUND THIS TEST

M =g e
~—di™ o« P>OOXI

: :MODE :SYNC INTE
SIPARITY: NOPAR
:SLENGTH: EIGHT

;iTHIS TEST CHECKS ONLY THE RECEIVER SECTION

006504 $1sTND
006504 NEWTST
000000 $SNWTST=0
001 JF B ©
006504 SSNEWTEST \$TN,<>,SCOPE
JURP ASCI, <
JIF EQ SNWTST
NLIST
$NWTST=1
LSBTTL T15 ASCI
LIST
STARS
2+TEST 15 ASC1

. IFF
ASCI
-ENDC
.ENDM
006504 STARS
002 .IF B

001 +ENDC
006504 000004 TST15: SCOPE

000016 $TN=$TN+1

AFF
SENEWTEST \$IN, O,
000 +JENDC

wvvvvv\—vvvvvvvvvvvvvvwvvvwvw-4vvvvvmﬂombw—hooaﬂgwkwvvvvv
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CNDUU-A MACY11_30(1046) 14=-DEC-82 10:02 PAGE 62-65
23 82 13:29

CNDUUA . .M11 -0CT~- INITIALIZE THE COMMON TAGS SEQ 0079
(2) 001 .1f NE 4000L$SWR
(2) 00§ .JF NB
(2) 00 F LE <=1>
tz; 1e MOV #1,8TIMES ::D0 1 ITERATION
(%) MOV #,8TIMES ;:00 ITERATIONS
(2) 002 LENDC
(%) 001 LENDC
(2) 002 .JF NB
(2) MOV #,5LPADR :sSET SCOPE LOOP ADDRESS
(2) 001 .ENDC
(g) 000 LENDC
(2) 001 .JF NB
(2) 002 LIF DF SMAIL
(2) .IRP TNM,<\$N=1>
(2) MOV #'TNM,STESTN ::SET TEST NUMBER IN APT MAIL BOX
(2) .ENDM
(2) 001 LENDC
(2) 000 LENDC
(1) 000000 .REPT 0
(1) .NLIST
(1) LRADIX 10
(1N LIST
1) . IRP $DN, <\$N>
(1) NEWTST
(1) MOV #SDN,STSTNM ;SAVF THIS
1) .ENDM
(1) LNLIST
(1) .RADIX 8
(1) LIST
(1) :.11F NB <O, MOV # ,RETURN :SET UP THIS RETURN
(1) ;. 11F NB O, MOV #,1COUNT :SET UP THIS ICOUNT
(1) ;.1F NB <>
:}; :IFF MOV # NEXT ;GO TO THIS TEST WHEN THRU
(1) LNLIST
(1) LRADIX 10
1) LLIST
1) . IRP SDE,<\$E>
(1) .JF DF TST'SDE
() 3 MOV #TST'SDE ,NEXT :GO TO THIS TEST WHEN THRU
(1) .ENDM
(1) LNLIST
(1) .RADIX 8
(1) LIST
(1) LAFF
(1) 3 MOV #.EOP,NEXT ;G0 TO THIS TEST WHEN THRU
1) +ENDC
() .ENDC
(1) :.11F NB <, MOV #,LO0CK ;SET UP FOR SCOPE LOOP
(1) .NLIST
(1) LRADIX 10
(1) SN=SN+1
(1) $E=SE+1
(1) .RADIX 8
(1) LLIST



CNDUU=A MACY11_30(1046) ;f;?f(-!? 10:0% PAGE 62-66

CNDUUA.M11 29-0CT-82 1 NITIALIZE THE COMMON TAGS SEQ 0080
(1) .ENDR

81 006506 105767 172434 1878 Svucuo :TEST FOR # OF SYNC CHARS REQUIRED

81 006512 100127 BPL $ *1F NOT TWO GET OUT OF TEST

81 8833}2 2§E§g7 MINT,SYNINT,EIGHY ,NOPAR, 26
006514 052777 000400 173204 BIS #MRESET,ATXCSR :MASTER RESET
882355 012777 030000 173172 SRESET MOV #SYNINT.QPARCSR :SET THE MODE
006530 052777 000400 173170 BIS #MRESET,3TXCSR ;MASTER RESET

s SET HAI:T DATA,CLK ,BREAK ,6MAINTENANCE MODE

006536 012777 064001 173162 ov #MTDATA!CLK!MINT !BREAK ,@TXCSR

:SET "00509' OF BITS,PARITY SENSE,CELOAD SYNC REG

79
80
81
%))
(2)
(M
(1)
(2)
N
(1)
(1)
0
(1) 006544 012777 036026 173150 #SYNINT'EIGHT 'NOPAR!26,aPARCSR
8182 006552 $SYNCR
(1) 006552 052777 000020 173132 BIS #SYNSCH,BRXCSR ;SET SYNC SEARCH
(N *POKE CLK TO GET RECEIVER IN1O SYNCROIZATION....
(1) 006560 042777 020000 173140 BIC #CLK,aTXCSR :POKE CLK DOWN
(1) 006566 052777 020000 173132 BIS #CLK.RTXCSR :POKE CLK UP
8183 006574 $POKER
(1) :POKE CLK TO GET LOGIC INTO SYNCRONIZATION
(1) 006574 042777 020000 173124 BIC #CLK,aTXCSR :POKE CLK DOWN
(1) 006602 052777 020000 173116 BIS #CLK,aTXCSR :POKE CLK UP
8184 006610 012767 000010 172304 MOV #8. ,SHIFT i@ OF SHIFTS
8185 006616 012767 000026 172654 MOV #26.8TMP1 :SYNC CHAR TO BE SHIFTED IN
8186 oooega 004767 010342 JSR PC,RPOKE SSHIFT IN THIS SYNC CHAR
8187 006630 032777 004000 173054 BIT #RECACT,3RXCSR :RECACT = 0 ?
8188 006636 001401 BEQ . +4
8189 006640 104004 ERROR & RECACT SHOULD BE 0
8190 006642 012767 000010 172252 MOV #8.,SHIFT <4 OF SHIFTS
8191 006650 012767 000025 172622 MOV #25.8THP1 SANY CHARACTER
8192 006656 004767 010310 JSR PC ,RPOKE SSHIFT IN THIS CHARACTER
8193 :YOU HAVE JUST LOST SYNCRONIZATION....coevooeoces g
8194 “POKE THE CLK TWICE TO GET INTO SYNCRONIZATION
8195 006662 POKER
(1 :POKE CLK TO GET LOGIC INTO SYNCRONIZATION
(1) 006662 042777 020000 173036 BIC #CLK,ATXCSR ;POKE CLK DOWN
(1) 006670 052777 020000 173030 BIS #CLK.3TXCSR :POKE CLK UP
8196 006676 $POKER
(1) :POKE CLK TO GET LOGIC INTO SYNCRONIZATION
(1) 006676 042777 020000 173022 BIC #CLK,3TXCSR ;POKE CLK DOWN
(1) 006704 052777 020000 173014 BIS #CLK.aTXCSR :POKE CLK UP
8197 006712 012767 000002 172204 MOV #2.COUNT ‘# OF SYNC CHARS
8198 006720 032777 004000 172764 1%: BIT #RECACT,3RXCSR RECACT = 0 ?
8199 006726 001401 BEQ L+
8200 006730 104004 ERROR & :RECACT SHOULD BE 0
8201 006732 012767 000010 172162 MOV #8.,SHIFT ‘# OF SHIFTS
azog 006740 012767 000026 172532 MOV #26.$TMP1 :SYNC CHAR
8203 006746 004767 010220 JSR PC, RPOKE SSHIFT IN THIS SYNC CHAR
8206 006752 005367 172146 DEC COUNT
8205 006756 001360 BNE 1% :1S COUNT = 0 2 NO GO AGAIN
8206 006760 032777 004000 172724 BIT #RECACT,3RXCSR :RECACT = 1 ?
8207 006766 001001 BNE L+
8208 006770 104004 ERROR 4 ;RECACT SHOULD BE ASSERTED
8209 006772 2%:
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000000
001

002

001
000004
000017

[olelele]
W =O

0
0
0
0

002
002

001
000

14-DEC-82 10:02 PA
3:29 INIT

b 7

GE 62-67

IALIZE THE COMMON TAGS
::THIS TEST VERIFYS MODE SELECT.....
$SSYNC EXTERNAL VS. SYNC INTERNAL
*BASICALLY THE TEST CHECKS THAT THE RECEIVED
:DATA FREEZES IN SYNC INTERNAL
*IN SYNC EXTERNAL THIS DATA IS TRANSPARENT
STHIS TEST ONLY APPLIES TO THE RECEIVER SECTION
P:LENGTH: EIGHT
“NOTE : SEARCH SYNC IS NOT SET
$TSTNOD
NEWTST
SNWTST=0
IF B ©

SSNEWTEST \$TN,<>,SCOPE

.IRP ASCI, O

“1F EQ SNWTST

.NLIST

$NWTST=1

.SBTTL T16 ASCI

;*TEST 16 ASCI

SSNEWTEST \$TN, <>, <>

E 4000&$SWR
NB
LE

e o
=M™

hnalns el b 4

<=1>
MOV #1,8TIMES +:D0 1 ITERATION

Mov #,$TIMES ::D0 ITERATIONS

MM e MM b et e T
-
-

MOV #,$LPALR ;sSET SCOPE LOOP ADDRESS

SEQ 0081



CNDUU=A MACY1T 30(1046) 14 9E(-82 10:02 PAGE 62-68
CNDUUA . M11 29-0CT-82 13 INITIALIZE THE COMMON TAGS SEQ 0082
(2) 001 1* NB
(2) 002 LJF DF SMAIL
(2) IRP TNM,<\$TN=1>
(2) MOV #'TNM,STESTN :sSET TEST NUMBER IN APT MAIL B0OX
(2) .ENDM
(2) 001 LENDC
(2) 000 LENDC
(N 000000 .REPT 0
(1) .NLIST
1) .RADIX 10
(1) LIST
(1) . IRP $DN,<\$N>
(1) NEWTST
(1) : MOV #SDN,STSTNM :SAVE THIS
(1) .ENDM
(1) .NLIST
(1) .RADIX 8
(1) LLIST
(1) ;. 11F NB <>, L [0)"} # ,RETURN ;SET UP THIS RETURN
(1) ;.11F NB <, MOV #,1COUNT :SET THIS ICOUNT
1) ;.1F NB >
{}; :IFF MOV # NEXT ;GO TO THIS TEST WHEN THRU
(1) NLIST
(1) LRADIX 10
(1) LIST
(1) .IRP SDE‘<\SE>
(1) .IF DF TST'SDE
(1) 3 MOV #TST'SDE  NEXT ;G0 TO THIS TEST WHEN THRU
(1) .ENDM
(1) .NLIST
(1) .RADIX 8
(1) LIST
(1) IFF )
(1) 3 MOV # .EOP,NEXT :G0 TO THIS TEST WHEN THRU
(1) .ENDC
(1) LENDC
(1) :.11F NB <>, MOV #,L0CK :;SET UP FOR SCOPE LOOP
(1) NLIST
(1) LRADIX 10
(1) SN=SN+1
(1) $E=SE+1
(1) .RADIX
(1) LIST
(1) .ENDR
8220 006774 RSETUP MINT,SYNINT ,EIGHT ,NOPAR,26
(1) 006774 $RESET
(2) 006774 052777 000400 172724 BIS #MRESET,@TXCSR ;MASTER RESET
2}; 88;8?8 012777 030000 172712 SRESET MOV #SYNINT ,aPARCSR ;SET THE MODE
2%; 007010 052777 000400 172710 BIS #MRESET,3TXCSR ;MASTER RESET
(1) :SET MAINT DATA,CLK,BREAK ,EMAINTENANCE MODE
:}; 007016 012777 064001 172702 MOV IHTDA!A'CLK'HINT'BREAK aTXCSR
(1) :SET MODE ,# OF BITS,PARITY SENSE,.RLOAD SYNC REG
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(1) 007024 012777 036026 172670 MoV #SYNINT'EIGHT 'NOPAR'26,aPARCSR
8%%3 —— ’:oxg CLK TO GET LOGIC INTO SYNCRONIZATION
(1) 00703 oa% 77 020000 17%666 BIC #CLK,TXCSR ;POKE CLK DOWN
(1) 007040 052777 020000 172660 BIS #CLK.ITXCSR :POKE CLK UP
8?%% o ‘;S:ERCLK T0 GET LOGIC INTO SYNCRONIZATIDN
(1) 007046 042777 020000 172652 BIC #CLK,TXCSR POKE CLK DOWN
(1) 007054 052777 020000 172644 BIS chx aTXCSR :POKE (LK UP
8223 007062 012767 000010 172032 MOV SHIFT :# OF SHIFTS
8224 007070 012767 000125 172402 MOV 0126 STHPl :DATA CHARACTER
agzs 007076 013703 172614 MOV RXDBUF ,R3 :FOR ERROR MESSAGE
8226 007103 042777 040000 172616 1%: BIC IHTDATA TXCSR  :CLEAR MAINT DATA
8227 007110 000241 CLC
8228 007112 006067 172362 ROR $TMP1  ;FORCE CARRY
sz§9 007116 103003 BCC 2%
8230 007120 052777 040000 172600 BIS #MTDATA,QTXCSR ;SET MTDATA
8231 007126 042777 020000 172572 2%: BIC #CLK,TXCSR :POKE CLK
8232 007134 052777 020000 172564 BIS #CLK.ITXCSR
8233 007142 012700 000377 MOV #377 RO :EXPECTED
8234 007146 017701 172544 MOV aRXDBUF ,R1 - ACTUAL
8235 007152 020001 CMP RO,R1
8236 007154 001401 BEQ .+
8237 007156 104002 ERROR 2
8238 :DATA CHARACTER SHOULD COMPARE......
8239 007160 005367 171736 DEC SHIFT ;1S 1T THE LAST SHIFT 2
8240 007164 001346 BNE 1% *NO ...SHIFT SOME MORE
8241 007166 RSETUP MINT,SYNEXT,EIGHT,NOPAR,26
(1) 007166 $RESET
(2) 007166 052777 000400 172532 BIS #MRESET,3TXCSR ;MASTER RESET
(1) 007174 012777 020000 172520 MOV #SYNEXT.3PARCSR :SET THE MODE
(1) 007202 SRESET
zg; 007202 052777 000400 172516 BIS #MRESET,3TXCSR ;MASTER RESET
(1 ;SET MAINT DATA,CLK,BREAK,BMAINTENANCE MODE
{}; 007210 012777 064001 172510 MOV #MTDATA'CLK 'MINT 'BREAK,@TXCSR
(1) ;SET MODE ,# OF BITS,PARITY SENSE,ELOAD SYNC REG
(1) 007216 012777 026026 172476 MOV #SYNEXT'EIGHT !NOPAR!26,aPARCSR
8242 007224 $POKER
(1) sPOKE CLK TO GET LOGIC INTO SYNCRONIZATION
(1) 007224 042777 020000 172474 BIC #CLK,TXCSR :POKE CLK DOWN
(1) 007232 052777 020000 172466 BIS #CLK.TXCSR :POKE CLK UP
8243 007240 012767 000010 171654 MOV #8. SHIFT ‘4 OF SHIFTS
8244 007246 012767 000125 172224 MOV #1125, $TMP1 *DATA CHARACTER
8245 007254 005067 172222 CLR STMPS
8246 007260 105167 172216 (OMB_  $TMPZ  :MAKE LOW BYTE ALL 1'S
8247 <70 MATCH RXDBUF'S CONTENTS AFTER A MASTER RESET
8248 007264 042777 040000 172434 5%: BIC #MTDATA,3TXCSR :CLR MAINT DATA
8249 007272 000241 CLC
8250 007274 006067 172200 ROR $TMP1  ;FORCE CARRY
8251 007300 103003 BCC 65
8252 007302 052777 040000 172416 BIS #MTDATA,3TXCSR
8253 007310 106067 172166 6% : RORB  $TMP2 :PICK UP CARRY BIT
8254 007314 042777 020000 172404 BIC #CLK,TXCSR
8255 007322 052777 020000 172376 BIS #CLK.RTXCSR
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46 MOV $TMP2,RO :EXPECTED
56 MOV aRXDBUF ,R1 *ACTUAL
CMP RO,R1
8EQ +d
ERROR 2 :DATA CHARACTER SHOULD COMPARE...
o O L AR
5367 171550 DEC IFT
1344 BNE

ssTHIS TEST VERI
ssMODE: SYNC IN
;sPARITY: NO PA
::LENGTH: EIGHT

007354 $TsTND
007354 NEWTST
000000 SNWTST=0
001 AF B ©
007354 SSNEWTEST \$TN,<>,SCOPE
JRP  ASCI,<>
JIF EQ SNWTST
NLIST
$NWTST=1
.SBTTL T17 ASCI

o]
N
o~
(=4
(=]
NN
¥

ooV

DONE FUNCTION, DONE = 1

gﬂ
$
FY
TE
RI NOPAR)

> -4
>

S
RN
TY

P~ T~~~ T~~~ T~~~ T~ g~~~ g PPN NN NN NN P o S NN NN TN NN N NN

;*TEST 17 ASCI

007354 STARS
002 AF B

P T L R R R Y
.IFF

«NLIST

+REPT

LIST

;:t.t.tl.iii'tit"tt"i.'i'li.t'ii‘it.‘liii'itt'lt!ii"l'.i..it.'.

001 DC
007354 000004 TST17: SCOPE
000020 $TN=$TN+1
$SONEWTEST \$IN, O, <>
ENDC
; NE 40008$SWR
F LE <=1>
f

(ol
olelele]
&

L L L L L LN IV I P W S W A O O O O O W [V TV W W TV T TR TV IV W W TWRT N N 1N P NNO‘O‘O&
W = O

Y
N N N e N et N N N N N N N N N N st N N N N P N P N N N Nt i ot = (DL OONONLNNN =2 O OO~

MOV #,STIMES ::DC 1 ITERATION
MoV #,STIMES ::D0 ITERATIONS

oro
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(2) 002 JENDC
(2) 001 .ENDC
(2) 002 .IF NB
(2) MOV #,$LPADR ;sSET SCOPE LOOP ADDRESS
(3) 001 .ENDC
(2) 000 -ENDC
(2) 001 .IF NB
(S) 002 .IF DF SMAIL
(2) . IRP TNM,<\$TN=1>
(2) MOV #'TNM, STESTN s:SET TEST NUMBER IN APT MA[L BOX
(2) .ENDM
(2) 001 +ENDC
(2) 200 +ENDC
(1) 000000 .REPT 0
(1) «NLIST
(1) RADIX 10
(1) LIST
(1) . IRP SON, <\SN>
(1) NEHTS
(1) MOV #SDN,STSTNM s SAVE THIS
(1) .ENOH
1) «NLIST
(1) .RADIX 8
(1) .LIST
(1) :.11F NB <>, MOV # ,RETURN ;SET UP THIS RETURN
(}) ..}é NgB <, Mov #, 1COUNT sSET UP THIS ICOUNT
(1N .
(1) : HOV # NEXT ;GO TO THIS TEST WHEN THRU
(1) JIFF
(1) «NLIST
(1) .RADIX 10
(1) LLIST
(1) .IRP $DE, <\SE>
(1) JIF DF  TSTYSDE
(1) } MOV #TIST'SDE NEXT ;GO TO THIS TEST WHEN THRU
(1) .ENDM
(1) .NLIST
1) .RADIX 8
(1) LIST
(1) .IFF
(1) : MOv #.EOP,NEXT :GO TO THIS TEST WHEN THRU
1) -ENDC
(1) +ENDC
(1 :.11F NB <, MOV #,L0Ck ;SET UP FOR SCOPE LOOP
(1) .NLIST
(1) LRADIX 10
(1) SN=SN+1
(1) $E=SE+1
(1) .RADIX 8
(1) LIST
(1) .ENDR
8272
8273 007356 TSETUP MINT,SYNINT,EIGHT ,NOPAR,26
(1) 007356 SRESET
(2) 007356 052777 000400 172342 BIS #MRESET ,@TXCSR  ;MASTER RESET
(1) 007364 012777 030000 172330 MOV #SYNINT,@PARCSR ;SET THE MODE
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-

007;7% SRESET
007372 052777 000400 172326 BIS #MRESET ,@TXCSR ;MASTER RESET

;SET MAINTENANCE MODE & SEND
;NOTE:BIT WINDOWECLK ARE CLEARED (MTDATA=0)
007400 012777 004020 172320 Mov #MINT!SEND ,@TXCSR

:SET HODséc OF BITS,PARITY SENSE.E LOAD SYNC REG

007406 012777 036026 172306 #SYNINT!EIGHT !NOPAR!26,aPARCSR

(2)
(1)
(1)
1N
(1)
(1)
(1)
(1)
8274
8275 007414 105777 172306 TSTB @TXCSR : TXDONE?
8276 007420 100401 BM] .+
8277 007422 104904 ERROR & :TXDONE SHOULD BE SET
8278 007426 112777 000021 172300 MOVE  #21,aTXDBUF :LOAD ANY CHAR
8279 007432 $POKE ;POKE CLK TO GET INTO SYNCIRONIZATION
(1) 007432 052777 020000 172266 8IS #CLK,RTXCSR :POKE CLK UP
(1) 007440 042777 020000 172260 BIC #CLK.ATXCSR :POKE CLK DOWN
8280 007446 105777 172254 TSTR  aTXCSR
8281 007452 100001 BPL .+
gggg 007454 104004 ERROR & ;TXDONE SHOULD BE CLR
8284 007456 $POKE
(1) 007456 052777 020000 172242 BIS #CLK,ATXCSR :POKE CLK UP
(1) 007464 042777 020000 172234 BIC #CLK.ATXCSR *POKE CLK DOWN
8285 007472 105777 172230 TSTB  @TXCSR
8286 007476 100401 BM] .+
gggg 007500 104004 ERROR & :TXDONE SHOULD BE SET
8289
8290
8291 ::THIS TEST PROVES THAT RXERR FREEZES THE ''RECEIVER
8292 SSRESET'" WHILE IN STRIP SYNC MODE
8293 S:THIS TEST FIRST PROVES THAT AUTOMATIC RESETS OCCUR
8294 PSWHEN STRIP SYNC IS SET AND SYNC CHARACTERS ARE SENT
8295 S:BUT IF AN ERROR SHOULD OCCUR...THIS AUTOMATIC RESET
8296 :31S DISCOMBOBULATED
8297 ::1E: FORCE OVERRUN (OVERRUN) WHILE STRIP SYNC IS SET
8298 S3BY TRANSMITTING A DATA CHARACTER THEN TRANSMIT A SYNC CHARACTER
8299 S:AND DON'T READ THAT DATA CHARACTER. NOTE: NORMALLY THE LOGIC
8300 T RESETS THE RXDONE & ERROR FLAGS PROVIDING THAT ONLY SYNC CHARACTERS ARE
8301 ::STRIPPED
8302 S:MODE: SYNC EXTERNAL (SYNEXT)
8303 JJLENGTH: EIGHT
gggg TINOTE: THIS TEST USES BOTH RECEIVER AND TRANSMITTER LOGIC
8306
8307 007502 $TSTNO
(1) 007502 NEWTST
(2) 000000 SNWTST=0
(2) 001 JUF B ©
(2) 007502 SSNEWTEST \$TN,<>,SCOPE
(3) JRP ASCI, <
(%) "IF EQ SNWTST
(3) INLIST
(3) $NWTST=1
(3) LSBTTL 120 ASC 1
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(3) LIST
(3 STARS
(3) s*TEST 20 ASCI
(3 <IFF
(3) ASCI
(3) LENDC
(%) .ENDM
(3) 007502 STARS
(4) 002 .AF B
(‘.) i'itt't.ti'ti't"'t'titt"tit"'tti'ttl'i'tttt'ttt.'tt't"f.t'tt
(4) FF
(4) .NLIST
(4) .REPT
(4) LIST
(l.) ::"'ttt.ttttttlftt"'tt"tt't'ttttt'l't'."..ttt'ttttt't'ttttttt
(4) NLIST
(4) .ENDR
(4) LIST
(4) 001 LENDC
gg; 007502 000004 1S120: SCOPE
(3) 000021 $STN=$TN+1
(2) IFF
(2) SSNEWTEST \$TN, <>,
(2) 000 .ENDC
(2) 001 .JF NE 4000L8$SWR
(2) 002 .JF NB
(2) 003 JF LE <=1»
2%; - MOV #1,8TIMES ::00 1 ITERATION
(2) MOV #,8TIMES ::D0 ITERATIONS
(2) 002 .ENDC
(2) 001 .ENDC
(2) 002 .IF NB
(2) MOV #,5LPADR ;3:SET SCOPE LOOP ADDRESS
(2) 001 .ENDC
(2) 000 .ENDC
(2) 001 .IF NB
(2) 002 .IF DF SMAIL
2) .IRP TNM,<\$TN=-1>
(2) MOV #°'TNM,STESTN :3SET TEST NUMBER IN APT MAIL BOX
(2) .ENDM
(2) 001 LENDC
(2) 000 .ENDC
1) 000000 .REPT 0
(1) .NLIST
(1) .RADIX 10
(1) LIST
(1) .IRP $DN, <\$N>
(1) NEWTST
(1) : MOV #SDN,STSTNM :SAVE THIS
(1) ENDH
(1) LNLIST
(1) .RADIX 8
(1) LLIST
(1) ;.11F NB <, MOV # ,RETURN :SET UP THIS RETURN
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(N : . 11F NB <o, MOV #,1COUNT ;SET UP THIS 1COUNT
(1) ..lF NB <>
2}; 'IFF MOV # NEXT ;GO TO THIS TEST WHEN THRU
(N NLIST
(1) RADIX 10
(1) LIST
(1) .IRP SDE‘<\SE>
(1) .IF DF TST'S$DE
(1) H MOV #TST'SDENEXT :GO TO THIS TEST WHEN THRU
(1) .ENDM
1) .NLIST
1) .RADIX 8
(1) LIST
(1) +JIFF
1) s MOV # .EOP NEXT :GO TO THIS TEST WHEN THRU
(1) .ENDC
(1) +ENDC
(1) :.11F NB <O, MOV #,LOCK ;SET UP FOR SCOPE LOOP
(1) .NLIST
(1) RADIX 10
(1) SN=SN+1
(1) $E=SE+1
(1) .RADIX 8
(1) LIST
(1) .ENDR
8308
8309 007504 TSETUP MINT,SYNEXT,EIGHT,NOPAR,26
(1) 007504 $RESET
(2) 007504 052777 000400 172214 BIS #MRESET,@TXCSR ;MASTER RESET
(1) 007512 012777 020000 172202 MOV #SYNEXT.3PARCSR :SET THE MODE
(1) 007520 SRESET
i%; 007520 052777 000400 172200 BIS #MRESET,®TXCSR ;MASTER RESET
(1) :SET MAINTENANCE MODE & SEND
1) :NOTE:BIT WINDOWECLK ARE CLEARED (MTDATA=0)
i}} 007526 012777 004020 172172 MOV #MINT ! SEND,@TXCSR
(1)

(1) 007534 012777 026026 172160 USYNEXT'EIGHT'NOPAR'zb aPARCSR
8310 007542 112777 000026 172162 MOVB  #26,aTXDBUF :LOAD SYNC CHAR
8311 007550 052777 000420 172134 BIS ISVNSCH'STPSYN aRXCSR :SET SYNC SEARCH & STRIP SYNC
831% 007556 016703 172134 MOV RXDBUF ,R3 :SET UP FOR ERROR MESSAGE
831 007562 012767 000003 171334 ov #3, COUNT :l OF TIMES SYNC WILL BE SENT
8314 007570 $POKE

(1) 007570 052777 020000 172130 BIS #CLK,3TXCSR :POKE CLK UP

(1) 007576 042777 020000 172122 BIC #CLK.3TXCSR ‘POKE CLK DOWN
gg}g 3833?3 012767 000010 171310 gg: MOV #8. ,SHIFT ‘# OF SHIFTS

(1) 007612 052777 020000 172106 BIS #CLK,BTXCSR :POKE CLK UP

(1) 007620 042777 o;oooo 172100 BIC #CLK.ATXCSR :POKE CLK DOWN
8317 007626 005367 171270 DE( sulrf
8318 007632 001367 BNE
8319 007634 105777 172052 1518 aaxcsn :RXDONE ?
8320 007640 100001 BPL L+
8321 007642 104004 ERROR 4 :RXDONE SHOULD NOT ASSERT
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8322 007644 005367 171254 DEC COUNT
83 § 00765 oo1§ss BNE 2%
8324 00765 01; 00 000026 MOV #26,R0 :EXPECTED
8325 007656 017701 172034 MOV aRXDBUF ,R1 *ACTUAL
3329 007662 020001 CMP RO,R1
8327 007664 001401 BEQ . +4
8328 007666 104002 ERROR 2 :NOTE THAT OVERRUN SHOULD NOT OCCUR, ALSO
8329 SSECOND & 33D SYNC CHARACTER CAME FROM
8330 *SYNC HOLDING REGISTER
8331 007670 01%767 000003 171226 MOV #3, COUNT ‘% OF TIMES
sssg 007676 112777 000025 172026 MOVB  #25,aTXDBUF SLOAD ANY CHAR.,..HOWEVER...
833 :ONE MORE SYNC CHAR WILL BE SENT BEFORE
8334 STHE *'25" CHAR IS SENT (THE DNA BIT IS
gggg :ALREADY UP)
gggg 0077064 012767 000010 171210 4$: MOV #8.,SHIFT :# OF SHIFTS
8339 007712 3$:
(1) 007712 052777 020000 172006 BIS #CLK,ATXCSR :POKE CLK UP
(1) 007720 042777 020000 172000 BIC #CLK,DTXCSR :POKE CLK DOWN
8340 007726 005367 171170 DEC SHIFT
8341 007732 001367 BNE 3s
8342 007734 005367 171164 DEC COUNT
8343 007740 001361 BNE 48
8344 007742 105777 171744 TSTB  @RXCSR :RXDONE = 1 ?
8345 007746 100401 BM] Y
8346 007750 104004 ERROR & :RXDONE SHOULD BE SET
8347 007752 012700 140026 MOV #RXERR!'OVRRUN'26,R0 ;EXPECTED
8348 007756 017701 171734 MOV aRXDBUF ,R1 TACTUAL
8349 007762 020001 CMP RO,R1
8350 007764 001401 BEQ YA
8351 007766 104002 ERROR 2 :NOTE THAT OVRRUN SHOULD OCCUR,
8352 *ALSO SECOND SYNC CHARACTER CAME
8353 :FROM SYNC HOLDING REGISTER
8354 :SUMMARY: THE OVRRUN STOPPED
8355 *THE AUTOMATIC RESETTING OF
gggg *RXDONE & ERROR FLAGS.....CHECK THIS
8358 ;:THIS TEST VERIFYS THAT EITHER SEQUENCE OF
8359 $:LOADING TXDBUF AND SETTING SEND
8360 $iDOES CAUSE TRANSMISSION
8361 SiMODE: SYNC EXT
8362 PSLENGTH: EIGHT
8363 ¥
8364 007770 $isTnO
(1) 007770 NEWTST
(2) 000000 SNWTST=0
(2) 001 UF B ©
(2) 007770 SSNEWTEST \$TN, <>, SCOPE
(3) JRP  ASCI,<>
(3) “IF EQ SNWTST
(%) NLIST
(%) $NWTST=1
(3) LSBITL 121 ASCI
(3) LIST
(%) STARS
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s*TEST 21 ASCI
IFF
ASCI

—_~
o

.ENDC

.ENDM

007770 STARS
002 JAF B

:it'tlttttttttt""t't""Q"Qtt"ttttttttttittt"'t't'."tt.""
.IFF

«NLIST

+REPT

LIST

::'t.'..""'t..".'.'"iQ"'.ti't'lQ"i'.'".l.t'.i..t..."t'.'!

«NLIST
.ENDR
LIST
DC
21: SCOPE
$TN+1
$SSNEWTEST \$TN, <>,
E 40008$SWR

E <=1>
MOV #1,8T1IMES ;00 1 ITERATION

MOV #,8TIMES ::D0 ITERATIONS

. @
M ey M
TTMMZ MZ

001
007770 000004
000022

PN TN N NN NN PN PNy, PN P e, B P P, e, Py e
el ]

PPN NININES SN SN BN BS 0505 5 3 DS NN
o N N o N o o o o o N N it o o

<o

o
o
N
* o o
4 4a
@

o
o
ey
e o ©
e ™
OO

MOV # ,$LPADR ::SET SCOPE LOOP ADDRESS

o

o

—
L

4

F SMAIL
TNM,<\$TN=-1>
MoV #'TNM,STESTN :sSET TEST NUMBER iN APT MAIL BOX

©

M b bt MTIFTY st ITIMTY Bt Bt bt e

& DM ™

LRADIX 10
. IRP " $DN, <\$SN>
MOV #SDN,STSTNM +sSAVE THIS

NB <, MOV
ga <, MOV

TURN JSET UP T
OUNT JSET UP 1

hﬁaaﬂﬂﬁﬂﬂﬂﬂﬂﬂﬂﬂﬂﬁﬁﬁﬁﬂﬂﬁﬂﬁﬂaﬁhﬁﬁaa
-0
oS

D ettt 1 S S LS LS LN L NT N1 N T NT N R TN NN N )

N N N N N it P it Nt Nt N it it i it - i -t - it b b - - P P I P P
»
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g}; - MOV # NEXT :GO TO THIS TEST WHEN THRU
(1) «NLIST
(1) JRADIX 10
(1) LIST
(1) JIRP  SDE <\$E>
(1) “IF DF TST'S$DE
(1) ; MOV #TST'SDE,NEXT ;GO TO THIS TEST WHEN THRU
(1) "ENDM
(1) NLIST
(1) "RADIX
(1) LIST
(1) CIFF
(1) ; MOV #.EOP,NEXT ;G0 TO THIS TEST WHEN THRU
(1) "ENDC
(1) .ENDC
(1) :.1IF NB <, MOV #.L0CK :SET UP FOR SCOPE LOOP
(1) .NLIST
1) .RADIX 10
(1) SN=SN+1
(1) $E=SE+1
(1) .RADIX 8
(1) LIST
(1) .ENDR
8365
8366 007772 TSETUP MINT,SYNEXT,EIGHT,NOPAR,26
(1) 007772 SRESET
(2) 007772 052777 000400 171726 BIS #MRESET,3TXCSR ;MASTER RESET
(1) 010000 012777 020000 171714 MOV #SYNEXT.IPARCSR :SET THE MODE
(1) 010006 SRESET
f%; 010006 052777 000400 171712 BIS #MRESET,3TXCSR :;MASTER RESET
(1) :SET MAINTENANCE MODE & SEND
(1) CNOTE:BIT WINDOWECLK ARE CLEARED (MTDATA=0)
:}; 010014 012777 004020 171704 MOV #MINT!SEND,@TXCSR
(1) ;SET MODE.# OF BITS,PARITY SENSE,& LOAD SYNC REG
(1) 010022 012777 026026 171672 MOV #SYNEXT'EIGHT 'NOPAR ' 26, aPARCSR
8367 010030 016703 171672 MOV TXCSR,R3 :SET UP FOR ERROR MESSAGE
8368 010034 042777 000020 173064 BIC #SEND.@TXCSR  :DROP SEND
8369 010042 012767 000025 171430 MOV #25,$TMP1
8370 010050 112777 000025 171654 #25 3TXDBUF :LOAD CHARACTER
8371 010056 052777 000020 171642 BIS #SEND,BTXCSR  :SET SEND
asr; :GET INTO SYNCRONIZATION
8373 010064 $POKE
(1) 010064 052777 020000 171634 BIS #CLK,ATXCSR :POKE CLK UP
(1) 010072 042777 020000 171626 BIC #CLK.QTXCSR :POKE CLK DOWN
8374 010100 012767 000010 171014 MOV #8. ,SHIFT ‘# OF SHIFTS
8375 010106 005000 1%: CLR RO
8376 010110 006067 171364 R0R $TMP1
8377 010114 103002 BC( 2%
g;;g 010116 052700 002000 BIS #B1TW.RO :EQUIV OF BIT WINDOW
8380 010122 28:
(1) 010122 052777 020000 171576 BIS #CLK,TXCSR :POKE CLK UP
(1) 010130 042777 020000 171570 BIC #CLK.RTXCSR *POKE CLK DOWN



CNDUU-A HACY11230( 1459EC-82 10:02 PAGE 62-78

10
CNDUUA . .M11 -0CT 13: INITIALIZE THE COMMON TAGS SEQ 0092
81 101 17701 171564 MOV aTXCSR, R1 :ACTUAL
gia 10123 §68781 075;97 BIC 007§§77.a1 :SAVE BiT WINDOW & DNA
838 10146 001 CMP RO,R1
384 10153 001401 BEQ +4
385 010152 104003 ERROR 3 :BIT WINDOW DID NOT MATCH ACTUAL DATA BIT
8%86 +ALSO CHECK DNA
8387 010154 005367 170742 DEC SHIFT
8388 010160 001352 BNE 1%
8389
8301
39 :THIS TEST VERIFYS THAT DROPPING OF SEND IN THE
839 ::MIDDLE OF TRANSMITTING A CHARACTER DOES INDEED
8194 ::FINISH TRANSMITTING THAT CHARACTER
8395 ;3MODE: SYNC EXT
8396 :LENGTH: EIGHT
8397 ::
8398
8399 010162 $TSTNO
(1) 010162 NEWTST
(2) 000000 SNWTST=0
(2) 001 JF B ©
(2) 010162 SSNEWTEST \$TN,<>,SCOPE
(3) .IRP ASCI,<>
(3) JIF EQ SNWTST
(3) NLIST
(3) SNWTST=1
(3) SBTTL T122 ASCI
3) LLIST
(3) STARS
(3) s*TEST 22 ASCI
(3) JFF
(3) ASCI
(3) LENDC
(3) .ENDM
(3) 010162 STARS
(4) 002 AF B
(4) PN R RN R AR AR AR R RN TR AR RN AN AR AR R AR RANRA R RARARN AR RROROTES
(4) IFF
(4) NLIST
(4) .REPT
(4) LIST
(‘.) ';tttttttttitti'ttttt't""'tt'.!'!t'.ttltttt.tt'.t'tt'tt'."t"t
(4) NLIST
(4) .ENDR
(4) LIST
(&) 001 .ENDC
g%; 010162 000004 1S122: SCOPE
(3 000023 $TN=STN#
(2) JFF
(2) SSNEWTEST \$IN, <>,
(2) 000 .ENDC
(2) 001 .JF NE 40008$SWR
(2) 00 IF NB
(2) 00 JF LE <=1>



CNDUU=A MACY11
CNDUUA . M1

010164

3001046) 14
29-0CT1-82 13:

001
000
000000

595(-82

10:02 PAGE 62-79
INITIALIZE THE COMMON TAGS

1FF MOV #1,8TIMES
MOV #,8TIMES
LENDC
LENDC
.JF NB
MOV #,S5LPADR
LENDC
LENDC
.JF NB
.IF DF SMAIL
.IRP TNM,<\$TN=1>
MOV #'TNM,STESTN
.ENDM
LENDC
+ENDC
.REPT 0
NLIST
LRADIX 10
LIST
.IRP $DN,<\$N>
NEWTST
: MOV #SDN,STSTNM
.ENDM
«NLIST
.RADIX 8
LIST
:.11F NB <, MOV
:.11F NB <, MOV
:.1F NB <
$ MOV # NEXT
JAFF
NLIST
LRADIX 10
LIST
. IRF SDE,<\SE>
.IF DF TST'SDE
: MOV #TST'"SDE NEXT
.ENDM
NLIST
.RADIX 8
LIST
JAFF
: MOV #.EOP,NEXT
LENDC
.ENDC
:.11F NB <, MOV
NLIST
LRADIX 10
SN=SN+1
$E=SE+1
LRADIX 8
LLIST
.ENDR

;:00 1 ITERATION
::D0 ITERATIONS

;sSET SCOPE LOOP ADDRESS

;sSET TEST NUMBER IN APT MAIL BOX

:SAVE THIS
# ,RETURN sSET UP THIS RETURN
#,1COUNT sSET UP THIS ICOUNT

;G0 TO THIS TEST WHEN THRU

;GO TO THIS TEST WHEN THRU

;GO TO THIS TEST WHEN THRU

#,L0CK ;SET UP FOR SCOPE LOOP

TSETUP MINT,SYNEXT,EIGHT ,NOPAR,26

SEQ 0093
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CNDUUA.M11 29-0CT- INITIALIZE THE COMMON TAGS SEQ 0094
(1) 010164 SRESET
(2) 810194 052777 000400 171534 BIS #MRESET,3TXCSR :MASTER RESET
(1) 0101 3 012777 020000 171522 MOV #SYNEXT.QPARCSR :SET THE MODE
(1) 01020 SRESET
:g; 010200 052777 000400 171520 BIS #MRESET,3TXCSR :;MASTER RESET
(1) ;SET MAINTENANCE MODE & SEND
(N NOTE:BIT WINDOWRCLK ARE CLEARED (MTDATA=0)
z}; 010206 012777 004020 171512 foV #MINT ! SEND,@TXCSR
(1) ;SET nooe.n OF BITS,PARITY SENSE,& LOAD SYNC REG
(1) 01051¢ 012777 o;sose 171500 ISVNEXT'EIGHT'NOPAR'ZG aPARCSR
8402 010222 016703 171500 nov TXCSR,R3 :SETUP FOR ERROR MESSAGE
8403 0102%6 112777 000252 171476 MOVB czsg 6txoaur :LOAD DATA CHAR.
8404 01023& 012767 000252 171236 MOV SSHIFTED CHAR
8405 010242 012767 000010 170652 MOV 8. sn rr ‘8 OF SHIFTS
8406 :GET INTO SYNCRONIZATION
8407 010250 $POKE
(1) 010250 052777 020000 171450 BIS #CLK,BTXCSR :POKE CLK UP
8235 010256 042777 020000 171442 BIC #CLK.RTXCSR :POKE CLK DOWN
8409 010564 005000 1%: CLR RO
8410 010266 006067 171206 ROR $TMP1 ;FORCE CARRY
8611 010272 103002 BCC 2%
gzlg 01027&¢ 052700 002000 BIS #B1TW,RO ;EQUIV OF BIT WINDOW
8414 010300 28:
(1) 010300 052777 020000 171420 B'S #CLK,3TXCSR :POKE CLK UP
(1) 010306 042777 020000 171412 BiC #CLK.QTXCSR POKE ch DOWN
8415 010314 017701 171406 rov aTXCSR,R1 SACTU
8416 010320 042701 075777 31C #075777,R1 : SAVE onLv BIT WINDOW £ DNA
8617 010324 020001 “MP RO,R1
8418 010326 001401 BEQ R
8419 010330 104003 EFROR 3 :BIT WINDOW DID NOT MATCH
8420 ;ACTUAL DATA BIT
8421 010332 005367 170564 DEC SHIFT
8422 010336 022767 000003 170556 CMP #5,SHIFT
8423 010344 001003 BNE 38
8424 010346 042777 000020 171352 BIC #SEND,RTXCSR  ;DROP SEND
8425 010354 005767 170542 38: ST SHIFT
3259 010360 001341 BNE 1s :D0 IT AGAIN?
8050
8430 ::THIS TEST VERIFYS THAT RXDONE ASSERTS WHEN STRIP SYNC IS SET
8431 S3MODE: SYNC INTERNAL
8432 i iLENGTH: EIGHT
8433
8434 010362 §¥sTNO
(1) 010362 NEWTST
(2) 000000 suursr=o
(2) 001 UF B <
(2) 010362 SSNEHIESI \$TN,<>,SCOPE
(3) JORP  ASCI, <>
(3) "IF EQ SNwTST
(3) NLIST



CNDUU=A MACY11 30(1068) 14-95(-82 10:02 PAGE 62-81
CNDUUA. M1 29-0CT-82 13:2 INITIALIZE THE COMMON TAGS SEQ 0095

(3) SNWTST=1

.SBTTL 7123 ASCI
LLIST

STARS

;*TEST 23 ASCI

IFF
ASCI
+ENDC
.ENDM
010362 STARS
002 .IF B

:"tt"i'.'i.iti""'i't'.."i"""'t"'QQ'QQ'Q"Q.QQ"'..'Q.i..

JIFF

NLIST

-REPT

LIST
::t..it't"Q.t""'i'"""i"'."t!i'i't..t""tt'ttt't't.ttit"
NLIST

.ENDR

LIST

001 "ENDC
010362 000004 TST23: SCOPE
000024 S}?FSTNOI
) SSNEWTEST \$IN, <>, <>
000 .ENDC
001 .IF NE 40008$SWR
IF NB
003 JIF LE <=1>
MOV #1,8TIMES ::D0 1 ITERATION

MoV #,8TIMES ::D0 ITERATIONS

Ll la

vvvvvvvvvuw\'vvvvvvvvvvvvvvvvvvvvvvvvvvvvwvvvvvvvvvvvvvv
~No
. .
—
-
o0 ™

o

o

~N
5(\6 Eﬁﬂ

MoV # ,SLPADR ::SET SCOPE LOOP ADDRESS

v

F SMAIL
TNM,<\$TN=1>
MOV #°TNM, STESTN ;:SET TEST NUMBER IN APT MAIL BOX

o
o
—
. L ] . L]
e b be (VYT [ laalasl
o

DN ZZ TMZ2=2

o

o

N
e o o
o

10
. IRP $DN, <\$N>

NEWTST

3 MOV #SDN,STSTNM s SAVE THIS
.ENDM
.NLIS1
.RADIX 8

o

o

o

o

=l

oo
® & @ & & 0
roO>Z2XXmmm

K -4

—pDrmMmZZEZ
- e () =4 VY B
o

.~~~ T~~~ P PP P~~~ NN PN PN NN PN NN N NN
NO = POOO

I L S LS LN S LNT N LN ST NS TN LN LN TN TN LN LS TN NN NIV IWIIVI R R P oW o o o ol ol o o WV LY
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CNDUUA.M11 29-0CT-82 1 NITIALIZE THE COMMON TAGS SEQ 0096
(1) LIST
(1) ;. 11F NB <, MOV # ,RETURN :SET UP THIS neruau
(1) s 11F NB <>, MOV #,1COUNT SSET UP THIS ICOUNT
(1) :.1F NB O
m :m MOV # ,NEXT ;GO TO THIS TEST WHEN THRU
(1) NLIST
(1 CRADIX 10
(1 LIST
(1) .IRP SDE,(\SE)
(1) JIF OF  TSTY$DE
(1) ; MOV #TST'SDE,NEXT ;GO TO THIS TEST WHEN THRU
(1) ENDM
(1) NLIST
(1) .RADIX 8
(1) LIST
(1 JIFF
(1) ; MOV #.EOP,NEXT :6G0 TO THIS TEST WHEN THRU
(1) LENDC
(1) JENDC
(1) ;. 11F NB <o, MOV #,L0CK :SET UP FOR SCOPE LOOP
(1) .NLIST
(1) RADIX 10
(1) SN=$SN+1
(1) $SE=SE+1
(1) LRADIX 8
(1) LLIST
(1) .ENDR
8435 010364 nssrup MINT,SYNINT,EIGHT,NOPAR,26
(1) 010364 SRESET
(2) 010364 052777 000400 171334 BIS #MRESET,@TXCSR ;MASTER RESET
(1) 010372 012777 030000 171322 MOV #SYNINT.9PARCSR :SET THE MODE
(1) 010400 SRESET
ggg 010400 052777 000400 171320 BIS #MRESET,3TXCSR ;MASTER RESET
(1) :SET MAINT DATA,CLK,BREAK,EMAINTENANCE MODE
z;; 010406 012777 064001 171312 MOV "#MTDATA'CLK 'MINT 'BREAK,@TXCSR
(1) :SET MODE ,# OF BITS,PARITY SENSE,BLOAD SYNC REG
8:;3 010414 012777 036026 171300 MOV #SYNINT'EIGHT !NOPAR'26,aPARCSR
g:g; 010422 052777 000420 171262 BIS #SYNSCH'STPSYN, anxcs?P i SEI SYNC SEARCH &
8439 -POKE CLK TO GET nscenveﬁ INTO SYNCRONIZA!ION bor =
8440 010430 042777 020000 171270 BIC #CLK,RTXCSR :POKE CLK
8441 010436 052777 020000 171262 BIS #CLK.3TXCSR ;
8442 010444 $POKER
(1) :POKE CLK TO GET LOGIC INTO SYNCRONIZATION
(1) 010444 042777 ozoooo 171254 BIC #CLK,3TXCSR :POKE CLK DOWN
(1) 010452 052777 020000 171246 BIS #CLK.DTXCSR :POKE CLK UP
8443 010460 016703 171232 MOV nxoauv R3 :FOR ERROR MESSAGE
8444 0104646 012767 000002 170432 MOV OUNT :# OF TIMES OF SYNC CHARS.
8445 :TEST T0 sée uou MANY SYNC CHARS NEEDED
8446 010472 105767 170450 TSTB  SYNCNO
8647 010476 100402 BM] 3 ;WILL 1T BE ONE OR TWO ?
8448 010500 005367 170420 DEC COUNT  :MAKE IT ONE LESS
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CNDUU=A MACY11 0(1043) 14-95(-52 10:02 PAGE 62-83
CNDUUA.M11 29-0CT-82 13:2 INITIALIZE THE COMMON TAGS
8449 0105064 012767 000010 170410 3$: MOV #8.,SHIFT SHOF SHIFTS
8450 010518 81 767 800026 170768 MOV :56 $TMP1 :SYNC CHAR
8451 010520 004767 006446 JSR PC, RPOKE
8452 010526 005367 170374 DEC OUNT ;IS IT THE LAST SYNC CHAR ?
84S 010530 001365 BNE $ GO AGAIN AND SHIFT IN ANOTHER SYNC CHAR
8454 010532 032777 004000 171152 BIT #RECACT,ARXCSR ;RECACT=1?
8455 010540 001001 BNE .+
8456 010542 104004 ERROR 4 sRECACT SHOULD BE ASSERTED
8457 010544 105777 171142 TSTB  @RXCSR ;RXDONE=0?
8458 010552 100001 BPL .+
8459 010552 104004 ERROR & :RXDONE SHOULD NOT BE ASSERTED
8460 010554 015767 000010 170340 MOV "8 ,EHIFT sMOF SHIFTS
8461 010562 012767 000025 170710 MOV #25°8TMP1 *ANY CHARACTER
8462 010570 004767 006376 JSR PC ,RPOKE
8463 010576 105777 171112 1STB  aRXCSR :RXDONE=1?
8464 010600 100401 BM] .+
8465 010602 104004 ERROR & :RXDONE SHOULD NOW BE ASSERTED
8466 010604 012700 000025 MOV #25,R0 ;EXPECTED
8467 010610 017701 171102 MOV aRXDBUF ,R1 *ACTUAL
8468 010614 020001 CMP RO,R1
8469 010616 001401 BEQ YA
gz;g 019620 104002 ERROR 2 :CHARACTERS SHOULD BE MATCHED
8472
8473
8474 ::THIS TEST VERIFYS THAT BY DROPPING SYNSCH
8475 “:IN THE MIDDLE OF A CHARACTER, SYNC CHARACTER SEQUENCE
8476 $:15 NEEDED BEFORE RECACT, RXDONE ASSERT AGAIN.
8477 SALSO NOTE: SINCE RECACT IS DEPENDENT ON MATCH DETECT,
84,78 S:AND IF SYNSCH IS DROPPED IN THE MIDDLE OF
8479 P3A SYNC CHARACTER AND THEN RAISED AGAIN ;RXDONE SHOULD
8480 SINOT ASSERT UNTIL NEW SYNC CHARACTER SEQUENCE........ HOWE VER
8481 P:ONE "'PAD'' CHARACTER MUST PRECEED THIS JUGGLING OF SEARCH SYNC (SYNSCH)
8482 SIMODE: SYNC INTERNAL (SYNINT}
8483 PILENGTH: EIGHT
8484 33
8485
8486 010622 $TSTNO
(1) 010622 NEWTST
(2) 000000 SNWTST=0
(2) 001 F B ©
(2) 010622 SSNEWTEST \$TN,<>,SCOPE
(3) JRP  ASCI,<>
(3) “IF EQ SNWTST
(%) .NLIST
(3) $NWTST=1
(3) LSBTTL 124 ASCI
(3) .LIST
(%) TARS
(3) SeTEST 24 ASCI
(%) JJFF
(3) ASCI
(3) JENDC
(3) .ENDM
(3) 010622 STARS
(&) 002 AF B

SEQ 0097



CNDUU=A MACY11_30(1046)
85 CNDUUA M1

(&)
(&)
(4)
(4)

~~
SLSTLET R NUSNTNTNLSTNLSTNTNTSTNTNSLNIVITWITENY O P o o
'

—~~ o~~~ S~~~ i~~~ T~~~ T~~~ T~~~ T~ TN, PP P NN NN NN NN PN PN~
oo
o N N A e N e e N N N S e N N e N N N N N e e N N N N N N N N N N N Nt N it N Nt N N N N St S

—‘-‘—.-‘-‘—.-‘_‘_‘dd—ld—.-‘-‘-‘d—‘-‘—.

001
010622 000004
000925

29-0C1-82

14=DEC~- 10: PA -84
13:295( 82 10:02 GE 62-8

INITIALIZE THE COMMON TAGS

5222222222222 2222222 2222222222222 2 22222 0000220 RdRRRRRRdddRld])

LIFF
NLIST
REPT
LIST

;:"....""""".'."""."'."'.i...!.t.tt""'"."".t..".

EN
TST24: SCOPE

$TN=8STN+1
.lFF

+ENDC

SSNEWTEST
.IF NE 4000R$SWR

.IF NB

JAF LE <=1>
MOV

IFF

MOV

o0

MOV

<o

F SMAIL

e o o o @
M et MM ==fMmMm
& VI T2

MOV

RADIX 10

#1,8TIMES
#,8TIMES

#,SLPADR

P TNM,<\$TN=1>

#'TNM,STESTN

. IRP $DN, <\$N>

NEWTST

"ENDM
CNLIST
"RADIX 8

MOV

.
s o ™
e
w
- -
5zz
A
v

MOV

e ™ )
bl + TS 1 i B T
VNO e b s Y Y
O N
- > =4
-
o

#SDN,STSTNM

<>, MOV
<, MOV

# NEXT ;GO TO

\$IN, <>,

::D0 1 ITERATION
::D0 ITERATIONS

:sSET SCOPE LOOF ADDRESS

s:SET TEST NUMBER IN APT MAIL BOX

;SAVE THIS

# ,RETURN ;SET UP THI
#, ICOUNT :SET UP THI

THIS TEST WHEN THRU

S RETURN
S ICOUNT

SEQ 0098
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CNDUU=A MACY1
CNDUUA M1

—~—~
—
-

BN BN 7 5 7 s 5 o o o B B 5 8 5 550 8 N PP PN N
OO o v o~ o o o o o D N N N N N N i N it i S i

1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
848
8488 010624
1) 010624
2) 010624
1) 010632
1) 010640
% 010640
1
} 010646
1
1) 010654
848
8490 010662
2}; 010662
(1) 010670
(1) 010676
8??} 010704
(1) 010704
(1) 010712
8492 010720
8493 010726
8494 010732
8495 010740
8496 010746
8497 010752
8498 010756
8499
8500 010760
8501 010764
8502
8503 010766
85064 010774
8505 010776
8506 011000
8507 011004

2

0(1046) 14-
-0CT-82 13:27

052777 000400
012777 030000

052777 000400
012777 064001
012777 036026
052777 000020

042777 020000
052777 020000

042777 020000
052777 020000
012767 000002
016703 170764
012767 000010
012767 000056
004767 006220
005367 170146
001403
105767 170162
100762
032777 004000
001001
104004
105777 170706
100001

DEC-82 10:02 PAGE 62-85

;G0 TO THIS TEST WHEN THRU

;GO TO THIS TEST WHEN THRU

#,L0CK ;SET UP FOR SCOPE LCOP

INITIALIZE THE COMMON TAGS
MOV #TST SDE,NEXT
ENDM
NLIST
.RADIX 8
LIST
JIFF
: MOV #.EOP _NEXT
"ENDC
JENDC
:.11F NB <>, MOV
CNLIST
.RADIX 10
$N=SN+1
$E=SE+
LRADIX 8
LLIST
"ENDR
rﬂg;g¢ MINT,SYNINT,EIGHT ,NOPAR,26
171074 BIS #MRESET,ATXCSR ;MASTER RESET
171062 s MOV #SYNINT.PARCSR :SET THE MODE
171060 BIS #MRESET,3TXCSR ;MASTER RESET
:SET MAINT DATA,CLK,BREAK,EMAINTENANCE MODE
171052 MOV #MTDATA'CLK'MINT 'BREAK,aTXCSR
:SET MODE ,# OF BITS,PARITY SENSE.ELOAD SYNC REG
171040 MOV #SYNINT'EIGHT INOPAR' 26, aPARCSR
$SYNCR
171022 BIS #SYNSCH,BRXCSR ;SET SYNC SEARCH
:POKE CLK TO GET RECEIVER INTO SYNCROIZATION....
171030 BIC #CLK,ITXCSR :POKE CLK DOWN
171022 S BIS #CLK.DTXCSR :POKE CLK UP
:POKE CLK TO GET LOGIC INTD SYNCRONIZATION
171014 BIC #CLK,TXCSR :POKE CLK DOWN
171006 BIS #CLK,TXCSR :POKE CLK UP
170176 MOV #2.COUNT ‘¥ OF TIMES
MOV RXDBUF ,R3 ‘FOR ERROR MESSAGE
170162 1$: MOV #8. ,SHIFT ‘# OF SHIFTS
170532 MOV #26.$TMP1 :SYNC CHAR.
JSR PC,RPOKE
DEC COUNT
BEQ 2%
;TEST TO SEE HOW MANY SYNC CHARACTERS NEEDED
ISTB  SYNCNO
BMI s
170716 2%: BIT SRECACT,aRXCSR  ;RECACT=1?
ERROR &
1STB @RXCSR :RXDONE = 0?
BPL ¢

;RECACT SHOULD BE SET

SEQ 0099



CNDUU=A MACY11 30(1048) 14-95(-82 10:02 PAGE 62-86
CNDUUA.M11 29-0CT=82 13:2 INITIALIZE THE COMMON TAGS SEQ 0100
8508 011006 104004 ERROR & :RXDONE SHOULD =
8509 ;THE_FOLLOWING ALLOWS THE RECEIVER "'CHIP" o RECOGNIZE THE DROPPING OF SYNSCH
8510 ....BAS!CALLY IT SIMULATES THE ''PAD'’ CHARACTER REQUIREMENT AT THE END
8511 ‘0F DATA TRANSFER.
as1§ :ONE "‘PAD'* CHARACTER IS REQUIRED TO FLUSH OUT SYNC CHARACTER
851 *AND ..hvou HAVE TO DROP SYNSCH ON THE NEXT OR FOLLOWING CHARACTER
8514 :FOR A "'CLEAN RE TART
8515 011010 012767 000010 179104 MOV LSHIFT :# OF SHIFTS
8516 011016 012767 000025 170454 MOV 5 $TMP1 S“PAD'" CHARACTER
8517 011054 004767 006142 JSR pc RPOKE SSHIFT IN ''PAD™ CHARACTER
8518 011030 105777 170656 TSTB  @RXCSR :RXDONE = 1 ?
8519 o11o§a 100401 BM] .44
8520 011036 104904 ERROR 4 :RXDONE SHOULD = 1
8521 011040 017701 170652 MOV aRXDBUF ,R1 STORE ACTUAL & CLEAR RXDONE
aszg 011044 012700 000025 MOV #25,R0 ;EXPECTED
852 011050 020001 CMP RO R1 COHPARE EXPECTED DATA VS ACTUAL DATA
8524 011052 001401 BEQ YA
8525 011054 104002 ERROR 2 :DATA SHOULD COMPARE WITHOUT ERROR FLAGS
8526 :THE FOLLOWING IS THE SYNC CHARACTER AFTER THE ''PAD'' CHARACTER
8527 *IN WHICH ssancu SYNC (SYNSCH) IS JUGGLED TO CREATE AN ABORT SITUATION
8528 :AT THE END OF A DATA TnAnern SEQUENCE
8529 011056 012767 000004 170036 MOV SHIFT :# OF SHIFTS
8530 011064 012767 000026 170406 MOV nzé $TMP1 SSYNC CHAR,
8531 011072 004767 006074 JSR PC,RPOKE
8532 011076 032777 004000 170606 BIT #RECACT,aRXCSR ;RECACT=1?
8533 011104 001001 BNE . +4
853, 011106 104004 ERROR 4 :RECACT SHOULD STILL BE SET
8535 011110 105777 170576 TSTB  @RXCSR :RXDONE = 0 ?
8536 011114 100001 BPL .+
BS37 011116 104004 ERROR 4 :RXDONE SHOULD = 0 FROM PREVIOUS READING OF RXDBUF
8538 011120 042777 000020 170564 BIC #SYNSCH,3RXCSR :DROP SEARCH SYNC
8539 011126 032777 004000 170556 BIT #RECACT.aRXCSR :RECACT=0?
8540 011134 001401 BEQ .+4
85641 011136 104004 ERROR & RECACT SHOULD NOT BE SET
8542 :NOW SHIFT TWO BITS TO ALLOW SEARCH SYNC =0 TO TAKE
8543 SEFFECT IN THE LOGICC(THIS ALLOWS THE RECEIVER cntP 10 SEE
8544 :THE DROPPING OF SEARCH SYNC)
8545 011140 012767 000002 167754 MOV #2,SHIFT :# OF SHIFTS
8546 011146 004767 006020 JSR PC _RPOKE
8547 011152 052777 000020 170532 B1S #SYNSCH,BRXCSR ;SET SEARCH SYNC
8548 011160 032777 004000 170524 BIT #RECACT.ARXCSR
8549 011166 001401 BEQ 4
8550 011170 104004 ERROR & :RECACT =0 ?
8551 011172 105777 170514 TSTB  @RXCSR :RXDONE = 0 ?
8>S§ 011176 100001 BPL N
§553 011200 104004 ERROR & ;RXDONE = 0 ?
8554 011202 012767 000002 167712 MOV #2,SHIFT <# OF SHIFTS TO FINISH UP THE SYNC CHARACTER
8555 011210 004767 005756 JSR PC . RPOKE
8556 011214 032777 004000 170470 BIT aaécacr aRXCSR  ;RECACT=0?
8557 011222 001401 BEQ
8558 011224 104004 ERROR 4 RECACT SHOULD NOT BE SET
8559 0112;6 105777 170460 1518 aaxcsa ;RXDONE=0?
8560 011232 100001 BPL a
8561 011234 104004 ERROR :RXDONE SHOULD NOT BE ASSERTED
asog 011236 01;700 000025 MOV czs RO ;EXPECTED
8563 011242 017701 170450 MOV aRXDBUF ,R1 TACTUAL
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000000
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ALIZE T

CMP
BEQ

ERROR

RO, R1
5 +4

nsnasnscn THAT THE

HE COMMON TAGS

; COMPARE EXPECTED vS ACTUAL
: CHARA ;ERS SHOULD BE MATCHED...c000ss

HEREFORE ....25 WILL BE READ AND

NOT 26
: THE FOLLgulNG VGRIFYS THAT THE RE SYNCRON]ZATION COMES UP "'CLEAN''

SEQ 0101

FROZE UHEN SYNSCH WAS DROPPED

#2,COUNT :# OF TIMES OF SYNC CHARS.
STEST TO SCE HOW MANY SYNC CHARS NEEDED
fst8 YNCNO :HOW MANY SYNCS ARE YOU STRAPPED FOR ?
BM] i, :WILL IT BE ONE OR TWO ?
DEC counr 1T WAS ONLY ONE NEEDED
MOV HIFY :#OF SHIFTS
MOV c26.stnp1 :SYNC CHAR
JSR PC,RPOKE
DEC gouut 1s IT THE LAST SYNC CHAR ?
BNE $ AGAIN AND SHIFT IN ANOTHER SYNC CHAW
gkg cRECACI 5axcsn ;RECACT=1?
ERROR 4 sRECACT SHOULD BE ASSERTED
;gza anzcsn :RXDONE=0?
ERROR & :RXDONE SHOULD NOT BE ASSERTED
MOV #8..5 ;HOF SHIFTS
MOV #25,% : ANY CHARAcrEn
JSR PC,RP
TSTB  @RX(CS :RXDONE=1?
BM] .+
ERROR & :RXDONE SHOULD NOW BE ASSERTED
MOV #25,R0 ;EXPECTED
MOV aRXDBUF ,R1 SACTUAL
CMP RO,R1
BEQ L+
ERROR 2 :CHARACTERS SHOULD BE MATCHED

;:THIS TEST VERIFYS THAT HDX MODE DISQUALIFIES THE

SRECEIVER WHEN SEND IS ASSERTED

::MODE: SYNC EXT

i iLENGTH:  EIGHT

SINOTE: THIS TEST WORKS ONLY IN MAINT. EXTERNAL MODE

‘irnag TEST USES BOTH RECEIVER & TRANSMITTER LOGIC

NEWTST

$SNWTST=0

JF B ©
SSNEWTEST

IRP  ASCI.<>

F Eg SNWTST

\$TN,<>,SCOPE

.SBITL 125 ASCI

S
ST 25 ASCI
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(3)

(3

(3)

(g)

(3) 011412

(4) 002
(4)

(4)

(4)

(4)

(4)

(4)

(&)

(4)

(4)

(4) 001
2%; 011412 000004
(3) 000026
(2)

(2)

(2) 000
(2) 001
(2) 002
(2) 003
(2)

(2)

(2)

(2) 002
(2) 001
(2) 002
(2)

(2) 001
(2) 000
(2) 001
(2) 002
(2)

(2)

(2)

(2) 001
(2) 000
(1) 000000
(1)

(1)

(1)

(1)

(1)

(1)

(1)

(1M

(1N

(1)

(1)

(1)

(1)

(8

14=
3:2

95(

-82 10:02 PAGE 62-88

INITIALIZE THE COMMON TAGS

(A 2222222220202 220200 0202222 AR 000000 RRRRdRaRRRRRRdRRRRddd]])

(1

INLIST

i
E%"t..'t""'!"""Q't""'t'.'tttttt.Q..tti.ttttlt't't'..'."'
"NLIST

"ENDR

WP =de

—
s

oo w»m

Ve —4

w

o

o

h

m

o

et e AT e MM et et =y (AT
-
sl

¢ SSNEWTEST \$TN, <>,
NE 4000RS$SWR
NB
LE <=1>
MOV #1,8TIMES ::00 1 ITERATION

MOV #,8TIMES ::D0 ITERATIONS

-T2 M2 2
o ™

MOV # ,SLPADR ssSET SCOPE LOOP ADDRESS

ssSET TEST NUMBER IN APT MAIL BOX

.RADIX 10
IRP $DN, <\SN>

NEWTST

: MOV #SDON,STSTNM

.ENDM

NLIST

o e

:.11F NB <, MOV # ,RETURN :SET UP THIS RETURN
} Nga <, MOV #,1COUNT ;SET UP THIS ICOUNT

. <>

: MOV # NEXT ;GO TO THIS TEST WHEN THRU

:SAVE THIS

-

.l
1

SEQ 0102
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)90 CNDUUA . M1

ooaﬂﬂﬁﬁﬂ‘\ﬁﬂﬂ\ﬂnAﬂﬂﬁhﬂﬂ‘ﬂﬂa
O b d e o D i o B ) ) e D o i D D e D e h
WO S o o " "o " i N N i o N N N N o N o i o P

8 0114614 105767
8609 011420 100155
8610 011422 016703
8611 011426

(1) 011426

(2) 011426 052777

(1) 011434 012777

(1) 011442

(2) 011442 052777

(1)

(1)

(1)

(1) 011450 012777

(1)

(1)

(1) 011456 012777
8612 011464 052777
8613 011472 112777
8614
8615 011500

:}; 011500 052777

(1) 011506 016702

(1) 011512 005302

:}; 011514 001376

2}; 011516 042777

(1) 011524 016702

(1) 011530 005302

g}; 011532 001376
8616 011534 012767

14-95(

29-0CT-82 13:2

167533
170270
000400
020000
000400

020000
167406

020000
167370

000010

;GO TO THIS TEST WHEN THRU
:GO TO THIS TEST WHEN THRU

+SET UP FOR SCOPE LOOP

OUT OF THIS TEST IF *‘NO''
ERROR MESSAGE

-82 10: 02 PAG E 62~ 8
ITIALIZE THE COMMON TAGS
JAEF
NLIST
LRADIX 10
.LIST
.IRP SDE,(\SE>
IF DF  TSTP$DE
MOV #TST'$DE,NEXT
‘ ENDM
.NLlST
RADIX 8
.LISI
JIFF
: MOV #.EOP,NEXT
"ENDC
"ENDC
:.11F NB <>, MOV #,L0CK
NLIST
.RADIX 10
$N=SN+1
SE=SE+1
.RADIX 8
LIST
-ENDR
TSTB  JMRBY
BPL 1% ;GET
MOV RXDBUF ,R3 “FOR
;sggg$ MEXT,SYNEXT,EIGHT ,NOPAR, 26
170272 BIS #MRESET,@TXCSR ;MASTER RESET
170260 R MOV #SYNEXT.3PARCSR :SET THE MODE
170256 BIS #MRESET,@TXCSR ;MASTER RESET

:SET MAINTENANCE MODE & SEND

sNOTE:BIT WINDOWECLK ARE CLEARED (MTDATA=0)

170250 MOV #MEXT'SEND,@TXCSR
:SET MODE,# OF alts PARITY SENSE,& LOAD SYNC REG
170236 MOV YNEXT'EIGHT 'NOPAR' 26, 3PARC SR
170220 BIS nsv SCH,@RXCSR ;SET SEARCH SYNC
170232 nove #25,3TXDBUF *ANY CHARACTER
OKE CLK FOR svncRONIZAi
Pussvrooi
170220 BIS #CLK,ATXCSR ;POKE CLK UP
;WAIT FOR CABLE © DRIVER DELAYS
MOV HOLD,R? : AlT THIS AMT
DEC R2 TWALT
BNE =2
EXIT...
170202 BIC #CLK,BTXCSR ;POKE CLK DOWN

;WAIT FOR CABLE € DRIVER DELAYS

MOV HOLD,RZ ;WAIT THIS AMT
DEC R2 TWAIT
BNE .2
111 | .
167360 MOV #8. ,SHIFT

+# OF SHIFTS

SEQ 0103
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CNDUUA.M11 29-0CT INITIALIZE THE COMMON TAGS SEQ 0104
8617 011545 2%:
(1) 011542 052777 020000 170156 BIS #CLK atxcsa :POKE CLK UP
(1) ‘WAIT FOR CABL nxvea DELAYS
(1) 011550 016702 167344 MOV HOLD,R2 ;WAIT THIS AMT
(1) 011554 00530 DEC R2 WAIT
:}; 011556 001376 82511 =2
(1) 011560 042777 020000 179140 BIC “#CLK,@TXCSR ;POKE CLK DOWN
(1) :WAIT FOR CABLE & DRIVER'DE LA S
(1) 011566 016702 167326 MOV HOLD ,R2 HAIT THIS AMT
(1) 011572 00530 DEC R2 WAIT
g}; 011576 001376 B?Exr =2
8618 011576 005367 167320 DEC "SHIFT  :# OF SHIFTS
8619 011602 022767 000003 167312 CMP #3,SHIFT ;IS IT TIME TO LOAD NEXT CHAR ?
8620 011610 001003 BNE 3%
8621 011612 112777 000024 170112 MOVB aza aTXDBUF ;LOAD NEXT CHAR,
8622 011620 005767 167276 3$: ST HIFT
8623 011626 001346 BNE 2s
8624 011626 105777 170060 TSTB  @RXCSR ;RXDONE=1?
8625 011632 100401 BM] Y
8626 01163¢ 104004 ERROR & ;RXDONE SHOULD BE SET
8627 011636 012700 000025 MOV #25,R0 ;EXPECTED
8628 011642 017701 170050 MOV aRXDBUF ,R1 :ACTUAL
8629 011646 020001 CMP RO,R1
8630 011650 001401 BEQ YA
8631 011652 104002 ERROR 2 ; CHARACTERS SHOULD COMPARE
8632 011654 052777 000010 170044 BIS #HDXEN,@TXCSR  :SET HALF DUPLEX HDX
8633 011662 012767 000010 167232 MOV #8.,SHIFT i# OF SHIFT
8634 011670 4$:
(1) 011670 052777 020090 170030 BIS #CLK,RTXCSR :POKE (LK UP
(1) :WAIT FOR CABLE & DRIVER DELAYS
(1) 011676 016702 167216 MOV HOLD,R2 HAIT THIS AMT
(1) 011702 005302 DEC R2 TWAIT
:}; 011706 001376 82511 =2
(1) 011706 042777 020000 170012 BIC “#CLK,BTXCSR :POKE CLK DOWN
(1 :WAIT FOR CABLE z DRlv DELAYS
(1) 011714 016702 167200 MOV HOLD,R 2 WAIT THIS AM
(1) 011720 005302 DEC R2 WAIT
g}; 011722 001376 6?511 .-
8635 011724 005367 167172 DEC SHIFT
8636 011730 001357 BNE 4%
8637 011732 105777 167754 TSTB  @RXCSR :RXDONE=0?
8638 011736 100001 BPL .
8639 011740 104004 ERROR & ;RXDONE SHOULD NOT BE ASSERTED
8640 sCHECK OUT HDX LOGIC
8641 011742 017701 167750 MOV aRXDBUF ,R1 *ACTUAL
8642 011746 020001 CMP RO,R1
8643 011750 001401 BEQ . +4
8644 011752 104002 ERROR 2 : CHARACTERS SHOULD COMPARE
8645 “NOTE THAT CHARACTER 25 WILL BE FROZEN
8646 PIN THE RXDBUF EVEN THOUGH CHARACTER 24 WAS
8647 SSENT TO THE RECE [VER
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8650
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86
865

ViAW

Co0o 00
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-0(T-82 1

B 9

14=DEC-B2 10:02 PAGE 6291
14-DEC-B2 10:02 PAGE 62

NITIALIZE THE COMMON TAGS
1%:

:2THIS TEST VERI
330N THE LINE WH
ssTHIS TEST USES
s3MODE: SYNC EX
::LENGTH: EIGHT

$TSTNO
NEWTST
SNWTST=0
JF B ©
SSNEWTEST \$TN,<>,SCOPE
.IRP ASCI, <O
JIF EQ SNWTST
NLIST
$NWTST=1
LSBTTL T26 ASCI
LLIST

S
s*TEST 26 ASC!

FYS THAT BREAK F
ILE_TRANSMITTING
BOTH THE RECEIV
T (SYNEXT)

ORCES A SPACE CONDITICN
ER AND TRANSMITTER LOGIC

LENDC
.ENDM
STAR>
AF B

L L LT R L AT
.JFF

.NLIST

+REPT

LIST

52 2212222222222 2223322222202 2222222222220 R R0 RRRRRRdd ]

WNLIST

.ENDR

LIST

LENDC

1S126: SCOPE

STN=STN+1

$SNEWTEST \$TN, <>,

C
NE 40008$SWR
N8

MOV #1,$TIMES ::D0 1 ITERATION
MOV ¥, STIMES ::D0 ITERATIONS

MOV # ,SLPADR ::SET SCOPE LOOP ADDRESS

SEQ 0105
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14-95(-82 10:02 PAGE 62-92
13:2 INITIALIZE THE COMMON TAGS

JENDC

.1F NB

LUF DF SMAIL

.IRP TNM,<\$TN=1>

ENDM MoV #'TNM, STESTN ::SET TEST NUMBER IN APT MAIL BOX
LENDC

ENDC

.REPT 0

NLIST

.RADIX 10

LIST

. IRP $DN, <\ $N>
NEWTST

3 MOV #SDN,STSTNM JSAVE THIS

ENDM

NLIST

RADIX

LIST

:.11F NB <, MOV # ,RETURN :SET UP THIS RETURN
:.{gFNgB< <, MoV #,1COUNT :SET UP THIS ICOUNT
e >

:IFF MOV # NEXT ;GO TO THIS TEST WHEN THRU -
NLIST

LRADIX 10

LLIST

.IRP SDE‘<\SE>

LIF DF TST'SDE

3 MOV #TST"SDE  NEXT ;G0 TO THIS TEST WHEN THRU
.ENDM

NLIST

.RADIX 8

$iia

3 MOV # .EOP NEXT :GO TO THIS TEST WHEN THRU
LENDC

LENDC

:ﬁiigtna <, MOV #,L0CK ;SET UP FOR SCOPE LOOP
LRADIX 10
SN=SN+1

$E=SE+

.RADIX 8

'LIS;

000400
020000

000400

004020

167742
167730

167726

167720

.£~D
;gggg? MINT,SYNEXT,EIGHT ,NOPAR,26
BIS #MRESET ,@TXCSR  ;MASTER RESET
SRESET MOV #SYNEXT ,aPARCSR ;SET THE MODE
BIS #MRESET,@TXCSR ;MASTER RESET

sSET MAINTENANCE MODE & SEND
:NOTE:BIT WINDOWRCLK ARE CLEARED (MTDATA=0)
MoV #MINT!SEND,@TXCSR

SEQ 0106
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001046) 14-DEC-B2 10:02 PAGE 62-93
Zg -32 13:29

-0CT

—-000C0
- e A Y b
[Q ST N Te T 8 N

O =00
OO
CONOO
[=lel. Jol=]
O NN
VINOOO

(=lolel=]
v
[elelole]

167032
167630
167622
167004
167604

S OV AN =NV oo

7701 167546

777 000001 167542
700 000000

367 166730
332

COO0O0=2000===00—-200000
CO=VOON=0000O=0NO MWV

000000
001

INITIALIZE THE COMMON TAGS

:SET MODE,.# OF BITS,PARI
MOV #SYNEXT!
BIS #SYNSCH

Y
16
R
MOV RXDBUF , R

:
3

SE,L
OPAR'

LOAD SYNC REG
6,aPARCSR

:SET SEARCH SYNC

‘FOR ERROR MESSAGE

MOV 'S COUNT ‘# OF TIMES
MOVB  #25,3TXDBUF *ANY CHARACTER
Srom :POKE CLK FOR SYNCRONIZATION
BIS #CLK,ITXCSR :POKE CLK UP
BIC cc%x.avxcsn :POKE (LK DOWN
MOV #25.R0 :EXPECTED
1$: MOV #8..SHIFT ‘# OF SHIFTS
2%:
BIS #CLK,@TXCSR :POKE CLK UP
BIC #CLK.TXCSR :POKE CLK DOWN
DEC SHIFT
CMP #3,SHIFT
BNE 33
MOVB  #24,aTXDBUF :LOAD NEXT CHAR
38 ST SHIFT
BNE 2%
TSTB  @RXCSR ;RXDONE=1?
BM] L+
ERROR &
MOV aRXDBUF ,R1 :ACTUAL
CMP RO,R1
BEQ . +4
ERROR 3
BIS #BREAK,3TXCSR  ;SET BREAK
MOV #0,R0 :EXPECTED
DEC COUNT
BNE 1%
:sTHIS TEST VERIFYS THAT DSC CAUSES AN INTERRUPT
S3THIS TEST ONLY WORKS IN MAINT EXTERNAL MODE
- *INTERRUPT VECTOR: DURIV
$TSTNOD
NEWTST
SNWTST=0
JF B <>
SSNEWTEST \$TN,<>,SCOPE

IRP  ASCI.<>
“IF EQ SNWTST

.NLIST
SNWTST=1
LSBTITL 127 ASCI
LLIST
STARS
s*TEST 27 ASCI
AFF
ASCI
LENDC
.ENDM

SEa 0107
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95 CNDUUA . M11 -0(T= NITIALIZE THE COMMON TAGS SEQ 0108
(3) 012176 STARS
(&) 002 AF B
(l.) :i'...t!'t!t'.t'ttt""".'t'QQ'.'!"t.'tttt.'."t.'tt't.tt.tt.tt
(4) AFF
(%) NLIST
(%) .REPT
(4) LLIST
(l.) :;l"'t'.ttt’t"ct"t""'""t"tttt'ttlt.ttt't'.ttt."."'ttt"
(4) NLIST
(4) .ENDR
(4) LIST
(&) 001 .END;
{%; 012176 000904 1S127: SCOPE
(3 000030 $TN=8TN+1
(2) AFF
(2) SSNEWTEST \$IN, <O,
(2) 000 .END
(2) 001 .JF NE 40008$SWR
(2) 002 .IF NB
(2) 003 JJF LE <=1
(g; - MoV #1,8TIMES ::D0 1 ITERATION
( od
(2) MOV #,3TIMES ::D0 ITERATIONS
(2) 002 LENDC
(2) 001 LENDC
(2) 002 JIF NB ’
(2) MOV #,SLPADR ::SET SCOPE LOOP ADDRESS
(2) 001 LENDC
(2) 000 LENDC
(2) 001 .1F NB
(2) 002 JF DF SMAIL
(2) .IRP TNM,<\$TN=1>
(2) MOV #'TNM,STESTN ::SET TEST NUMBER IN APT MAIL BOX
(2) .ENDM
(2) 001 ENDC
(2) 000 .ENDC
(1) 000000 .REPT 0
(1) .NLIST
(1) .RADIX
(1) LLIST
(1) .IRP $DN, <\$N>
(1) NEWTST
(1) : MOV #SDN,STSTNM :SAVE THIS
(1) .ENDM
(1) NLIST
(1) LRADIX
(1) LLIST
(1) :.11F NB <>, MOV # ,RETURN :SET UP THIS RETURN
(1) :.11F NB <>, MOV #,1COUNT :SET UP THIS ICOUNT
(1) :.JF NB <©
(1) :1rr MOV # NEXT ;GO TO THIS TEST WHEN THRU
(1) .
(1) NLIST
(1) LRADIX 10
(1) LLIST
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96 CNDUUA . M11 29-0(1-82 13:29 INITIALIZE THE COMMON TAGS SEQ 0109
(1 JIRP  SDE <\$E>
(N “1F DF TSTYSDE
(1) ; MOV #TST'SDE,NEXT ;GO TO THIS TEST WHEN THRU
(N "ENDM
(1) NLIST
(1 .RADIX 8
(1 LIST
(1) JIFF
(1) ; MOV #.EOP,NEXT ;GO TO THIS TEST WHEN THRU
(1) "ENDC
(1) .ENDC
(1) ;. 11F NB <, MOV #,L0CK :SET UP FOR SCOPE LOOP
(1) .NLIST
(1) LRADIX 10
(1) $N=$N+1
(1) $E=SE+1
(1) LRADIX 8
(1) .LIST
(1) .ENDR
8694 012200 105767 166747 1STB  JMRBY :IN MAINT EXTERNAL?
8695 012204 100073 BPL 3 :IF ANSWER NO JUMP AROUND TEST
8696 012206 SRESET
(1) 012206 052777 000400 167512 BIS #MRESET,3TXCSR :MASTER RESET
8697 012214 105767 166731 TSTB OPTCLR ;IS THE OPTIONAL CLR JUMPER IN ?
8698 012220 100405 BM] 5% “YES
8699 012222 012777 000000 167462 MOV #0,3RXCSR ;CLR THE UNRCSETTABLE BITS
8700 012230 005777 167456 ST aRXCSR  :GET RID OF DSC BY READING RXCSR
8701 012234 012777 012256 167474 5%: MOV #4%,30URTV :SET UP TRAPCATCHER
8702 012242 016777 004564 167470 MOV DUPRT,aDURIS
8703 012250 106427 000000 MIPS  #0 ;ALLOW INTERRUPTS
8704 012254 000422 BR 1% :JUMP AROUND INTERRUPT SVC ROUTINE
8705 :THE FOLLOWING 1S THE INTERRUPT SVC ROUTINE
8706 012256 106427 000300 4%: MIPS  #300  :DON'T ALLOW ANYMORE INTERRUPTS
8707 012262 005777 167424 18T aRXCSR :DSC=1?
8708 012266 100401 BM] Y
8709 012270 104004 ERROR & ;FALSE INTERRUPT
8710 012272 042777 000040 167412 BIC #OSINTE,3RXCSR ;CLEAR INTERRUPT ENABLE
8711 012300 012716 012370 MOV #2%, (SP) SSET UP RETURN LOCATION
8712 012304 016777 167430 167424 MOV DURIS,3DURIV  :RESTORE TRAPCATCHER
8713 012312 012777 000000 167420 MOV #0,3DURIS ;
g;}g 012320 000002 RT]
8716 012322 052777 000040 167362 1%: BIS #DSINTE,BRXCSR ;SET INTERRUPT ENABLE
8717 °1S§§° 052777 000002 167354 BIS #DTR,IRXCSR :TRY TO CAUSE INTERRUPT
8718 012336 005000 CLR RO
8719 012340 oosioo INC RO :WAIT FOR INTERRUPT
8720 012342 001376 BNE =2
8721 012344 016777 167370 167364 MOV DURIS,@DURIV  ;RESTORE TRAPCATCHER
g;gg 012352 012777 000000 167360 MOV #0,a0URIS :
8724 012360 042777 000040 167324 BIC #DSINTE,@RXCSR :;CLEAR INTERRUPT ENABLE
8725 012366 104004 ERROR & - INTERRUPT FAILED TO OCCUR
8726 012370 106427 000300 2%: MIPS  #300
g;gg 012374 38:
8729 012374 PRGEND <DUV11 CNDUU=A TAPE E>,<END OF PASS TAPE E>
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CNDUUA .M11

(1) 012374
(2)

(2)

(2)

(2)

(2)

(2)

(2)

(2)

(2)

(2)

(2) 012374
(2) 012376
(2) 012402
(2) 012404
(2) 012406
(2) 012412
(2) 012416
(2) 012422
(2) 012424
(2) 012430
(2) 012432
(2) 012436
(2) 012442
(2)

(2) 012444
(2) 012450
(2) 012456
(2) 012464
(2) 012466
(2) 012472
(2)

(2) 012474
(2) 012502
(2) 012504
(2) 012510
(2) 012514
(2)

(2) 012522
(2) 012530
(2) 012536
(2) 012542
(2) 012544
(2) 012552
(2) 012556
(2) 012564
(2) 012572
(2) 012600
(2) 012606
(2) 012614
(2) 012622
(2) 012630
(¢} 012636
(2)

(2) 012640
(2) 012642
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167102 166324
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10:02 PAGE 62-96

INITIALIZE THE COMMON TAGS
$EOP .BEGIN
LRADIX 10

LRADIX 8
:END OF PASS
sTYPE NAME OF TEST
:UPDATE PASS COUNT
sCHECK FOR EXIT TO ACT=11
;RESTART TEST

.EOP:  SCOPE
JSR PC,CKSWR

TYPE ;TYPE NAME OF TEST

MEPASS

CONVRT  ,OUTCRY

TYPE ,DEVICE

1STB  MULTD  :ARE YOU nunnxuc MULTIPLE DEVICES ?

BEQ cce *NO, JUMP ARQUND

ST ACTREG :ARE ANY DEVICES ACTIVE ?

BNE RUNIT  :VES

TYPE LMCOW  :NO

MOV ACTREG,RD :DISPLAY ACTREG

HALT ;SELECT SOMETHING TO RUN @ ACTREG:

;SELELT SWITCHES & HIT CONTINUE (PUT SW00 =1)

IMp .START -START OVER AGAIN......YOU DESELECTED EVERYTHING
RUNIT: ADD #10,BASEADD ;NEXT BLOCK (ADDRESSES)
ZERO: fE? #10.BASEIV SNEXT BLOCK (VECTORS)

ROL ROTADD :UP DATE ROTATING POINTER

BCS 2% PIS IT THE LAST osvxcs

:T0 BE TESTED IN THIS P
BIT ROTADD ,ACTREG  ;TEST THlS osvxce roa ACTIVE STATUS
BEQ RUNIT * ;IF NOT ACTIVE, TRY NEXT ADDRESS

JSR PC,REPLAY :CALCULAYE NEW PARAMETERS

JMP RESTRT ;YES IT WAS ACTIVE,TEST THIS DEVICE

2%: MOV #1,ROTADD :0K!,NOW SET UP ROTATING
:POINTER FOR NEXT MULTIPLE PASS
MOV KEEPADD ,BASEADD ;RESTORE BASE ADDRESS

MOV KEEPIV,BASEIV  :RESTORE BASE INTERRUPT VECTORS

JSR PC,REPLAY :CALC NEW PARAMETERS
BR cCC : JUMP AROUND REPLAY

REPLAY: MOV BASEADD DUBASE ;SET UP FOR NEW ADDRESSES
JSR DUADDR sCREATE NEW ADDRESSES

MOV anéexv DURIV  :CREATE DURIV
ADD #2.BASEIV
MOV BASEIV DURIS  :CREATE DURIS
ADD 2.BASEIV
MOV BASEIV.DUTIV :CREATE DUTIV
ADD #2.BASEIV
MOV BASEIV,DUTIS  :CREATE DUTIS
MOV DURIV,BASEIV  :RESTORE
RTS PC

OQUTCRY: 1

.BYTE 6,2

SEQ 0110
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)98 CNDUUA.M11 29-0CT=82 1 INITIALIZE THE COMMON TAGS SEQ 0111
012644 (001712 RXCSR
81%922 005067 166530 e R s1sTMM CLEAR TEST NUMBER

[ s¢L U

012652 005067 166540 CLR $ERRPC :CLEAR LAST ERROR P(
012656 005067 166551 CLR $ERFLG :CLEAR ERROR FLAG
012662 005267 166224 INC PASCNT ‘UPDATE PASS COUNT
012666 016767 166220 165206 MOV PASCNT,LIGHTS :DISPLAY PASS COUNT
0126764 016767 166212 166632 MOV PASCNT . SPASS *PASS COUNT TO APT
012702 013701 000062 MOV aneg ,Ri SCHECK FOR ACT=11 OR DDP
012706 001406 BEQ RESTRT :1F NO CONTINUE TESTING
01%710 000005 RESFT
012712 000905 RESET
012714 004711 $ENDAD: JSR PC,(R1)
012716 000240 NOP
012720 000240 NOP
012722 000240 NOP
012724 RESTRT:
012726 012767 003376 166454 MOV #TST1¢2,8LPADR ;LOAD LAST ADDR
012732 004767 000004 JSR PC,CKSWR
012736 000167 170346 JMP .BEGIN
012742 $CK

sCHECK SWITCH REGISTER ROUTINE.
sCHECKS TO ALLOW FOR <*G> TO ALLOW
;THE CHANGING OF LOCATION 176

I~~~ —~ —~ T~~~ T~~~ T PN NN PN NN NN NN NN NN NN NN NN NN PN NN PN

N L L L L LS LS LSLSLNTNT ST NI NT NN NT ST NI NSNS NSNS NN NSNS Pl ST N SN LN LS TN LN LN ST NT NSNS NN L
~ S S N e S N e N N N N N N N N e e N e N N e e e N N N e e o e o o S et i

012742 005737 000042 (KSWR: TST ane?

012746 007040 BNE ouT

012750 022767 000176 166462 CMP #SWREG, SWR ;SOF TWARE SWR PRESENT?
012756 001034 BNE ouT *NO=-=LEAVE
012760 105777 166460 1STB  @$TKS TCHECK TTY READY
012764 100031 8PL ouT 'NO--LEAVE
012766 017767 166454 000422 MOV as$TKB, . MSG ‘GET CHARACTER
012774 062767 177600 000414 BIC #177600,.M56  :STRIP JUNK
013002 122767 000007 000406 (MPB  #7,.MSG 21S 1T <*6> ?
013010 001017 BNE ouf *NO

013012 104401 016137 TYPE  ,MCNTG

013016 005137 013056 (NTLU: COM A#RDSW

013022 104401 016147 TYPE ,MMSWR

013026 104413 CONVRT

013030 013060 SWRE GL

013032 104406 016160 INSTR , MMNEW

013036 104410 PARAM

013040 000000 0

013062 177777 177777

013044 000176 SWRE G

013046 000 001 .BYTE 0,1

013050 005037 013056 ouUT:  CLR ANRDSW

013054 000207 RTS PC

013056 000000 RDSW: .WORD O

013060 000001 SWREGL: 1

013062 006 002 BYTE 6,2

013064 000176 SWREG

013066 000005 5
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)99 CNDUUA. M 29-0CT1-82 13:27 INITIALIZE THE COMMON TAGS SEQ 0112

:3; 013070 $SCOPT

t%; sCHECK FOR FREEZE ON CURRENT DATA

(2) 013070 004767 177646 LSCOP1: JSR PC,CKSWR

(2) 01307& 032777 001000 166336 BIT #SW09,aSuWR

(2) 013102 001402 BEQ 1%

(2) 013104 016716 166000 MOV LOCK, (SP)

(2) 013110 000002 1%: RT]

(1) 013112 .STYPE

52; SBTTL TYPE ROUTINE

(%) 013112 STARS

(3) 001 AF B

(3) ::'Q"'Q'Q'QQ.Q'i""""'t"'!"!.'Q"tl.lt"t"'!l"l'.!'!'.'t.

(3) <JFF

(3 NLIST

(3) .REPT

(3 LIST

(5) ::'I.Q!'l'.t..t".'t'?t.t.l't"!tt"ttt..ttl"l'.'.lt.i'i't.i'tt.

(3 NLIST

(3) .ENDR

(3) LLIST

(3) 000 LENDC

(2) :*ROUTINE TO VTYPE ASCIZ MESSAGE. MESSAGE MUST TERMINAI WITH A Q BYTE.

(2) :*THE ROUTINE WILL INSERT A NUMBER OF NULL CHARACTERS Af .LR A LINE FEED.

(2) :*NOTE1: $NULL CONTAINS THE CHARACTER TO BE USED AS THE FILLER CHARACTER.

(2) ;*NOTEZ2: $FILLS CONTAINS THE NUMBER OF FILLER CHARACTERS REQUIRED.

:%; :*NOTES3: $FILLC CONTAINS THE CHARACTER TO FILL AFTER.
.'t

(2) s*CALL:

(2) :*1) USING A TRAP INSTRUCTION

t%; ;.OR TYPE +MESADR ::MESADR IS FIRST ADDRESS OF AN ASCIZ STRING
"

(2) i TYPE

(2) . MESADR

(5 -

(2) 013112 105767 166341 $TYPE: TSTB $TPFLG :21S THERE A TERMINAL?

(2) 013116 100002 BPL 1% ;sBR IF YES

(2) 013120 000000 HALT ::HALT HERE IF NO TERMINAL

(2) 013122 000430 BR b3 s sLEAVE

(2) 013124 010046 1%: MOV RO,=(SP) ::SAVE RO

(2) 013126 017600 000002 MOV a2(SP) RO ::GET ADDRESS OF ASCIZ STRING

(2) 001 JUF DF SMAIL

(2) 013132 122767 000001 166406 CMPB #APTENV,SENV ::RUNNING IN APT MODE

(2) 013140 001011 BNE 62% ::NO,GO CHECK FOR APT CONSOLE

(2) 013142 132767 000100 166377 BITB #APTSPOOL ,$ENVM ; ;SPOOL MESSAGE TO APT

(2) 013150 001405 BEQ 62% ::NO,GO CHECK FOR CONSOLE

(2) 013152 010067 000004 MOV RO,61% ::SEfUP MESSAGE ADDRESS FOR APT

(2) 013156 004767 164624 JSR PC,8ATYY :sSPOOL MESSAGE TO APT

(2) 013162 000000 61%: LWORD O : sMESSAGE ADDRESS

(2) 013164 132767 000040 166355 62%: BITB #APTCSUP,SENVM ::APT CONSOLE SUPPRESSED

:%; 013172 001883 - BNE 60% ::YES,SKIP TYPE OQUT

(2) 013174 112046 2%: MOVB (RO)+,=(SP) ::PUSH CHARACTER TO BE TYPED ONTO STA(K
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100 CNDUUA .M 29-0CT-82 13:27 TYPE ROUTINE SEQ 0113
(2) 013176 001005 BNE ‘% ::BR IF IT ISN'T THE TERMINATOR
(2) 013200 005726 18T (SP)+ S:IF TERMINATOR POP IT OFF THE STACK
(2) 013202 0159 0 60$: MOV (SP)+,R0 :SRESTORE RO
(2) 013206 062716 000002 3s: ADD #2,(5P) $ADJUST RETURN PC
(2) 013210 000002 RTI : :RETURN
(2) 013212 122716 000011 4%: CMPB  #HT,(SP) PiBRANCH IF <HT>
(2) 013216 001430 BEQ 8$
(2) 01 gso 122716 000200 CMPB  #CRLF,(SP) : :BRANCH IF NOT <CRLF>
(2) 013224 001006 BNE 5%
(2) 0 zge 005726 ST (SP)+ ::POP  <CR><LF> EQUIV
(2) 013230 104401 TYPE S:TYPE A CR AND LF
(5) o1gz§z 001523 $CRLF
(2) 01323¢ 105967 000130 CLRE  $CHARCNT ::CLEAR CHARACTER COUNT
(2) 013240 000755 BR 2% S3GET NEXT CHARACTER
(2) 013242 004767 000056 5%: JSR PC,STYPEC $:G0 TYPE THIS CHARACTER
(2) 013246 126726 166204 6%: CMPB  SFILLC,(SP)+ ::1S IT TIME FOR FILLER CHARS.?
(2) 013252 001350 BNE 2% ::1F NO GO GET NEXT CHAR.
(2) 013254 016746 166174 MOV $NULL ,=(5P) S3GET # OF FILLER CHARS. NEEDED
(2) ::AND THE NULL CHAR.
(2) 013260 105366 000001 7%: DECB  1(SP) ::DOES A NULL NEED TO BE TYPED?
(2) 013264 002770 BLT 6% :BR IF NO--GO POP THE NULL OFF OF STACK
(2) 013266 004767 000032 JSR PC,S$TYPEC 1360 TYPE A NULL
(2) 013272 105367 000072 DECB  $CHARCNT ::D0 NOT COUNT AS A COUNT
:%; 013276 000770 BR 7% ::LOOP
§§§ :HORIZONTAL TAB PROCESSOR
(2) 013300 112716 000040 8$: MOVB  #' ,(SP) : :REPLACE TAB WITH SPACE
(2) 013304 004767 000014 9%: JSR PC,STYPEC SSTYPE A SPACE
(2) 013310 132767 000007 000052 BITB  #7.$CHARCNT :BRANCH IF NOT AT
(2) 013316 001372 BNE 9% ::TAB STOP
(2) 013320 005726 ST (SP)+ S:POP SPACE OFF STACK
(2) 013322 000724 BR 2% S3GET NEXT CHARACTER
(2) 013324 105777 166120 $TYPEC: TSTB  @$TPS SSWAIT UNTIL PRINTER IS READY
(2) 013330 100375 BPL $TYPEC
i%i 013332 116677 000002 166112 MOVB  2(SP),asTPB ::LOAD CHAR TO BE TYPED INTO DATA REG.
(2) 013340 122766 000015 000002 CMPB  #CR,2(SP) ::15 CHARACTER A CARRIAGE RETURN?
(2) 013346 001003 BNE 1% ::BRANCH [F NO
(2) 013350 105067 000014 CLRB  S$CHARCNT P YES==CLEAR CHARACTER COUNT
(2) 013354 000406 BR $TYPEX DIEXIT
(2) 013356 122766 000012 000002 1%: CMPB  #LF,2(SP) 131S CHARACTER A LINE FEED?
(2) 013364 001402 BEQ $TYPEX ::BRANCH IF YES
(2) 013366 105227 INCB (PC)+ S:COUNT THE CHARACTER
(2) 013370 000000 $CHARCNT:.WORD O ::CHARACTER COUNT STORAGE
55; 013372 000207 $TYPEX: RTS PC
(2) J11F NDF HT,HT= N ::CODE FOR HORIZONTAL TAB
(2) J11F NDF LF,LF= 1% S:CODE FOR LINE FEED
(2) “1IF NDF CR,CR= 1 *:CODE FOR CARRIAGE RETURN
(2) -11F NDF CRLF,CRLF= 200 ::CODE FOR CARRIAGE RETURN=LINE FEED
(2) “11F NDF STPS,STPS:
(2) "1IF EQ .=$TPS,$i05: WMORD 177564 ::TTY PRINTER STATUS REG. ADDRESS
(2) "11F NDF $TPB_$1PB:
(2) JIIF EQ .-$TPB,$TPB: LMORD 177566 ::TTY PRINTER BUFFER REG. ADDRESS
(2) “1IF NDF SNULL,SNULL:
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(2) JIIF EQ .=SNULL,SNULL: .BYTE 0 ::CONTAINS NULL CHARACTER FOR FILLS
(2) J1IF NDF SFILLS.SFILLS:
(2) JIIF EQ .=SFILLS,SFILLS: BYTE 2 ::CONTAINS # OF FILLER CHARACTER
(2) JIIF NDF SFILLC,$FILLC:
(2) J1IF EQ .=SFILLE,$FILLC: BYTE 12 ;:INSERT FILL CHARS. AFTER A ‘L1
g%; "11F NDF STPFLG,STPFLG:
(2)
(2) J1IF EQ .-$TPFLG,STPFLG: BYTE 0 ::"'TERMINAL AVAILABLE'' FLAG (BIT
(§> .11F NDF SQUES,SGUES: o
(2) J1IF EQ .-SQUES,SQUES: .ASCII **?° :;QUESTION MARK
(%) J11F NDF SCRLF,$CRLF:
(2) J1IF EQ .=SCRLF,SCRLF: .ASCII <15> :;CARRAIGE RETURN
(2) J11F NDF SLF,SLF:
(2) J1IF EQ .=SLF,SLF: ASCIZ 12> ::L INEFEED
(2) .11F NE 8., .EVEN
55} 013374 $INSTR
25; :ASCI] STRING INPUT ROUTINE
(2) 013374 017667 000000 000014 .INSTR: MOV a(SP), .MSG :PICK UP MESSAGE
(2) 013402 062716 000002 ADD 82, (SP) :JUMP AROUND MESSAGE FOR RTI
(2) 013406 105767 166134 TSTB  SENV :APT CONTROL
(2) 013412 001036 BNE INSTR2 SYES NO TYPE
(2) 013414 104401 JINST1: TYPE
(2) 013416 000000 MSG: 0
(2) 013420 012704 016172 MOV # INBUF ,R& :GET STARTING LOC OF INBUF
(2) 013424 012703 000007 MOV #7.R3 :MAX # OF CHARS
(2) 013430 105777 16601y 18: 1STB  a$TKS  ;TTY FLAG
(2) 013434 100375 BPL 1%
(2) 013436 117714 166004 MOVBE  @$TKB, (R4) ;TAKE CHAR
(2) 013442 142714 000200 BICB  #200, (R4) ‘STRIP
(2) 013446 121427 000025 CMPB  (R&).#25 (1S IT <*6>
(2) 013452 001760 BEQ LINST1
(2) 013454 122427 000015 CMPB  (R4)+,#15 :CHECK FOR (R
(2) 013460 001413 BEQ INSTRS
(2) 013462 105777 165762 28: TSTB  @$TPS  :TEST FLAG
(2) 013466 100375 BPL 2%
(2) 013470 117777 165752 165754 MOVB  a$TKB,asTPB ;ECHO CHARACTER
(2) 013476 005303 DEC R3 :DID YOU 'TYPE TOO MANY CHARS ?
(2) 013500 001353 BNE 1%
(2) 013502 104401 JINSTE: TYPE
(2) 013504 015457 MQM :?
(2) 013506 000742 BR “INST1 :RETRY
(2) 013510 000002 INSTR2: RTI
25; 013512 $PARAM
i%; sCONVERT ASCII STRING TO OCTAL
(2) 013512 011605 .PARAM: MOV (SP) ,RS :PUT CONTENTS OF SP INTO RS
(2) 013514 012567 000162 MOV (R5)+,LOLIM ;PUT LOW LIMIT INTO LOLIM
(2) 013520 012567 000160 MOV (R5)+.HILIM SPUT HIGH LIMIT INTO HILIM
(2) 013524 012567 000156 MOV (R5)+.DEVADR  :PUT STORE LOC INTC DEVADR
(2) 013530 112567 000154 MOVB  (R5)+.LOBITS  :PUT MASK INTO LOBITS
(2) 013534 112567 000151 MOVB  (R5)+.ADRCNT  :PUT COUNT INTO ADRCNT
(2) 013540 010516 MOV RS, (SP) :RESTORE RETURN ADDR ON STACK FOR RTI
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102 CNDUUA . M11 ~0CT TYPE ROUTINE SEQ 0115
(2) 013542 005005 PARAM1: CLR RS
(2) 013544 015704 01617 MOV # INBUF ,R4
(2) 013550 122714 00001 (MPB  #15, (R4) :(R ?
(2) 013554 oo14go BEQ PARERR ;YOU TYPED CR TOO SOON !
(2) 013556 121427 000060 1$: (MPB  (R4),#60 ;LOW LIMIT ASCII O
(2) 013562 002415 BLT PARERR
(2) 013564 121427 000067 CMPB (R4) 467 sHIGH LIMIT ASCII 7
(2) 013570 003012 BGT PARERR
(2) 013572 145714 000060 BICB  #60,(R4) :CONVERT TO OCTAL
(2) 013576 152405 BISB  (R4J+,RS :STORE AWAY ITS AN OK CHAR
(2) 013600 122714 000015 CMPB  #15, (R4) ‘CR ?
(2) 01%604 001414 BEQ Lgnirs :NOW CHECK FOR HIGH BLOW LIMIT CONDS
(2) 013606 006305 ASL sALLOCATE ROOM FOR NEXT CHAR
(2) 013610 006305 ASL RS
(2) 013612 006305 ASL RS
(2) 013614 000760 BR 1%
(2) 013616 122714 000015 PARERR: CMPB #15, (R4) ;:CR?
(2) 013622 001003 BNE 120§
(2) 013624 005737 013056 ST FRDSW :CK SWR USED
(2) 013630 001023 BNE PARTI
(2) 013632 104407 1208: INSTER :RETRY
gg; 013634 000742 BR PARAM1
ﬁ%; ;TEST TO SEE IF NUMBER IS WITHIN LIMITS
(2) 013636 020567 000042 LIMITS: CMP RS, HILIM
(2) 013642 101365 BHI PARERR :THE # IS TOO HIGH
(2) 013644 020567 000032 CMP RS,LOLIM
(2) 013650 103762 BLO PARERR :THE # IS TOO LOW
(2) 013652 136705 000032 BITB  LOBITS,RS STEST BY MASKINGTHE #
f%} 013656 001357 BNE PARERR
53; ;STORE NUMBER AT SPECIFIED ADDRESS
(2) 013660 016704 000022 MOV DEVADR, R4 ;GET STARTING ADDR OF
(2) 013664 010524 1$: MOV RS, (R4 )+ :STORE AT THIS ADDR
(2) 013666 062705 000002 ADD #2.R
(2) 013672 105367 000013 DECB  ADRCNT ;HOW MANY TIMES ¢ 2 ?
(2) 013676 001372 BNE 1%
(2) 013700 000002 PARTI: RTI
(2) 013702 000000 LOLIM: 0
(2) 013704 000000 HILIM: 0
(2) 013706 000000 DEVADR: 0
(2) 013710 000000 LOBITS: 0
(2) 013711 ADRCNT=LOB]TS+1
:5; 013712 $REG
i%; JSAVE PC OF TEST THAT FAILED AND RO=RS
55; 013712 016667 0000064 165206 .SAVOS: MOV 4(SP),SAVPC
gg; :SAVE RO-RS
(2) 013720 010567 165550 SV0S: MOV RS, $REGS
(2) 013724 010467 165542 MOV R& . $RE Gé
(2) 013730 010367 165534 MOV R3.$REH3
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103 CNDUUA . M11 23 13: 2 TYPE ROUTINE SEQ 0116
(2) 01373 01 267 165526 MOV R2,$REG2
(2) 81 740 018167 165?50 MOV RT,$REG]
(2) 013744 010067 165512 MOV RO, $REGO
5 ; 013750 000002 RTI
2 ; ;RESTORE RO=RS
(2) 013752 016700 165504 .RESOS5: MOV $REGO, RO
(2) 012756 016701 165502 MOV $REGT,R1
(2) 013762 016702 165500 MOV snsci.ai
(2) 013766 016703 165476 MOV $REG3,R
(2) 013772 016704 165474 MOV $RE G4 , R4
(2) 013776 016705 165472 MOV $REGS,RS
(2) 014002 000002 RTI
gzg 014004 $CONVRT
((%)) CONVERT OCTAL NUMBER TO ASCII AND QUTPUT TO TELEPRINTER
(2) 014004 104401 .CONVR: TYPE
(2) 014006 015463 MCRLF  :CR LF
(2) 014010 017601 000000 MOV a(sP), R :PICK up DATA POINTER
(2) 014014 062716 000002 ADD #2,(SP) :SET UP SP FOR RTI
(2) 014020 012167 000130 MOV (R1)+,WRDCNT ~ ;PICK UP # OF WORDS FROM TABLE
(2) 014024 112167 000126 1%: MOVB  (R1)+.CHRCNT  :PICK UP # OF CHARS FROM TABLE
(2) 014030 112167 000123 MOvB (R1)+,SPACNT sPICK UP # OF SPACES FROM TABLE
gg; 014034 013167 000120 MOV a(R1)+,BINWRD ‘F%Sﬁ ?:anDRESS OF MSG
(2) 014040 016704 000114 28: MOV BINWRD, R4 *SAVE
(2) 014044 116705 000106 MOVB  CHRCNT,RS : SAVE
(2) 014050 012700 016234 MOV #TEMP,RO :STARTING ADDRESS OF TEMP BLOCK
(2) 014054 010403 38: MOV R4 ,R3 : SAVE
(2) 014056 042703 177770 BIC #177770.R3 :CLR our UPPER BITS .. SAVE CHAR
(2) 014062 062703 000260 ADD #260,R3 ; CONVERT TO ASCII
(2) 014066 110320 MOVB  R3,(RO)+ srons AUAY
(2) 014070 006204 ASR R4 ;SHIFT FOR NEXT #
(2) 014072 006204 ASR R&4 :DITTO
(2) 014074 006204 ASR R& :DITTO
(2) 014076 005305 DEC RS :DEC CHAR COUNT
(2) 014100 001365 BNE 3% D0 IT AGAIN
(2) 014102 012703 016276 MOV #MDATA,RS .srnnrxne ADDRESS OF MDATA BLOCK
(2) 014106 114023 4$: MOVB  =(RO),(R3)+ *REVERSE THE ORDER OF NUMBERS
(2) 014110 105367 000042 DECB cuncui :DEC CHAR COUNT
(2) 014114 001374 BNE 4% :D0 IT AGAIN ?
(2) 014116 105767 000035 TSTB  SPACNT uou HANY SPACES ?
(2) 014122 001405 BEQ 6% PE # If BR =0
(2) 014126 112723 000240 5% : MOVB  #240, (a3$+ -"'SPACE'* IN ASCII
(2) 014130 105367 000023 DECB  SPACNT :DEC # Of SPACE COUNT
(2) 01413& 001373 BNE 5 :D0 IT AGAIN ?
(2) 014136 105013 6%: CLRB <n3) s INSERT *'0'" FOR TTY OUTPUT ROUTINE
(5) 014140 104401 TYPE
(2) 014142 016§76 MDATA  ;THIS MESSAGE
(2) 014144 005367 000004 DEC WRDCNT :HOW MANY #°'S ?
(2) 014150 001325 BNE 1% :D0 THIS ROUTINE AGAIN IF NOT EQUAL TO 0
(2) 014152 000002 RTI :RETURN TO PROGRAM
(2) 01415¢ 000000 WRDCNT: 0
(2) 014156 000000 CHRCNT: 0
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0104 CNDUUA .MM 29-0CT-82 13:2 TYPE ROUTINE SEQ 0117
(2) 014157 SPACNT=CHRCNT+1
(2) 014160 000000 BINWRD: 0
21; 014162 $SETFLG
& ;COMPARE_THE FIRST CHARACTER IN THE TELETYPE INPUT
(%) UFFER TO THE CHARACTERS ''N'' AND *'Y*’,
(2) .lF THE CHARACTER IS "N'' CLEAR THE FLAG
%2; :IF THE CHARACTER IS ''v" SET THE FLAG
(3) 014162 017605 000000 SETFLG:MOV  @(SP),RS
(2) 014166 122767 000116 001776 CMPB #'N, INBUF JIS IT W' 2
(%) 014174 00100; BNE 1%
(2) 014176 105N CLRB (RS) ;000
() 014200 000408 BR 28 ol
(2) 014202 122767 000131 001762 1%: CMPB #°'Y, INBUF 318 IV "V 1
(2) 016%10 001005 BNE 3%
(2) 014212 112715 177777 MOvVB #-1,(RS) ;377
(2) 014216 062716 000002 2%: ADD #2,(SP)
(2) 014222 000002 RTI
(2) 0146226 104407 3%: INSTER ;RETRY
(2) 014226 000755 BR +SETFLG
(1) 014230 .SERROR SAVIT
2%; .SBTTL ERROR HANDLER ROUTINE
(2) 014230 STARS
(3) 001 .IF B
(3% R R L A e R A R AL LA A A it
(3) .IFF
(3) «NLIST
(3) .REPT
(3) LlST
(%) R R R R R ey
(3) NLIST
(3 -ENDR
(3) .LIST
(3) 000 ENDC
(2) :*THIS ROUTINE WILL INCREMENT THE ERROR FLAG AND THE ERROR COUNT,
gg; 001 ;?Agi THE ERROR ITEM NUMBER AND THE ADDRESS OF THE ERROR CALL
:S; ; .{é: NE ZOOOOlSSUR..'AND TYPE OUT THE PC OF THE ERROR INSTRUCTION
(2) s*AND GO TO SAVIT ON ERROR
(2) 000 .ENDC
(2) °'THE SWITCH OPTIONS PROVIDED BY THIS ROUTINE ARE:
' ; *SW15= 1 HALT ON ERROR
.. s*SW13=1 INHIBIT ERROR TYPEOUTS
(2) 'SU10 1 BELL ON ERROR
(2) *SUO9 1 LOOP ON ERROR
(2) '(ALL
(5) :' ERROR N ; ;ERROR=EMT AND N=ERROR [TEM NUMBER
(2)
(2) 014230 $ERROR:
(2) AIF NE 8SETUPI100 CKSWR ssTEST FOR CHANGE [N SOF T=SuR
(2) 001 .JF NB <
(2) .lRP NEH]NS <
(2) NEWINS
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2) .ENDM
(2) 09 gnoc
(2) 014230 105 9 165147 7s: INCB  SERFLG ::SET THE ERROR FLAG
(2) 014234 001775 BEQ 78 SDON'T LET THE FLAG GO TO 2ERO
(2) 014236 016777 165140 165176 MOV STSTNM,aDISPLAY ::DISPLAY TEST NUMBER AND ERROR FLAG
(2) 001 JIF EQ  20008$SWR :SW1
g ; =9 INC SERTTL ::INC THE ERROR COUNT
<kt
(2) 014244 032777 002000 165166 BIT #B1T10,3SWR ::BELL ON ERROR?
(2) 014252 001402 8EQ 1% ::NO = SKIP
(2) 014254 104401 001516 TYPE $BELL ::RING BELL
g ; 014260 oosggg 165126 1§§oc INC $ERTTL :3COUNT THE NUMBER OF ERRORS
(2) 014264 011667 165126 MOV (SP), SERRPC ::GET ADDRESS OF ERROR INSTRUCTION
(5) 014270 162767 000002 165120 SUB #2,$ERRPC
(2) 014276 117767 165114 165110 MOVB  QSERRPC,.SITEMB ::STRIP AND SAVE THE ERROR ITEM CODE
(2) 001 JIF NE  200008$SWR W13
(2) 014304 032777 020000 165126 BIT #BIT13,a5uR ::SKIP TYPEOUT IF SET
ggg 014312 001004 o BNE 208 13SKIP TYPEOUTS
(2) 002 CIF DF $4OCAT
(2) CMP (SP) , #1002 ::IF RETURN PC LESS THAN 1002
(2) BHI 12% *“ERROR IS ILLEGAL TRAP
(2) ::PROCESS UNEXPECTED TRAP OR INTERRUPT
(2) MOV 4(SP), SERRPC ::GET PC AT TIME OF FALSE TRAP
(2) SUB #2,SERRPC :SADJUST PC
(2) TYPE 108 :STYPE HEADER
(2) TYPOCT $ERRPC SSTYPE PC AT TIME OF ERROR
(2) TYPE 118
(2) SUB #4,(SP) ::GET FALSE TRAP VECTOR ADDR
(2) MOV (SP) , SERRPC
(2) T/20CT SERRPC
(2) T(PE ,$CRLF
(2) CMP (SPY+, (SP)+ ;:POP FALSE TRAP VECTOR PCRADDR
(2) B8R 208
(2) 10$: LASCIZ <200>°PC= °
(2) 118%: "ASCIZ * UNEXPECTED TRAP TO *
(2) -EVEN
(2) 12%:
(2) 001 JENDC
(2) 002 ) JIF NB  SAVIT
(2) 014314 004767 000072 JSR PC,SAVIT ::G0 TO USER ERROR ROUTINE
(2) 001 JENDC
(2) VIFT
(2) 002 J1F B SAVIT
(2) TYPE $CRLF
(2) TYPOCT $ERRPC,<ERROR ADDRESS>
(2) 001 .ENDC
(2) 014320 104401 001523 TYPE ,SCRLF
(2) 000 LENDC
(2) 014324 208 :
(2) 001 JIF DF SMAIL
(2) 014324 122767 000001 165214 CMPB  WAPTENV,SENV  ;:;RUNNING IN APT MODE
(2) 014332 001007 BNE 2% ssNC,SKIP APT ERROR REPORT
(2) 014334 116767 165056 000004 MOVB  SITEMB,21% S:SET ITEM NUMBER AS ERROR NUMBER
(2) 014362 006767 163450 JSR PC,SATYS REPORT FATAL ERROR TO APT
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218: BYTE 8
.BYT
22%: BR 22%
JENDC
IF NE $SWRE100000 ;SW15
28: ST ASWR
BPL 3%
HALT
LJIF NE $SETUPR100, CKSWR
IF NE $SWRE1000 - SW09
33. BIT csxtoo aSwR
BEQ 43
MOV stsnn (SP)
48: 18T APE
BEQ ss
. MOV $ESCAPE, (SP)
IFF
3%:
JENDC
JIFF
“1F NE $SWRE1000 :SW09
2%: BIT #81109,aSWR
BEQ 38
MOV $LPERR, (SP)
3$: ST $ESCAPE
BEQ L8
MOV $ESCAPE, (SP)
4%:
IFF
28:
JENDC
JENDC
.IF NE $SETUPR20
CMP #SENDAD, anaz
BNE 6%
HALT
$:
JENDC
AF B ©
RT]
IIFF
"IRP LASTIN,<>
LASTIN
.ENDM
"ENDC
"IIF NDF SERTTL,SERTTL:
"1IF EQ .=SERTTL ,$ERTTL:
"11F NDF STSTNM,$TSTNM:
"1IF EQ .=STSTNM, STSTNM:
11F NDF SERFLG,SERFLG:
"11F EQ .-SERFLG,SERFLG:
J1IF NE .81,.EVEN
"IF NE $SWRE1000:SW09
"11F NDF SESCAPE ,$ESCAPE:
"11F EQ .-SESCAPE,SESCAPE:

BIT04-~

.WORD

::APT ERROR LOOP
;sHALT ON ERROR
:3SKIP IF CONT l
ssHALT ON ERROR

,,TEST FOR CHANGE IN SOFT-SWR

..LgO? ON ERROR SWITCH SET?

: :FUDGE RETURN FOR LOOPING
..CHECK FOR AN ESCAPE ADDRESS

:BR _IF

NONE
::FUDGE RETURN ADDRESS FOR ESCAPE

..LOOP ON ERROR?
:BR _IF NO

::FUDGE RETURN FOR LOOPING
..CHECK FOR AN ESCAPE ADDRESS

:BR IF NONE

: :FUDGE RETURN ADDRESS FOR ESCAPE

(.$SEOP)

..ACI-1I AUTO-ACCEPT?
;:BRANCH IF NO

‘]:;YES
::RETURN
.WORD
.BYTE 0
.BYTE

0

: :ERROR COUNT
::TEST NUMBER
:;ERROR FLAG

; sESCAPE ON ERROR ADDRESY

SEQ 0119
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JENDC

"11F NDF SERRPC,SERRPC:

JIF EQ .- anps.seaapc- MORD O

“1F NE $SWRE2000:SW10

J11F NDF SBELL,SBELL:

'%§5c5° ~SBELL,SBELL: .ASCIZ <207><377><377> ;;ASCII CODE FOR BELL
"11F NDF SITEMB,SITEMB:

“11F EQ .~SITEMB,SITEMB: MORD O ::1TEM BYTE
.11F NDF SQUES,SQUES:

"11F EQ .~SQUES,SQUES: .ASCI1 **2* ::QUESTION MARK
"11F NDF SCRLF,$CRLF:

“11F EQ .=-SCRLF,SCRLF: .ASCII <15> ::CARRAIGE RETURN
"11F NDF SLF,SLF:

LJIF EQ ,=SLF,SLF: ASCIZ Aa»> L INEFEED

.11F NE i8., .EVEN

$NEED , E

SAVIT: MOV RO,HLDO ' o

MOv R1,HLD1
MoV R2,HLD?
MOV R3,HLD3
MOV R& ,HLD4
MOV RS,HLDS

.SERRTYP
.SBTTL ERROR MESSAGE TYPEOUT ROUTINE

JIF B

B R LR R L L R T T P P
.IFF

«NLIST

.REPT

.LIST

:;t.t"tt'....'."""""V"""iQ!lti't"tt.tt"t.ttt...t".'.t

.ENDC

;*THIS ROUTINE USES THE '‘ITEM CONTROL BYTE'' ($1T
s*ERROR 1S TO BE REPORTED, IT THEN OBTAINS, FROM
s*AND REPORTS THE APPROPRIATE INFORMATION CONCER

$ERRTYP:
TYP

3

MB)
THE *
NING

O DETERMINE WHICH
TH

ERROR.

+SCRLF ::"'CARRIAGE RETURN'' & "‘LINE FEED"'
MOV RO,=(SP) : :SAVE RO
CLR RO :sPICKUP THE ITEM INDEX
B1SB a#S1TEMB,RO

BNE 1% ::1F ITEM NUMBER IS ZERO, JUST
**TYPE THE PC OF THE ERROR

TYPOCT SERRPC,<ERROR ADDRESS>

MOV $ERRPC.=(SP) ::SAVE SERRPC FOR TYPEOUT
*ERROR ADDRESS

heal 1YPOC 1360 TYPE=--OCTAL ASCII(ALL DIGITS)

QROR TABLE'® (SERRTB),

SEQ 0120

;sLAST ERROR INSTRUCTION EXECUTE
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{ ; 014474 000426 - BR £% ::GET outT
(3) BR 10% 2:GET ouTt
(3) 00 LENDC
(3) 014476 005300 i$: DEC RO ;;ADJUST THE INDEX SO THAT IT WiLL
(3) 014500 006300 ASL RO ¥ WORK FOR THE ERROR TABLE
(3) 014502 006300 ASL RO
(3) 014504 006300 ASL RO
(3) 014506 06 709 001652 ADD #SERRTB,RO ;;FORM TABLE POINTER
(3) 014512 012067 000004 MOV (RO)+,26 $:PICKUP "'ERROR MESSAGE'* POINTER
(3) 014516 001404 BEQ 3% :3SKIP TYPEQUT IF NO_POINTER
(3) 014250 104401 TYPE STYPE THE "'ERROR MESSAGE''
(3) 014522 000200 2%: MWORD O ..'tnnon HESSAGE" POINTER GOES WERE
(3) o145§4 106401 001523 TYPE LSCRLF :i"'CARRIAGE RETURN'"' § 1 INE FEED"
(3) 014530 012067 000004 38 MOV (RO)+,48 chxup "DATA HEADER'' POINTER
(3) 01453¢ 001404 BEQ 13 :SKIP TYPEQUT IF 0
(3) 014536 104401 TYPE STYPE THE ''DATA HEADER
(3) 014540 000000 4%: MORD 0 "DATA HEADER'' POINTER GOES HEPE
gg; 014542 10438} 001523 e TYPE LSCRLF .."CARRIAGE RETURN'' & "‘LINE FEED’
(3) 014546 011000 §$: MOV (RO) ,RO ::PICKUP *'DATA TABLE'' POINTER
(3) 014550 001004 BNE 7% 2360 TYPE IHE DATA
:g; 014552 012600 6%: MOV (SP)+,R0 ..nssrone RO
(3) 0145564 104401 001523 TYPE L$CRLF ::"'CARRIAGE RETURN'' & "'LINE FEED'
(3) 014560 000207 RTS PC : SRETURN
(3) 014562 7%:
i:; 014562 013046 1IF N8 ng a(RO)+,=-(SP) ;s SAVE i(RO)# FOR TYPEOUT
(4) 014564 104402 TYPOC ::60 TYPES-OCTAL ASCIICALL DIGITS)
(3) 014566 005710 ST (RO) :31S THERE ANOTHER NUMBER?
(3) 014570 001770 BEQ 33 :BR IF NO
(3) 014572 104401 014600 TYPE 8% ..IVPE TWO(2) SPACES
(3) 014576 000771 BR 7$ LOOP
(3) 014600 020040 000 8$: ASCIZ 7/ ..IUO(Z) SPACES
(3) 014604 .EVEN
(3 FF
(3) 5$: MOV R1,=(SP) ::SAVE R
(%) MOV (RO)+ R ..PICKUP "DATA TABLE'' POINTER
(3) BEQ 9% ::BR IF NO DATA TO BE TYPED
(3) MOV (RO)+,R0 :iPICKUP "DATA FORMAT:* POINTER
(3) 6% : 1STB (RO)+ S30CTAL'' OR "‘DECIMAL"
(3) BNE 7% ::BR IF DECIMAL
f%i é;pocr g;ﬂ”* ::TYPE AN OCTAL NUMBER
(3) 7%: TYPDEC a(R1)+ ::TYPE DECIMAL NUMBER
(3) 8%: ST (R1) $31S THERE ANOTHER NUMBER?
(3 BEQ 9% S:BR IF NO
(%) TYPE 118 SSTYPE TWO(2) SPACES
gg; BR i1 ::LOOP
(3) 9% : MOV (SP)+,R1 : :RESTORE R1
(3 108: MOV (SP)+.RO RESTORE RO SR .
(3) TYPE $CRLF S:CARRIAGE RETURN'' & "‘LINE FEED
(3) RTS PC : SRETURN
(3) 1$: ASCIZ 7/ $:TWO(2) SPACES

pe
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.EVEN

_—
A

000 +ENDC
014604 STYPOCT

.SBTTL BINARY TO OCTAL (ASCII) AND TYPE

014604 STARS

001 JIF B
:i;;'.'....".."'."""'."""'.."."'.'....I.".""'.'.'.'.
CNLIST
.RE§}
;%1'.'..'."..""".".""."'.'..'.'..."..".""'.""..".'
NLIST
"ENDR
LIST

000 LENDC
P«THIS ROUTINE 1S USED TO CHANGE A 16-BIT BINARY NUMBER TO A 6=DIGIT
S#0CTAL (ASCII) NUMBER AND TYPE IT.
i e$TYPOS---ENTER HERE TO SETUP SUPPRESS ZEROS AND NUMBER OF DIGITS TO TYPE

s*CALL:

o MOV NUM,=(SP) : sNUMBER TO BE TYPED

o TYPOS s:CALL FOR TYPEOUT

o .BYTE N ::N=1 TO 6 FOR NUMBER OF DIGITS TO TYPE
i BYTE ™ 2:M=1 OR 0

T ::1=TYPE LEADING ZEROS

i ::0=SUPPRESS LEADING ZEROS

* %

:*$STYPON====ENTER HERE TO TYPE OUT WITH THE SAME PARAMETERS AS THE LAST
;*$TYPOS OR $STYPOC
::CALL:

N N N N N N N it S it T st A A A i it A A iy A S it A

. . P . T~ S~ T~~~ T~ T~ T~~~ o~~~ T~ O PP P o, P S P P P~~~ PP o P~ o, P~ N~ P~~~
AU ALY RUNINIAL A A RN AN RN A NI NI A AL NI NI AL N AU NI NI AL AU AU NI NI A N NN N A WIN N A WNIN RO A =

s MOv NUM,=(SP) : sNUMBER TO BE TYPED
i TYPON ;;CALL FOR TYPEOUT
;'
:'%L:EOC-"ENTER HERE FOR TYPEOUT OF A 16 BIT NUMBER
;*CALL:
. MOV NUM, = (SP) : sNUMBER TO BE TYPED
o TYPOC ::CALL FOR TYPEOUT
014604 017646 000000 $TYPOS: MOV a(SP),=(SP) :sPICKUP _THE MODE
) 014610 116667 000001 000211 MOovBe 1(SP),SOFILL ::LOAD ZERO FILL SWITCH
) 014616 112667 000207 Move (SP)+,SOMODE+1 ;;NUMBER OF DIGITS TO TYPE
) 014622 062716 000002 ADD #2,(SP) :;ADJUST RETURN ADDRESS
) 0166;6 000406 BR S$TYPON
) 014630 112767 000001 000171 STYPOC: MOVB #1,80FILL ssSET THE ZERO FILL SWITCH
) 014636 112767 000006 000165 MOvB #6,$0MODE +1 ssSET FOR SIX(6) DIGITS
) 014644 112767 000005 0001564 STYPON: MOVB #5,80CNT ssSET _THE ITERATION COUNT
) 014652 010346 MOV R3,=(SP) ::SAVE R3
) 014656 010446 MOV R& ,=(SP) : s SAVE Ré
) 014656 010546 MOV R5,=(SP) : s SAVE RS
) 014660 116704 000145 MOVB  $OMODE+1,Ré ::GET THE NUMBER OF DIGITS TO TYPE
) 014664 005404 NEG R&
) 014666 062704 000006 ADD #6,R4 ssSUBTRACT IT FOR MAX, ALLOWED
) 014672 110467 00013 MOvB R4 ,$OMODE :sSAVE IT FOR USE
) 014676 116704 00012 MOovB SOFILL R4 :sGET THE ZERO FILL SWITCH
2) 014702 016605 000012 MOV 12(SP) RS ::PICKUP THE INPUT NUMBER
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(2) 014706 00500 CLR R3 ;;CLEAR_THE OUTPUT WORD
(2) 014710 00610 1%: ROL RS ::ROTATE MSB INTO °°C’
(2) 014712 000404 BR {3 ::60 DO MSB
(2) 014714 006105 28: ROL RS SSFORM THIS DIGIT
(2) 014716 006105 ROL RS
(2) 014750 006105 ROL RS
(2) 014722 01050 MOV R5,R3
(2) 014724 00610 3$: ROL R3 ::GET LSB OF TWIS DIGIT
(2) 014726 105367 000076 DECB  $OMODE SSTYPE THIS DIGIT?
(2) 014732 100012 BPL 7% S:BR IF NO
(2) 01473& 042703 177770 BIC #177770.R3 $3GET RID OF JUNK
(2) 014740 001002 BNE “$ S:TEST FOR 0
(2) 014742 005704 31 R4 : :SUPPRESS THIS 0?
(2) 014744 001403 BEQ 5% “:BR IF YES
(2) 014746 005204 4$: INC R& S:DON'T SUPPRESS ANYMORE 0°S
(2) 014750 052703 000060 BIS #'0,R3 S:MAKE THIS DIGIT ASCII
(2) 014754 052703 000040 5%: BIS #' _R3 :2MAKE ASCII IF NOT ALREADY
(2) 014760 110367 000040 MOVB  R3,8% +:SAVE FOR TYPING
(2) 014764 104401 015024 TYPE 13 ::G0 TYPE THIS DIGIT
(2) 014770 105367 000032 7%: DECB  $OCNT :SCOUNT BY 1
(2) 014774 003347 BGT 2% ::BR IF MORE TO DO
(2) 014776 002402 BLT 6% ::BR IF DONE
(2) 015000 005204 INC R $SINSURE LAST DIGIT ISN'T A BLANK
(2) 015002 000744 BR 2s 1360 DO THE LAST DIGIT
(2) 015004 012605 6%: MOV (SP)+,RS ::RESTORE RS
(2) 015006 012604 MOV (SP)+ .Ré ::RESTORE Ré&
(2) 015010 012603 MOV (SP)+.R3 :*RESTORE R3
(2) 015012 016666 000002 000004 MOV 2(SP) ,4(SP) :3SET THE STACK FOR RETURNING
(2) 015020 012616 MOV (SP)+. (SP)
(2) 015022 000002 RT] ::RETURN
(2) 015024 000 8$: BYTE 0 1 STORAGE FOR ASCII DIGIT
(2) 015025 000 BYTE 0 :TERMINATOR FOR TYPE ROUTINE
(2) 015026 000 $OCNT: .BYTE O ::0CTAL DIGIT COUNTER
(2) 015027 000 $OFILL: .BYTE O :37ERO FILL SWITCH
(2) 015030 000000 $OMODE: .WORD 0 :sNUMBER OF DIGITS TO TYPE
(1) 015032 $SPFAIL
533 ;ENTER HERE ON POWER FAILURE
(2)
(2) 015032 $PWRDN:
(2) 015032 010046 PFAIL: MOV RO,=(SP) :SAVE RO=-RS5 ON PROCESSOR STACK
(2) 015034 010146 MOV R1,=-(SP)
(2) 015036 010246 MOV R2.=(SP)
(2) 015040 010346 MOV R3,=(SP)
(2) 015042 010446 MOV R&.=(SP)
(2) 015046 010546 MOV RS.=(SP)
(2) 015046 016746 162752 MOV 24.=(SP)
(2) 015052 010667 164040 MOV SP.SAVSP :SAVE STACK POINTER
(2) 015056 012767 015070 162740 MOV #RESTART, 24 :SET UP FOR POWER UP TRAP
(2) 015064 000000 HALT SHALT ON POWER DOWN NORMAL
{5} 015066 000777 BR .
(%) :PROCESSOR WILL TRAP HERE WHEN POWER IS RESTORED
(2)
(2) 015070 016706 164022 RESTAR: MOV SAVSP, SP :RESTORE STACK POINTER
(2) 015074 012605 MOV (SP)+.RS *RESTORE RO-RS
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(2) 016144 020040 ggg
(2) 016147 040 053 036522 MMSWR: .ASCIZ 7/ SWR= /
(%) 016154 020040 000040
(2) 016160 050049 047040 053505 MMNEW: .ASCIZ / NEw= /
(%) 016166 020075 000040
(2) .EVEN
:1; 016172 $BUFFER
i%; :BUFFERS FOR INPUT=QUTPUT
(2) 016172 000000 INBUF: 0
(2) 016234 .=, +40
(2) 01623& 0009200 TEMP: 0
(2) 016276 .=, 440
(2) 016276 000000 MDATA: 0
(2) 016340 .=, +40
(1) 016340 $SCOPE
(%) 016340 .$SCOPE 5.,SC,.SC1
(3) "SBTTL .SCOPE HANDLER ROUTINESTARS
(3) ;*THIS ROUTINE CONTROLS THE LOOPING OF SUBTESTS. IT WILL INCREMENT
(3) :*AND LOAD THE TEST NUMBER(STSTNM) INTO THE DISPLAY REG.(DISPLAY<7:0>)
(3) 001 .JF EQ STSTNM+1-SERFLG
f%; 000 :Eag% LOAD THE ERROR FLAG (SERFLG) INTO DISPLAY<15:08>
(3) :*THE SWITCH OPTIONS PROVIDED BY THIS ROUTINE ARE:
(3) seSW14=1 LOOP ON TEST
(3) ;*SW11=1 INHIBIT ITERATIONS
(3) :*SW09=1 LOOP ON ERROR
(3) 001 JIF NE 4002$SWR
(3 :*SW08=1 O0OP ON TEST IN SWe<7:0>
(3) LIIF EQ <$SWRMKR377>=200,;*SW08=1 LOOP ON TEST IN SWR<6:0>
(3) JIF EQ <$SWRMKE377>=300,;+*SW08=1 LOOP ON TEST IN SWR<S5:0>
(3) JJIF EQ <$SWRMKR377>=340,;+*SW08=1 LOOP ON TEST IN SWR<4:0>
(3) IIF EQ <$SWRMKR377>-360,; *SW08=1 LOOP ON TEST IN SWR<3:0>
(3) JIIF EQ <$SWRMKE377>-370,;*SW08=1 LOOP ON TEST IN SWR<2:0>
(3) JIIF EQ <$SWRMKR377>=374,;+SW08=1 LOOP CN TEST [N SWR<1:0>
(3) JIF EQ <$SSWRMKR377>=376;+SW08=1 LOOP ON TEST IN SWR<0>
(3) 000 LENDC
(3) ;*CALL
tg; i SCOPE ::SCOPE=10T
(3) 016340 $SCOPE :
(3 .1IF NE $SETUP100, CKSWR ;:TEST FOR CHANGE IN SOF T=SWR
(3) 001 IF NB <SC>
(3) .IRP NEWINS,<SC>
(3) NEWINS
(&) .ENDM
:g; 016340 SC
ig; :SCOPE LOOP AND INTERATION HANDLER
(5) 016340 .SCOPE:
(5) 016340 004767 174376 JSR PC,CKSWR
(5) 016344 005067 163046 CLR $ERRPC :CLEAR LAST ERROR PC
(5) 016350 022716 003376 (MP #T1ST142,(SP) ;1S SCOPE AT BEGINING OF TEST 1?
(5) 016354 001422 BEQ $XTSTR SYES NO LOOP.
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1114 CNDUUA . M11 29-0C1 SCOPE HANDLER ROUTINESTARS SEQ 0127
(%)
(5) 016356 032777 040000 163054 T1ST: BIT #BIT14,3SWR :THIS CODE IS FOR TESTING FOR BIT 14
] (5) 016364 00141; BEO 1$ SON LSI WHICH SYSMAC CANNOT WANDLE
(5) 016366 016767 163010 163012 MOV $TSTNM, SLPADR
l (5) 016374 000409 _ BR 1$
(5) 016376 105777 163042 TSTB  @a$TKs$ KEYSOARD DONE ?
(5) 016402 100123 BPL $OVER :BR _IF NO
r ggg 016404 017533 163036 177776 Fa MOV asrxa =2(SP) :CLEAR DONE BIT
() 001 .IF NE $SWRE40000
(3) 002 xr r $40CAT
(3) :G0 TO ERROR ROUTINE IF RETURN PC LESS THAN 1002
(3) : :0THERW xse courxnue
(3) SP) , #1002 :sUNEAPECTED TRAP OR INTERRRUPT
(3) BHI 1s ::ARE TRAPPED HERE VIA [OT
gg; - = JMP $ERROR ::6G0 PROCESS UNEXPECTED TRAP
(3) 016412 032777 040000 163020 i$: BIT #BIT14,35uR ::LOOP ON PRESENT TEST?
(3) 016420 001114 BNE $OVER SIYES IF SW14=1
(3) 000 .ENDC
(3) :WARNNSTART OF CODE FOR THE XOR TESTERANNAN
(3) 016422 000416 $XTSTR: BR I3 ;:1F RUNNING ON THE ''XOR:' TESTER CHANGE
(3) :THIS INSTRUCTION TO A "°NOP'* (NOP=240)
(3) 016426 013746 000004 MOV AFERRVEC,=(SP) ..SAVE THE CONTENTS OF THE ERROR VECTOR
(3) 016430 012737 016450 000004 MOV #5% aaeaavec :3SET_FOR TIMEOUT
(3) 016436 005737 177060 ST ar1?706 TIME OUT ON XOR?
(3) 016442 012637 000004 MOV (SP)+, acenavsc ..nesrone THE ERROR VECTOR
(3) 016446 000463 BR $SVLAD :GO TO THE NEXT TEST
(3) 016450 022626 5% CMP (SP)+,(SP)+ $3CLEAR THE STACK AFTER A TIME OUT
(3) 016452 012637 000004 MOV (SP)+.aNERRVEC ::RESTORE THE ERROR VECTOR
(3) 001 .IF NE $SWRE1000
:g; 016456 000423 i BR 7% ::LOOP ON THE PRESENT TEST
(3) BR $OVER ::LOOP ON THE PRESENT TEST
(3) 000 .ENDC
(3) 016460 6$:: #MRNNEND OF CODE FOR THE XOR TESTERANNNN
(3) 001 JIF NE ssuazaoo
(3) 016460 032777 000400 162752 #BIT08,aSWR ::LOOP ON SPEC. TEST?
(3) 002 JIF NE ssuazsooo SWwil OR SWO09
:g; 016466 001404 = BEQ 28 ;:BR IF NO
(3) BEQ $SVLAD ::BR IF NO
(3) 001 JENDC
(3) 002 “IF NB
(3) 003 JIF DIF <SWOBTBL>,<>
:g; 'E??°“ :ILLEGAL ARGUMENT IN .$SCOPE =
(3) CLR -(SP) :CLEAR A TEMP. LOCATION
(3) MOVB  aSWR, (SP) chxup THE DESIRED TEST NUMBER
(3) J1IF NE SSWRMK, BIC ¥SSWRMK , (§P) *MASK OUT UNDESIRED BITS
(3) BEQ 13 : :BRANCH “iF BAD TEST NUMBER IN SWR
(3) JRP X, <\$TN-1>
(3) CMP #'x, (SP) ::CHECK THE NU
(%) MBER IN THE SWR
(3) LENDM
(3) BLT 8% ::BRANCH IF TEST NUMBER 1S OUT OF RANGE
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(3) MOV (SP).STSTNH ::UPDATE THE TEST NUMBER
(3) DEC (SP ) : iBACKUP BY ONE
(3) ASL (SP) ;SCALE THE TEST NUMBER AS AN INDEX
(3) ADD #$SWOBTBL, (SP) ::FORM THE ADDRESS OF TEST POINTER
(3) MOV @(SP)+,SLPADR  ::SET LOOP ADDRESS ro DESIRED TEST
(3) BR $OVER ;G0 LOOP ON THE TEST
(3) 8$: ST (SP)+ ::CLEAN THE BAD TEST NUMBER OFF OF THE STACK
(3 002 JENDC
(3) JIFF
(3) 003 JIF EQ $SWRMK
tg; 016470 127767 162744 162704 = CMPB  @SWR,$TSTNM ::ON THE RIGHT TEST?  SWR<7:0>
(3) MOV ASWR,=(SP) ;:SET DESIRED TEST NUM. FROM SWR
(3) BIC #SSWRMK , (SP) ::STRIP AWAY UNDESIRED BITS
(3) (MPB  (SP)+,$TSTNM  ::ON THE RIGHT TEST?
(3 002 JENDC
(3) 016476 001465 BEQ $OVER ::BR IF YES
(%) 001 .euoc
(3) 000
(3) 001 .xr us ssunzsooo SW11'SW09
(3) 016500 105767 162677 28: TSTB  SERFLG ::HAS AN ERROR OCCURRED?
(3) 00 JIF NE $SWRE4000:SW11
:g; 016504 001421 e BEQ 43 ;:BR IF NO
(3) BEQ $SVLAD ;:BR IF NO
(3) 001 JENDC
(3) 002 .IF NE $SWRE1000;SW09
(3 003 JIF NE $SWRE4000:SW11
(3) 016506 126767 162703 162667 CMPB ieanax SERFLG  ;;MAX. ERRORS FOR THIS TEST OCCURRED?
f?; 016514 10'353 e BHI ::BR IF NO
(3) 016516 032777 001000 162714 BIT #B1T09,3SWR ;:LOOP ON ERROR?
(3) 016524 001404 BEQ 4$ :BR IF NO
(3) 016526 016767 162656 162652 7%: MOV SLPERR,SLPADR  ::SET LOOP ADDRESS TO LAST SCOPE
:;; 016534 000446 i BR $OVER
(3) 016536 105067 162641 4$: CLRB  SERFL :;7ERO THE ERROR FLAG j
533 016542 005067 162744 e CLR $TIME 2:CLEAR THE NUMBER OF ITERATIONS TO MAKE
(3) 016546 000415 BR 1% ::ESCAPE TO THE NEXT TEST
(3) 001 .ENDC
(3) 000 JENDC
(3) 001 -IF NE $SWRE4000;SW11
(3) 016550 032777 004000 162662 3$: BIT #BIT11,35WR ..lNHlBlT ITERATIONS?
:g; 016556 00185} e BNE 1% ::BR IF YES
(3) 016560 005767 162750 ST $PASS ::1F FIRST PASS OF PROGRAM
{%; 016564 00138? — BEQ 1% ¥ INHIBIT ITERATIONS
(3) 016566 005267 162612 INC $1CNT :: INCREMENT ITERATION COUNT
(3) 016572 026767 162714 162604 CMP STIMES,SICNT  ::CHECK THE NUMBER OF ITERATIONS MADE
(3) 016600 002024 BGE SOVER ::BR [F MORE ITERATION REQUIRED
(3) 016602 012767 000001 162574 1$: MOV #1,$1CNT :REINITIALIZE THE ITERATION COUNTER
gg; 016610 016585 000056 162674 e MOV SMXCNT,STIMES  ::SET NUMBER OF ITERATIONS TO DO
(3) 016616 105207 162560 $SVLAD: INCB  STSTNM ::COUNT TEST NUMBERS
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(3) 001 15 DF SMAIL
g ; 016622 116387 162554 162702 s MOVE  STSTNM,STESTN  ;:SET TEST NUMBER IN APT MAILBOX
(3) 016630 011669 162552 MOV (SP) , SLPADR ; :SAVE SCOPE LOOP ADDRESS
(g) 001 - .IF NE $SWR1000;5W09
(3) 016636 011667 162550 MOV (SP),SLPERR : :SAVE ERROR LOOP ADDRESS
(3) 016640 005067 162650 CLR $ESCAPE ::CLEAR THE ESCAPE FROM ERROR ADDRESS
zgg 016644 112585 000001 162543 g MOVB  #1,SERMAX SSONLY ALLOW ONE(T) ERROR ON NEXT TEST
(3) J1IF EQ $SWRES000 CLRB  S$ERFLG ::7ERO THE ERROR FLAG
(3) 016652 016777 162524 162562 $OVER: MOV $TSTNM,aDISPLAY ;:DISPLAY TEST NUMBER
(3) 016660 016716 162522 MOV $LPADR . (SP) :FUDGE RETURN ADDRESS
(3) 201 JF B <SC1>
(3) RTI ::FIXES PS
(3) JIFF
(3) "IRP LASTIN,<SC1>
(3) LASTIN
(%) .ENDM
(4) 016664 $C1
(5) 016664 000002 48: RTI
(5) 016666 001407 BRW: 1407
(5) 016670 000432 BRX: 432
(3) 000 LENDC
(3) -1IF NDF SLPADR,SLPADR:
(3) .1IF EQ .=-SLPADR,SLPADR: 0 ::SCOPE LOOP ADDRESS
(3) 001 "1F NE $SWRE1000:SW09
(3) .11F NDF SLPERR,$LPERR:
(3) .1IF EQ .=SLPERR,SLPERR: 0 : ;ERROR LOOP ADDRESS
(3) 000 JENDC
(3) 001 "IF NE $SWRE4000:SW11
(3) J1IF NDF STIMES,$TIMES:
(3) “1IF EQ .=-STIMES,STIMES: 0 : :NUMBER OF ITERATIONS TO PERFOR
(3) JIIF  NDF $1CNT,SICNT:
(3) J1IF EQ .~SICNT,SICNT: 0
(3) "1IF  NDF SMYCNT,SMXCNT:
(3) 002 F BS
gg; .}}; EQ .=SMXCNT,SMXCNT: 2000. ;sMAX. NUMBER OF [TERATIONS
(3) 016672 000005 $MXCNT: S ::MAX. NUMBER OF ITERATIONS
(3) 001 .ENDC
(3) 002 IF B
() "11F NDF $PASS,S$PASS:
(3) J1IF EQ .=$PASS,$PASS: 0 : :PASS COUNT
(g) 001 "ENDC
(3) 000 "ENDC
(3) "1IF NDF STSTNM,STSTNM:
(3) "1IF EQ .=-STSTNM,STSTNM: BYTE 0 ;s TEST NUMBER
(3) "11F NDF SERFLG,S$ERFLG:
(3) "1IF EQ .=-SERFLG,SERFLG: .BYTE 0 : sERROR FLAG
(3) J1IF NE .81,.EVEN
(3) "11F NDF SERMAX,SERMAX:
(3) "11F EQ .=-SERMAX,SERMAX: 1 : :MAX. ERRORS PER TEST
(3) 001 "1F NB
(3) 002 “IF IDN SWOBTBL,<>
(3) NLIST
(3) $$5W08=1
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SCOPE HANDLER ROUTINESTARS

LIS

SSHOBTBL'

REPT  $TN-1

+IRP X,<\$$5W08>
JWORD ~ TST'xX#2

.ENDM

«NLIST
SSSH?8=S$SUOB*1

; sSTARTING ADDRESS OF TEST X

.SBTTL TRAP DECODER

STARS
.IF B8

2222222222 22222 222222202 R 00 R 22020 0R R0 RRRRR0R0)

R L L LR L L R R LR L T T T TR Y
.NLIST

.ENDR

“ENbC

s*THIS ROUTINE WILL PICKUP THE LOWER BYTE OF THE ‘'TRAP'' INSTRUCTION
:*AND USE IT TO INDEX THROUGH THE TRAP TABLE FOR THE STARTING ADDRESS
:*OF THE DESIRED ROUTINE. THEN USING THE ADDRESS OBTAINED IT WILL
:#GO TO THAT ROUTINE.

F B
S}?;P: MOV RO,=(SP) : :SAVE RO
$TRAP: MOV 2(SP),=(SP) ;

;ASSUME THE STATUS OF

BIC #20,(SP) i THE CALLER;-DO NOT ALLOW

MOV #1%,-(SP) s: T-BIT 1
RTI s:SET _THE NEW STATUS
1%&0( MOV RO,=(SP) ::SAVE RO
MOV 2(SP) RO s sGET TRAP ADDRESS
1ST =(R0) s :BACKUP BY 2
IF N8 Mmova (RO) RO :;GET RIGHT BYTE OF TRAP

BPL $TRAP1

OQNON-USER TRAP BELOU 200
BIC #*C177,R0

::STRIP _AWAY THE JUNK

JMP (PC) ..USER TRAP,ABOVE 177, GO TO
.WORD :s USER TRAP HANDLER-
$TRAPI:
JENDC
JIF NB
(MP #$TERM,RO ;:CHECK FOR OUT OF BOUNDS
BGT .46 ::BR IF 0K

HALT ::0UT OF BOUNDS

SEQ 0130
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AAAAA‘AﬂAAﬁﬁﬁﬂﬂﬁaﬁﬂﬁﬂﬁﬂﬂﬁAﬂﬂ.ﬂﬂﬂaAﬂﬂﬂﬂﬁﬂﬂﬁﬂanﬂﬂﬂnﬂnﬂna
W

N

016730

016732

B 1

; s HANGUP

;sPOSITION FOR INDEXING
: s INDEX TO TABLE

::60 TO ROUTINE

:sMOVE THE PC DOWN
:sMOVE THE PSW DOWN
+sRESTORE THE PSW

ET  A,B,\<TRAP+$TRP>,\$TRP,<MSG>

;*THIS TABLE CONTAINS THE STARTING ADDRESSES OF THE ROUTINES CALLED

TRAP+D((C) COMNT

SETTRAP TYPE,STYPE,*/TTY TYPEOUT ROUTINE/

TYPE ,STYPE ,\<TRAP+$TRP>,\$TRP ,<TTY TYPEOUT ROUTINE>

;*THIS TABLE CONTAINS THE STARTING ADDRESSES OF THE ROUTINES CALLED

TRAP+1(104401) TTY TYPEOUT ROUTINE

0(1046) 14=DEC=82 10:02 PAGE 62-117
23-0(1-82 13:29 TRAP DECODER
e =2
g ENDC
00630 ASL RO
16000 016730 MOV $TRPAD (RO) ,RO
00200 RTS RO
::THIS 1S USE TO HANDLE THE *‘GETPRI'* MACRO
011646 $TRAP2: MOV (SP),=(SP)
016666 000004 000002 MOV 4(SPY,2(SP)
000002 RTI
MACRO SETTRAP A,B,MSG
$$S
NLIST
$TRP=$TRP+1
LIST
.ENDM  SETTRAP
"MACRO $$SET  A,B.C.D,COMNT
.IF EQ $TRP=1
.SBTTL TRAP TABLE
:*BY THE "‘TRAP" INSTRUCTION.
: ROUTINE
$TRPAD: .WORD $TRAP2
LENDC
JAIF NDFAENS..NLéST
.11F NDF GNS,.LIST
8 s:CALL=A
LENDM  SSSET
.MACRO TRMTRP
$TERM=,-$TRPAD
.ENDM ~ TRMTRP
000001 $TRP=1
001 .IF DF STYPE
$SSET
002 JIF EQ STRP-1
.SBTTL TRAP TABLE
S*BY THE ''TRAP'* INSTRUCTION.
; ROUT INE
016716 $TRPAD: .WORD $TRAP2
001 JENDC
104401 TYPE= 104401
013112 $TYPE  ;:CALL=TYPE
000002 $TRP=$TRP+1
000 JENDC

SEQ 0131
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23 82 13:29 TRAP TABLE

19 CNDUUA.M11 -0CT~- SEQ 0132
(g) 001 .15 DF $TYPOC
(2) 016734 SETTRAP TYPOC,$TYPOC,*/TYPE OCTAL NUMBER (WITH LEADING ZEROS)/
(3) 01673 $SSET  TYPOC.STYPOC .\<TRAP+$TRP> ,\$TRP ,<TYPE OCTAL NUMBER (WiTH LEADING 2EROS)>
(&) 002 JIF EQ $TRP=1
:2; .SBTTL TRAP TABLE
(4) :*THIS TABLE CONTAINS THE STARTING ADDRESSES OF THE ROUTINES CALLED
tz; t+BY THE "'TRAP" INSTRUCTION.
22; : ROUTINE
(4) $TRPAD: .WORD  $TRAP2
(4) 901 LENDC
(4) 104402 TYPOC= 104402
(4) 016734 014630 $TYPOC ;;CALL=TYPOC TRAP+2(104402) TYPE OCTAL NUMBER (WITH LEADING ZEROS)
(3) 000003 $TRP=$TRP+1
(2) 016736 SETTRAP TYPOS,$TYPOS,*/TYPE OCTAL NUMBER (NO LEADING ZEROS)/
(3) 016736 $SSET  TYPOS.STYPOS . \<TRAP+$TRP>,\$TRP,<TYPE OCTAL NUMBER (NO LEADING ZEROS)>
(&) 002 .IF EQ $TRP=1
:2; .SBTTL TRAP TABLE
(4) :#THIS TABLE CONTAINS THE STARTING ADDRESSES OF THE ROUTINES CALLED
:2; :*BY THE ''TRAP'* INSTRUCTION.
22; : ROUT INE
(4) $TRPAD: .WORD  $TRAP2
(4) 001 LENDC
(4) 104403 TYPOS= 104403
(4) 016736 014604 $TYPOS ::CALL=TYPOS  TRAP+3(104403) TYPE OCTAL NUMBER (NO LEADING ZEROS)
(3) 000004 $TRP=$TRP+1
(2) 016740 SETTRAP TYPON,STYPON,*/TYPE OCTAL NUMBER (AS PER LAST CALL)/
(3) 016740 $SSET  TYPON.STYPON.\<TRAP+$TRP>,\$1RP,<TYPE GCTAL NUMBER (AS PER LAST CALL)>
(&) 002 JIF EQ $TRP=1
z:; .SBTTL TRAP TABLE
(4) :*THIS TABLE CONTAINS THE STARTING ADDRESSES OF THE ROUTINES CALLED
gz; t«BY THE ''TRAP'* INSTRUCTION.
:2; ; ROUT INE
(4) $TRPAD: .WORD  $TRAP2
(4) 001 LENDC
(4) 104404 TYPON= 104404
(4) 016740 014644 $TYPON ;:CALL=TYPON  TRAP+4(104404) TYPE OCTAL NUMBER (AS PER LAST CALL)
(3) 000005 $TRP=$TRP+1
(2) 000 LENDC
(2) 001 -IF DF STYPDS
(2) SETTRAP TYPDS,$TYPDS,*/TYPE DECIMAL NUMBER (WITH SIGN)/
(2) 000 JENDC
(2) 001 .IF DF STYPBN
(2) SETTRAP TYPBN,STYPBN,*/TYPE BINARY (ASCII1) NUMBER/
ff; 000 .ENDC
(2) 001 JIF DF $GTSWR
(2) SETTRAP GTSWR,$GTSWR,*/GET SOFT=SWR SETTING/
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000 .ENDC

.1F DF $CKSWR
SETIR

-ENDC

.IF DF $RDCHR
SETTRAP RDCHR,SRDCHR,*/TTY TYPEIN CHARACTER ROUTINE/

o
o
—

AP CKSWR,SCKSWR,“/TEST FOR CHANGE IN SOFT=SWR/

NNV

SETTRAP ROLIN,SRDLIN,*/TTY TYPEIN STRING ROUTINE/
SETTRAP RDOCT,SRDOCT,“/READ AN OCTAL NUMBER FROM TTY/
C

SETTRAP RDDEC,$RDDEC,*/READ A DECIMAL NUMBER FROM TTY/

F $SAVREG
SETTRAP SAVREG,$SAVREG,*/SAVE RO=R5 ROUTINE/
SETTRAP RESREG,SRESREG,*/RESTORE RO-R5 ROUTINE/

C

DF $R2A
SETTRAP R2AZ,$R2AZ
SETTRAP R2AZ.,$R2AZ.
SETTRAP R2AZQ,$R2AZQ

AP SCOP1,.SCOP1 ;CALL TO LOOP ON CURRENT DATA HANDLER
$$SET  SCOP1,.SCOP1,\<TRAP+S$TRP> ,\$TRP,<>

Q $TRP-1

L TRAP TABLE

o0 OO0 OO0 OO OO

o0 OO0 OO OO OO
-0 =0 =0 =0 =0

(==
(=l ]
-0

000

001 .

;*THIS TABLE CONTAINS THE STARTING ADDRESSES OF THE ROUTINES CALLED
;*BY THE “'TRAP'' INSTRUCTION.

; ROUT INE
$TRPAD: .WORD  $TRAP2
000 LENDC
104405 SCOP1= 104405
016742 013070 .SCOP1  ;;CALL=SCOP1 TRAP+5(104405)
000006 $STRP=$TRP+1
016744 SETTRAP INSTR,.INSTR  :ACLL TO ASCII STRING OUTPUT ROUTINE
016744 $$SET ~ INSTR..INSTR,\<TRAP+$TRP>,\$TRP,<>
001 .IF EQ $TRP-1
"SBTTL TRAP TABLE

;*THIS TABLE CONTAINS THE STARTING ADDRESSES OF THE ROUTINES CALLED
;*BY THE °‘TRAP'' INSTRUCTION. .

H ROUTINE

$TRPAD: .WORD  $TRAP2

000 LENDC
INSTR= 104406
INSTR ;;CALL=INSTR TRAP+6(104406)
STRP=$TRP+1

N Nt Nt N N N N N N N i N A N i A it - b P
-m DO

N LN N N N WA U N W AN WA U D =2 1) LA N N N N N N N W N N = RO A N N N RO AR NI NI AL NI NI R NN NI NN

N N N N N N N i N it Nt N b N N Nt P

016744 0
0
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21 CNDUUA.M11  29-0(T- SEQ 0134
(1) 016746 SETTRAP INSTER,.INSTER :CALL TO INPUT ERROR & MANDLER
016746 $SSET ~ INSTER,.INSTER,\<TRAP+$TRP>,\$TRP,<>
001 JIF EQ $TRP-1

+SBTTL TRAP TABLE

s*THIS TABLE CONTAINS
;*BY THE "'TRAP'' INSTR

: ROUT INE

$TRPAD: .WORD  $TRAP?

000 +ENDC
104407 INSTER= 104407
016746 013502 +INSTER ;;CALL=INSTER TRAP+7(104407)
000010 $TRP=$TRP+1
016750 SETTRAP PARAM, .PARAM :CALL TO NUMERICAL DATA INPUT ROUTINE
016750 $SSET  PARAM, .PARAM,\<TRAP+$TRP>,\$TRP,<>
001 .JF EQ $TRP-1
.SBTTL TRAP TABLE

s*7THIS TABLE CONTAINS THE STARTING ADDRESSES OF THE ROUTINES CALLED
s*BY THE ''TRAP'" INSTRUCTION.

THE STARTING ADDRESSES OF THE ROUTINES CALLED
UCTION.

; ROUT INE
$TRPAD: .WORD $TRAP2
000 .ENDC
104410 PARAM= 104410
016750 013512 .PARAM ;:CALL=PARAM  TRAP+10(104410)
000011 $TRP=$TRP+1
016752 SETTRAP SAV0S,.SAVOS  :CALL TO REGISTER SAVE ROUTINE
016752 $SSET  SAVDS,.SAVOS,\<TRAP+$TRP>,\$TRP, <>
001 .IF EQ STRP-1

.SBTTL TRAP TABLE

:*THIS TABLE CONTAINS
;*BY THE "'TRAP"' [NSTR

: ROUT INE

$TRPAD: .WORD  $TRAP2

% STARTING ADDRESSES OF THE ROUTINES CALLED

TH
UCTION.

000 +ENDC
o 1044611 SAV05= 104411
016752 013712 .SAVO5 ;;CALL=SAVO5 TRAP+11(104411)
000012 $TRP=$TRP+1
016754 SETTRAP RESO5,.RESOS ;CALL TO REGISTER RESTORE ROUTINE
016754 001 " ¢ ‘$SSE{ RESOS, .RESO5,\<TRAP+$TRP>,\$TRP, <>

.SBTTL TRAP TABLE

:*THIS TABLE CONTAINS TH
;*BY THE "'TRAP'' INSTRUCT

3 ROUT INE

$TRPAD: .WORD  $TRAP2

TARTING ADDRESSES OF THE ROUTINES CALLED

HE §
10N,

o~~~ T~ T~ P~ P~ P P P~ T~ P T~ T~ T~~~ T~ T~~~ T~ T~~~ T~ T~~~ T~~~ T~~~ T~~~ P P~ P~~~
AN U LN N N N A NN =2 N 'l WA U N U U N U AN N N AT =2 D) WA N WA U A NN U N N N D) == ) N N N N N NN N AN N N NN

N N N Nt N N N N Nt it A N b A W N P N A b A  kh A " " - it - A A P A b A P i P P
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-0CT-82

000
104413
014004
000014

001

000
104414
014162
000015

14-DEC~- 10:02 PA =121
13:29E - %RAP ?EBE% .

RESO5=

.R%SOS
$STRP=$TRP+

F1N

104412
: s CALL=RESOS5 TRAP+12(104412)

SETTRAP gggg??..(O"VRY ;: CALL _TO DATA QUTPUT ROUTINE

ol' Eo ‘TRP-I

CONVRT, .CONVRT ,\<TRAP+$TRP> ,\$TRP, <>

.SBTTL TRAP TABLE

s*THIS TABLE CONTAINS THE STARTING ADDRESSES OF THE ROUTINEZ CALLED

;*BY THE "'TRAP'" INSTRUCTION.

. ROUTINE

$TRPAD: .WORD

.ENDC
CONVRT=
. CONVRT
$TRP=STRP+1

SETTRAP SETFLG,.

$SSET
.IF EQ $TRP-1

$TRAP2

104413
;s CALL=CONVRT  TRAP+13(104413)

SETFLG ;CALL TO FLAG SET ROUTINE
SETFLG,.SETFLG,\<TRAP+$TRP> ,\$TRP,<>

.SBTTL TRAP TABLE

:*THIS TABLE (ONTAINS THE STARTING ADDRESSES OF THE ROUTINES CALLED

;*BY THE “‘TRAP'' INSTRUCTION.

: ROUTINE

$TRPAD: .WORD

+ENDC
SETFLG=
.SETFLG
$TRP=$TRP+1

$TRAP2

104414

;s CALL=SETFLG  TRAP+14(104414)

:'."Q'lt'tttl"i.'t"t't."'.iii..t.t..il.tit.ttliiit.tt.itt

sUTILITIES

:itii.tl'itiiitt'it'i.'i.'.'i"t..t!'..'ti"'t'......O.t.'..'

0044 DULEV: AS
0040 ASL
0034 ASL
ASL

ASL

000020 MOV
000012 SUB
000004 BIC
RTS

DUPRT: PRS

LESS1: PRé

sNEW DU
26 162646 DUADDR: MOV
20 INC
14 162636 MOV
06 INC

sTHIS UTILITY CALCULATES PRIORITY LEVEL
L DUPRT

SSHIFT LEFT
DUPRT :
DUPRT :

DUPRT :

DUPRT

DUPRT,LESS1 :MOVE THIS TO LESS!
#1,LESST *CREATE LESS1
:g?.L5551 SCLEAR TNZVC

;LEVEL TO ALLOW INTERRUPTS

ADDRESSES

DUBASE ,RXCSR : XXX0
DUBASE

DUBASE ,HRXCSR  ;xxX1
DUBASE

SEQ 0135
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162546

162526

162214

162146
162136

162130

9!(-82 10:02 PAGE 62-122
TRAP TABLE

;THIS ROUTINE CALCULATES ODD PARITY FOR AN 8 BIT CHAR
sSAVE TEMPI

THlS ROUTINE Cl%(gLAIES EVEN PARITY FOR AN 8 BIT (HARACTER

6"

UTILITY POKES THE MAINT DATA BASED UFON THE
QST}ON CONTAINED IN STMP1 AND IT IS

s XXX
s XXX

s XXX
s XXX

s XXXG
I XAXS
s XXX6
s XXX7

N BY THE CONTENTS OF SHIFT

$TMP2  ;PICK UP CARRY IN BIT 15
$STMPZ  :SHIFT INTO BIT 14

:CLR BIT 15

:POKE MAINT DATA
:POKE (LK

sSET ODD PARITY

sCLR EVEN PARITY

:SAVE TEMP1

MoV DUBASE ,RXDBUF
MOV ouanse "PARCSR
INC DUBASE
MOV DUBASE , HRXDBUF
MOV DUBASE.HPARCSR
INC DUBAS
MOV ouauss TXCSR
INC DUSASE
MOV DUBASE ,HTXCSR
INC DUBASE
MOV DUBASE , TXDBUF
INC DUBASE
MOV DUBASE , HTXDBUF
RTS PC
DUBASE: 0
:THIS
: INFOR
:SHIFT
RPOKE: BIC #MTDATA,3TXCSR
CLR $TMP?2
ROR $TMPT  :FORCE CARRY
ROR
ASR
BIC #BIT15,8TMP2
BIS $TMP2,aTXCSR
BIC #CLK,3TXCSR
BIS #CLK.DTXCSR
DEC SHIFT
BNE RPOKE
RTS PC
oDD8: MOV $TMP1,$TMP2
CLR $TMP3
MOV #8.,(PC)+
(% 0
1$: ROR $TMP?2
ADC $TMP3
DEC 4%
BNE 1%
ROR $TMP3
BCS 2%
BIS #B1T8,$TMP1
[EE 3%
28: BIC #B118,8TMP1
:$TMP1 NOW HAS ODD PARITY CHARACTER
3s: RTS PC
EVENB: MOV TMP2
CLR $TMP3
MOV #8.,(PC)+
4%: 0
1$: ROR $TMP
ADC $TMP

SEQ 0136
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124 CNDUUA . M11 -0CT TABLE SEQ 0137
8808 017374 005367 177762 DEC (4 9
8809 017400 001371 BNE 1%
8810 017402 006067 162076 ROR $TMP3
8811 017408 103004 BCC 2%
8812 017410 052767 000400 162062 BIS #B1T8,$THP1 ;SET EVEN PARITY
881 017418 000403 BR 38
8814 017420 062767 000400 162052 2%: BIC ¥B1T18,$THPI <CLR ODD PAR]ITY
8815 :$TMP1 NOW HA§ EVEN PARITY CHARACTER
8816 017426 000207 38: RTS PC 3 3
8817 017430 062716 000002 TRPREG: ADD #2,(SP) ;ALLOW 1T TO "‘CRUNCH'' INTO HLT BACK
8818 :IN MAIN PART OF THE PROGRAM
8819 017434 000002 RT]
8820 ;INITIALIZE SBC 11/21 PROCESSOR ODT AND LKVEC
8821 017436 CINIT
(1) 017436 POINT=. ;SAVE POINTER
(1) 000100 .=100
(1) 000100 017436 $CLKVEC :LKVEC HANDLER
(1) 000102 000300 300 P INTERRUPT HANDLER PRI
(1) 000140 =140 *BRKVEC
(1) 000140 170000 170000 :0DT START ADDRESS
(1) 000142 000300 300 :PRIORITY
(1) 017436 .=POINT :RESTORE POINTER
(1) 017436 104401 017444 $CLKVEC: TYPE CLKMES
(1) 017442 000000
(1) 017444 005015 045514 042526 CLKMES: .ASCiZ <15><12>/vasc INTERRUPT = DISCONNECT LTC /
(1) 017452 020103 047111 042524
(1) 017460 051122 050125 020124
(1) 017466 020055 044504 041523
(1) 017476 047117 042516 052103
(1) 017502 046040 041524 000040
8822 000001 .END



125

CNDUU=-A MACY11
CNDUUA. MY

AAA
ABASE =
ACDWI .

ADDWZ = 000000
ADDW3 = 000000
ADDW4 = 000000
ADDWS = 000000
ADDW6 = 000000
ADDW7 = 000000
ADDW8 = 000000
ADDW9 = 000000
ADEVCT= 000000
ADEVM = 000000
ADRCNT= 013711
AENV = 000000
AENVM = 000000

APTENV= 000001

APTS12= 000200
APTSPO= 000100
ASWREG= 000000
ATESTN= 000000
AUNIT = 000000
AUSWR = 000000
AVECT1= 000000
AVECT2= 000000
BASEAD 001154

28
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CROSS REFERENCE TABLE == USER SYMBOLS

10:02_ PAGE 63

SEQ 0138
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CNDUU=A MACY11_30(1046) 14-DEC-B2 10:02 PAGE 63-1

CNDUUA .M 23-0(1- 2 13:29 CROSS REFERENCE TABLE == USER SYMBOLS

BASEIV 001162 B148a+ B729+

888 003026 81484

BINWRD 014160 87294+

Bl1Tw = 002000 8148 8150 8151 8152 8153 8154 8155 8157
8378 8412

81710 = 000001 B148#

81700 = 000001 81484

81701 = 000002 81484

BlTO§ = 000006 81484

81103 = 000010 81484

81704 = 000020 81484

BIT05 = 000040 81484

81106 = 000100 81484

81107 = 000200 B148#

81708 = 000400 B1484 8729

B17T09 = 001000 B14B¥ 8729

BIT1 = 000002 B148#

BIT10 = 002000 81484 8729

BIT11 = 004000 81484 8729

Bl!\% = 010000 81484

BIT13 = 020000 B1484¢ 8729

BIT14 = 040000 81484 8729

81115 = 100000 81484 8776

8112 = 000004 B1484

BITS = 000010 B148#

BIT4 = 000020 81484

BITS = 000040 81484

BI1T6é = 000100 81484

BI1T7 = 000200 81484

BIT8 = 000400 B148¥ 8795 8797 8812 8814

B119 = 001000 81484

BPTVEC= 000014 B148#

BREAK = 000001 B1484 8181 8220 8241 8435 8488 8684

BRKVEC= 000140 81484

BRW 016666 87294

BRX 016670 87294

CARDET= 010000 81484

ccc 012646 87294

CHRCNT 014156 87294+

CKSWR 012742 87294

Lk = 020000 8148¢ 8150 8151 8152 8153 8154 8155 8157
8181 8182 8183 8195 8196 8220 8221 8222
8255 8279 8284 8314 8316 8339 8373 8380
8462 8488 8490 8491 8615 8617 8634 8666

CLKMES 017444 8821#

CNTLU_ 013016 8148 8729

CONVRT= 104413 87294

COUNT 001124 81484 8197+ B204+  B313+ 8322+  B331+  B342+  Bi4ér
8575+ B579+ B663+  B686*

(R = 000015 81484 8729

CRLF = 000200 B1484  B729

1S = 020000 81484

DDISP = 177570 81484

DEVADR 013706 87294+

DEVICE 015351 87294

DF1 002132 81484

8158

00 00 Co 0o
[ W AN e
NOWW
O ~N—00

8448

8159

(o <Jo Jo 1o o
NS —
~ = NN
o HrOO

8452+

"€Q 0139

8160 8161 8162

8160 8161 8162
8241 8242 8254
8435 8440 8441
8779

8492+ 8497« 8570+
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CNDUUA. M1 29-0(7-82 13:2 CROSS REFERENCE TABLE == USER SYMBOLS SEQ 0140
DH1 002067 81484
DISPLA 001442 8148+ B729+
DISPRE 000174 B14L8B#
DNA = 100000 81484
DNAINT= 000040 81484
pDSC = 100000 81484
DSINTE= 000040 81484 8710 8716 8724
DSR = 001000 B1484
DSWR = 177570 81484
DTR = 000002 81484 8717
DT 002116 81484
DT4 00;1%6 31680
DUADDR 017036 148 8729 B7484
DUBASE 017170 8148 8729+ B748 8749+ 8750 8751« 8752 8753 8754+ 8755 8756 8757« 8758
8759+ 8760 8761+ 8762 8763+« 8764 87664
DULEV 016762 8148 87354
DUPRT 017032 8148+ 8702 8735+ 8736+ 8737+ 8738+ 8739+ 8740 87444
DURIS 001740 81484 8702+« 8712 8713« 8721 8722+« B729+
DURIV 001736 81484 8701+ 8712+ B721+  B729+
DUTIS 001744 81484 8729+
pUTIV 001742 B1484 8729+
EIGHT = 006000 81484 8152 8153 8154 8155 8157 8158 8159 8160 8161 8162 8181 8220
8241 8273 8309 8366 8401 8435 8488 8611 2660
EMTVEC= 000030 81484+
1) 001762 81484
EM2 002022 81484
EM3 002043 81484
Mé& 001746 81484
ERRCNT 001114 81484
ERRVEC= 000004 81484+ 8729+
'EVEN8 017344 88024
EVEPAR= 001400 81488 8150 8152 8154 8157 8159 8161
'EVPAR = 000400 81484
FIVE = 000000 81484
FRMERR= 020000 B148¥
'GNS = weeees | 8729
HDXEN = 000010 81484 8632
HILIM 013704 87294+
HLDO 001130 81484 8729+
HLD1 001132 81484 8729+
HLD% 001134 81484 8729+
HLD 001136 81468 8729+
HLD& 001140 81484 8729+
HLDS 001142 81484 3729'
HLD6 001144 81484 729+
HOLD 001120 81484 8615 8617 8634
HPARCS 001724 8148¢ 8756+
HRXCSR 001714 8148¢ 8750+
HRXDBU 001720 8148¢ B755*
HT = 000011 81484 8729
HTXCSR 001730 81484 8760+
HTXDBU 001734 81488  B764+
INBUF 016172 8148 87294
INIFLG 001172 81484
INSTER= 104407 8148 87294
CINSTR = 104406 8148 87294
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)128 CNDUUA.M11  29-0CT-82 1 CROSS REFERENCE TABLE == USER SYMBOLS SEQ 0141
INSTR2 013510 7294
10TVEC= 000020 1484+
[SYWoD= 000000 1488 8150 BIs1 1S4 1SS
JMRBY 00115 1484+ B608 8694 :
KEEPAD 001156 81480 8709
KEEPIV 001164 81430+ 8729
LASTAD 001160 81484
LESST 017034 8740* 8741+ B742+ 87454
LF_ = 000012 81484 8729
LIGHTS 001102 81484 8729+
LIMITS 013636 87294
LKVEC = 000100 81484
LOBITS 013710 87294+
LOCK 001110 81484 8729
LOKFLG 001174 81484
LOLIM 013702 8729M+
MCNTG 01613 87294
MCOW 015363 87298
MCRLF 015463 87294
MDATA 016276 87294
'MEPASS 015532 87294
MEXT = 010000 8148¢ 8611
MEXT) 016077 8148  B729#
MINT = 004000 8148 8150 8151 8152 8153 8154 8155 8157 8158 8159 8160 8161 8162
8181 8220 8241 8273 8309 836 8401 8435 8488 8660
MLASTD 015317 8148 87294
MLOCK 015576 87294
MMNEW 016160 87294
MMSWR 016147 87294
MMULT 015270 8148 87294
MPFAIL 015466 87294
MOM 015457 87294
MR 015557 8148  B729#
'MRANGE 015413 8148  B729#
'MREGAD 015240 8148  B729M
'MRESET= 000400 81484 8150 8151 8152 8153 8154 8155 8157 8158 8159 8160 8161 8162
| 8181 8220 8241 8273 8309 8366 8401 8435 8488 8611 8660 8696
'MSYNC 015631 8148 87294
'MTDATA= 040000 8148¢ 8181 8220 8226 8230 8241 8248 8252 8435 8488 8771
MTITLE 015172 8148  B729#
'MTSTPC 015563 8148 87294
‘MULTD 001152 8146# 8729
MVECTO 015225 8148  B729#
MIIREL 016020 8148  B729#
MJIRES 015750 8148 87294
'MJIRES 015677 8148 87294
'NEXT 001106 81480
NOPAR = 000000 81484 8181 8220 8241 8273 8309 8366 8401 8435 8488 8611 8660
0DDPAR= 001000 8148# 8151 8153 8155 8158 8160 8162
0DD8 017260 87854
ODT1ST = 170000 81484
ONCE 002610 81484
OPTCLR 001151 81484 8697
uT 013050 87294
OUTCRY 012640 87294
OUTMUL 003166 81484
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OVRRUN= 040000 81488 B347
PARAM = 104410 8148 87294
PARAM1 01354 87294
PARCSR 00172 81484 8150+ 8151+ s1s§- 8153« B154+ 8155+ 8157+
8181+ 8220+ 8241+ 8273+ B309+ 8366+ 8401+ 8435+
PAREN = 001000 81434
PARER = 010000 81484
PARERR 013616 87294
PARTI 013700 87294
PASCNT 001112 81484+ 8729+
PFTAB 015164 87294
PIRQ = 177772 81484
PIRQVE= 000240 81484
POINT = 017436 88214
POPRO = 012600 81484
POP1SP= 005726 81484
POP2SP= 022626 81484
"PRO = 000000 81484
PR1 = 000040 81484
PR2 = 000100 81484
PR3 = 000140 81484
'PR& = 000200 81488  B745
PRS = 000240 81488 B744
'PR6 = 000300 81484
'PR7 = 000340 81484
'PS = 177776 81484
'PSW = 177776 81484
PUSHRO= 010046 81484
| PUSH1S= 005746 81484
 PUSH2S= 024646 81484
' PWRVEC= 000024 81480+
'RDSW 013056 87294+
| RECACT= 004000 81484 8187 8198 8206 8454  B503 8532 8539
| REPLAY 012544 87294
'RESTAR 015070 87294
|RESTRT 012724 87294
' RESVEC= 000010 81484
| RESOS = 104412 87294
/RETURN 001104 81480 8729
'RING = 040000 81484
| RINTEN= 000100 81454
'ROTADD 001170 81484 8729+
| RPOKE 017172 g}g? 8192 8203 8451 8462 8496 8517 8531
'RTS = 000004 81484
RUNA = sesees | 567§ 5862 6003 6416
"RUNB = weseee | 570 5871 6010 6425
'RUNC = seesee | 5728 5879 6017 6434
'RUND = wessee | 5753 5888 6024 6443 ,
' RUNE = 000000 5764 5778 5898 6031 6452
'RUNF = eeeeee | 5806 5908 6038 6461
RUNIT 012450 87294
RXCSR 001712 81480 8182« 8187 8198 8206 8311+ 8319 8344
8503 8506 8518 8532 8535 8538« 8539 8547+
B38. 8590 8612+ 8624  B637  Beble 8677 8699+
8724« 8729  B74B¢

8548

8546

8556

8555

000000
~Nwn S~
oW
— — B

8581

8578

o clo-]0 o)
— SN
oo~

8589

o +To <Je <]
e LAD
— O
OO

SEQ 0142

8162+

87714

[o Jo Lo ]
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— 00O
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RXDBUF 001716 1484 B225 823 8257 831 325 8348
61 $8  Bea1  Bear  Baas 8753
RXDONE= 000200 1484
RXERR = 100000 1480 8347
SAVIT 01441 7294
SAVPC 001126 81ar  8729s
SAVSP 001116 148#  8729s
SAVOS = 104411 87298
SCOP1 = 104405 87294
SEND = 000020 Blagr 8150 8151 8152 8153 g1s  g1ss
8273 8309 836 8368 8371 8401 8424
SEREC 001150 8148n
SETFLG= 104414 8148 87294
SEVEN = 004000 81484 8150 8151
SEXMIT 001147 81484
SHIFT 001122 81484 8150 8151+ 8152+ 8153+« 8154+ 8155
8184+ 8190+ 8201+ 8223+ 8239+ 8243+ 8263
Beose  Biole  8e22  Beg5  Buiow  Buedr  BuoL
8616+ 8618+ 8619 8622 8633+ 8635+ 8668
IX = 002000 81484
SPACNT= 014157 87294+
SRD = 002000 81484
STACK = 001100 81484 8729
STD = 000010 81488
STFLG_ 001173 81484+
STKLMT= 177774 81484
STPSYN= 000400 81484 8311 8437
SV05 0137290 8729#
SWR 001440 81484+ 8729
SWREG 000176 8148% 8729
SWREGL 013060 87298
SW0_ = 000001 81484
'SW00 = 000001 81484
'SW01 = 000002 81484
'SW02 = 000004 81484
sW03 = 000010 81454
sS04 = 000020 81480
SW0S = 000040 81484
W06 = 000100 81484
sW07 = 000200 81484
SW08 = 000400 81488
sW09 = 001000 81484 8729
sl = 000002 81480
'SW10 = 002000 81480
SW11 = 004000 81484
'sW12 = 010000 81480
sw13 = 020000 81480
SWik = 040000 81484
sWi5 = 100000 81484
sW2 = 000004 81484
sw3 = 000010 81484
Swe = 000020 81484
SWwS = 000040 81484
swé = 000100 81484
Sw7 = 000200 81484
S8 = 000400 81484

» % %=

8443

(o Yo 1o <Jo ]
O NN —
N = =\
-\
PR

8467

- % »

8493

8159

Q0 000000
O\ —
~ &N
[V AV, BNV, ]
- % 8

8521

8160

8563

8161

©o 0o 0o
VN —

o=
L

SEQ 0143
8594

8162



SEQ 0144
8181 8220 8273 8435

8162
8661

8612

8161

8547
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8182 8311 8437 8490
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$APTHD 002136 91680
SASTAT= seeeee | oog
$ATYC 000024 7008#
$ATY1 000000 7008#
$ATYS 000006 70084 8729
$ATYL 000016 7008 8729
$SAUTOB 001434 8148#
$BASE 00160 81484
$BDADR 0014 8148#
$BDDAT 001426 81484
$BELL 00151 B1488 8729
scowl 001606 8148#
scow2 001610 814Re
S$CHARC 013370 87294+
S$CKSWR= seeeee | 8729
SCLKVE 017436 8821#
$CMTAG 001400 8148»
$CM1 = 000006 B8148#
$CM2 = 000014 8148#
$CM3 = 000006 81484
$CMé = 000006 81484
$CPUOP 001554 81484
SCRLF 001523 81484 8729
$ODWO0 001612 8148#
$ODW1 001614 8148#
s$oDW10 001636 8148#
$0DW11 001640 81484
$0DW12 001642 8148#
$DDW13 001644 8148#
$0DW1& 001646 8148#
$O0DW15 001650 8148#
$oDW2 001616 81484
$0DW3 001620 8148#
$0DW4& 001622 8148#
$ODWS 001624 81484
$0DW6 001626 8148#
$oDwW? 001630 81484
$ODW8 001632 8148#
$ODW9 001634 81484
$DEVCT 001536 8148#
$DEVM 001604 8148#
= 002002 68364
SENDAD 012714 8148 87294
ENV 001546 7008 31680 8729
$ENVM 001547 7008 1488 8729
SERFLG 001403 81484 8729+
SERMAX 001415 81484 8729+
$ERROR 014230 8148 87294
SERRPC 001416 B14Bar B729¢
$ERRTB 001652 81488 8729
SERRTY 014450 87294
SERTTL 001412 B14Bar B729¢
$ESCAP 001514 B148Bar 8729+
SETABL 001546 81484
SETEND 001652 8148#
$FATAL 001530 7008+« 8148#
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$FFLG 000244 70083-

$FILLC 00145 148# 87%9
$FILLS 00145 1488 8729
$GDADR 001420 148#

$GDDAT 001424 1484

$SGTSWR= teeeer | 8729

$SHIBTS 002136 81484

$ICNT 001404 81488 8729+
SINTAG 001435 8148#

SITEMB 001414 81488 8729+
SLF 001524 B1484 8729
SLFLG 000243 70084+

SLPADR 001406 81484 8729+
SLPERR 001410 B148Bar 8729+
$MADR1 001560 81484

$MADRZ2 001564 81484

$MADRS 001570 81484

$MADRG 001574 81484

SMAIL 001526 81488 8729
$MAMST1 001556 81484

$MAMS?2 001562 8148#

$MAMSS 001566 8148#

$MAMSSL 001572 8148#

$MBADR 002140 8148#

SMFLG 000242 70084+

SMSGAD 001542 7008« 81484
$MSGLG 001544 7008« 81484
$MSGTY 001526 7008 81484
SMTYP1 001557 8148#

$SMTYP2 001563 8148#

SMTYP3S 001567 81484

$MTYPL 001573 8148#

SMXCNT 016672 87294

$N = 000000 68354 87294
SNULL 001454 81484 8729
' SNWTST= 000000 B150# 81514 81524 B1534 B154# 81554 81574 B158¢ 81594 B160# 81614 81624 8178#

B2194  B2714  B307# B364m 83994  B4L34x  BLBO6N  B6O7H 86594  B693M

$OCNT 015026 87294«

$OMODE 015030 87294+
'SOVER 016652 8729

$PASS 001534 81484 8729+
$PASTM 002144 81454

$PWRDN 015032 8148 87294
$QUES 001522 B1484 B729
SRDCHR= eeener | 8729

SRODEC= weeeee | 8729

SROL IN= eeenee | 8729

SRDO(CT= eeveee | 8729

SREGAD 001460 81484

$REGO 001462 81488 8729+
$REG1 001464 81484 8729+
SREG2 001466 81484 8729+
$SREG3S 001470 81484 3729'
$REGSL 001472 81484 729+
SREGS 001474 81488 8729+
SR2A = teesne | 8729
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0(1046)
(1-82 13:2

23%

$SAVRE= srenee |
$SCOPE 016340

CNDUU=A MACY11
CNDUUA . M1

17

7
00;136
001502
001504
001506
001510

= 000030

$999
$SWR = 177400

SSVLAD 016616

$SVPC
$TMP2
$TMP3
STMPL
$TMPS
st

013112
STYPEC 013324
STYPEX 013372
$TYPOC 014630

01
STYPON 014644

$1PB
$TRAP2 01

$TPS

$TRAP
$TSTNM 001402

STYPBN= tetene |
STYPDS= teenee |J

$TISTM
$TYPE

001540
SUNITM 002146
001552
001576

SVECT2 001600
SXTSTR 016422
$OFILL 015027

T

L
A
.BEGIN 003310

SUNIT
SUSWR
SVECT]

$40C

$TYPOS 014604



F 12
CNDUU=A MACY11_30(1046) 14=DEC-B2 10:02 PAGE 63=1
e o 3 o B i W B

CROSS REFERENCE TABLE == USER SYMBOLS S e

LINSTR 013374 87294

LJINSTYT 013414 87294

MSG 013416 B729#+

.PARAM 01 515 8729#

LPEAIL 01503 8148 3729
.RESO 01275% 87294

.SAV05 013N 37%9,

.SCOPE 016340 87294

.SCOPT 013070 grsq;

LSETFL 014162 72094

.START 002152 81484 8729
SASTA=z wesses 7008

X = 002136 8148#
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COMMEN 12660 81430

ENDCOM 1578+ 148#

ERROR 8148¢ 8150 3151 815; 5153 8154 8155 8157 8158 8159 8160 8161 3162 8189 gZOO
8208 8237 260 8%7 gag 8%%7 83%1 8328 8346 8351 8385 8419 456 8459 465
8470 05 8508 8 gO 8 i 8534 8537 8541 8550 8553 8558 8561 8566 8583 8586
8593 8597 8620 8631 8639 8644 8679 8683 8709 8725

ESCAPE  1698¢ 81484

GETPRI 13124  B148#

GETSWR 17714  B148#

MULT LLBLN  B14BH

NEWTST 1626# B8148¢ 8150 8151 8152 8153 8154 8155 8157 8158 8159 8160 8161 8162 8178
8219 ¥871 8307 8364 8359 8434 8486 8607 8659 8693

POP 2153# 28 B148#

PRGEND 81144 8729

PRGFRT  7248# 8148

PUSH ;1650 7008 81484

PUSSYF 9854 8615 8617 8634

REPORT 54634 64944  B148B#

RSETUP 74434  B181 8220 8241 8435 8488

SC 6808¢ 8729

SCOPE 8148¢ 8150 8151 8152 8153 8154 8155 8157 8158 8159 8160 8161 8162 8178 8219
8271 8307 8364 8399 8434 8486 8607 8659 8693 8729

sC1 68268 8729

SETPRI 12794 81484

SETTRA 64938 87294

SETUP 13374  B14B#

SKIP 17338  B14B#

SLASH 15178  B14B#

SPACE 8148#

STARS 1485¢ 7008 8148 8150 8151 8152 8153 8154 8155 8157 8158 8159 8160 8161 8162
8178 8219 8271 8307 8364 8399 8434 8486 8607 8659 8693 8729

SWRSU 14530  B14B#

TRMTRP 87294

TSETUP 74554 8150 8151 8152 8153 8154 8155 8157 8158 8159 8160 8161 8162 8273 8309
8366 8401 8611 8660

TYPBIN 20884  B148#

TYPDEC 20584  B148#

TYPNAM 18264  B148#

TYPNUM 20254 81484

TYPOCS 19784 B148#

TYPOCT 19414  B14B¥  B7¢9

TYPTXT 18944  B14B#

$BEGIN 67174 8148

SBINAR 79324
SBUFFE 7122# 8729
SCABLE  8000#
SCATCH 65864 8148
$CK 69624 8729
SCLRVE 67324 8148
SCONVR 71334 8729
SONA 78334
$EOP 6880# 8729

SGETFL 67624 8148
SGETPA 67524 8148
SGETSY 67684 B148
SHEADE  6497# 8148
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SINSTR 70094 8729
$1508 77614
SMATCH  7570#
SMRR 76304
$SMRRW 73784
$SMRW 76413#

$MSG 70964 8729

$NEED 8102 8729

$SPARAM 70394 8729

2552%‘ 3%%%2 3{%8 8151 815 8153 8154 815¢ 8157 8158 8159 8160 81 8162 8279

< 6 6 8284

8?1& 8316 £339 837% 8380 8407 8414 8666 8670

$POKER 7558 8183 £195 8196 8221 8222 8242 8442 8491

$RCNET  BO12#

SRECAC  7492#

33225: ;§§Z: g;gg 3151 8152 8153 8154 8155 8157 8158 8159 8160 8161 8162 8181 8220
8241 8273 8309 8366 8401 8435 8488 8611 8660 8696

SRXACT 74684

$SCOPE 6831» 8729

$SCOP1 6997 8729

$SETFL 6788 8729

$SETVE 659748 B148

$START 66754 8148

$STRIP  7802#

$SYMBO 6513# 8148

$SYNCR 75644 B182 8490

$TRPAR 78844 B150 8151 8152 8153 8154 8155 8157 8158 8159 8160 8161 8162

$ISTNO 6838# 8150 8151 8152 8153 8154 8155 8157 8158 8159 8160 8161 8162 8178 8219
8271 8307 8364 8399 8434 8486 8607 8659 8693

SUNIBU  7357#

SVARIA 66134 B148

SWORDF 77004

$WORDO 76504

SWORDP  7728#

$SCMRE 81484

SSCMTM  B148#

$SESCA 1711» 8148#

SSNEWT 1662¢ B148# B150 8151 8152 8153 8154 8155 8157 8158 8159 8160 8161 8162 8178
8219 8271 8307 8364 8399 8434 8486 8607 8659 8693

$SSET 8729

$SSETM  B8148#

$$SKIP 17464 8148#

+EQUAT 189# 6493# 8148

+HEADE 6148 64924

LINIT 5658¢ 8148¢ 8821

.SETUP 12138 6492y  B148

.SWRHI 104#

LSACTT  S064n 6494 8148

LSAPTB 51094 64944  B14B#

LSAPTH 53700 64948 B148B

LSAPTY 55478 64948 7008

.SASTA 54178

LSCATC 9328  6492#
LBCMTA 10478 64924 B14B
.SDB2D  46B6#
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CNDUU=-A MACY11_30(1046)
CNDUUA .M 29-0CT-82

.SDB20  4B12#

SD1V LSB7#
.SEOP ;1&3
.StRRO 00w
LSERRT 896#
LSMULY ASS ”
. SPOVWE Lg o
LSRAND 43074
.SRODE 2891:
LSRDOC 797
LSREAD 33954

SR2AZ 49584
.SSAVE 39694
.$5B2D 47714
.$5B20  4B74n
JSSCOP 2454w
CSSIZE 43614
SSUPR 49134
LSTRAP  4LO73#
.S1YPB 32874
.STYPD 32094
STYPE 29854
LSTYPO 31124
.$40CA 9724

. ABS. 017510

ERRORS DETECTED:

64924
64954
64934

64934

64934

64938

64924
6493n

000

0

130275

8729
8729

8729
8729

8729
8729

=82 10:02 PAGE 64=2 uing
CROSS REFERENCE TABLE == MACRO NAMES

CNDUUA , CNDUUA/CRF /NL : TOC=CNMACZ2. SML ,CNDUUT.M11,CNDUU2.M11,CNDUUA . M1
RUN=TIME: 17 18 1 SECONDS
RUN-TIME RATIO: 80/37=2.1
(86 PAGES)

CORE USED: &3k

SEQ 0151



